BDV002A – Detail Revenues and Expenditures – Requested Budget (Agency/SCR)

Detail Revenues & Expenditures - Requested Budget Version: V - 01 - Agency Re 2013-15 Biennium Cross Reference Number: 19800-00 Judicial Dept Cross Reference Number: 19800-00					
Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agenc Request Budget
BEGINNING BALANCE			1		.L
0025 Beginning Balance					
3400 Other Funds Ltd	6,719,737	-	6,719,737	-	6,719,73
6400 Federal Funds Ltd	385,006	-	385,006	-	385,00
All Funds	7,104,743	-	7,104,743	-	7,104,74
0030 Beginning Balance Adjustment					
3400 Other Funds Ltd	(1,770,048)	-	(1,770,048)	-	(1,770,048
6400 Federal Funds Ltd	(385,006)	-	(385,006)	-	(385,00
All Funds	(2,155,054)	-	(2,155,054)	-	(2,155,054
OTAL BEGINNING BALANCE					
3400 Other Funds Ltd	4,949,689	-	4,949,689	-	4,949,68
6400 Federal Funds Ltd	-	-	-	-	
OTAL BEGINNING BALANCE	\$4,949,689	-	\$4,949,689	-	\$4,949,68
REVENUE CATEGORIES					
GENERAL FUND APPROPRIATION					
0050 General Fund Appropriation					
8000 General Fund	389,047,633	3,908,828	392,956,461	30,215,369	423,171,83
8030 General Fund Debt Svc	18,133,375	-	18,133,375	5,197,274	23,330,64
All Funds	407,181,008	3,908,828	411,089,836	35,412,643	446,502,47
LICENSES AND FEES					
0205 Business Lic and Fees					
3400 Other Funds Ltd	80,000	-	80,000	-	80,00
0227 State Court Fees					
15/12	Page 1 of 62		BDV002A - Detail Reve	nues & Expenditure	es - Requested Bud

Revenues & Expenditures - Requested Budget 5 Biennium al Dept			Version: Cross Reference	-	y Request Budg 0-000-00-00-000
Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agenc Request Budget
3400 Other Funds Ltd	5,567,072	-	5,567,072	-	5,567,07
8800 General Fund Revenue	118,240,505	-	118,240,505	-	118,240,50
All Funds	123,807,577	-	123,807,577	-	123,807,57
TOTAL LICENSES AND FEES					
3400 Other Funds Ltd	5,647,072	-	5,647,072	-	5,647,07
8800 General Fund Revenue	118,240,505	-	118,240,505	-	118,240,50
TOTAL LICENSES AND FEES	\$123,887,577		\$123,887,577	-	\$123,887,57
CHARGES FOR SERVICES					
0410 Charges for Services					
3400 Other Funds Ltd	3,617,022	-	3,617,022	-	3,617,02
FINES, RENTS AND ROYALTIES					
0505 Fines and Forfeitures					
3400 Other Funds Ltd	122,982,566	-	122,982,566	-	122,982,56
BOND SALES					
0555 General Fund Obligation Bonds					
3020 Other Funds Cap Construction	-	-	-	27,413,293	27,413,29
3400 Other Funds Ltd	326,592	(326,592)	-	24,855,001	24,855,00
All Funds	326,592	(326,592)	-	52,268,294	52,268,29
SALES INCOME					
0705 Sales Income					
3400 Other Funds Ltd	650,000	-	650,000	-	650,00
DONATIONS AND CONTRIBUTIONS					
0905 Donations					

etail Revenues & Expenditures - Requested Budget Version: V - 01 - Agency Request Bud 113-15 Biennium Cross Reference Number: 19800-000-00-00-00 Idicial Dept					
Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget
3400 Other Funds Ltd	500,610	-	500,610	-	500,610
0910 Grants (Non-Fed)					
3400 Other Funds Ltd	335,837	-	335,837	911,709	1,247,54
TOTAL DONATIONS AND CONTRIBUTIONS					
3400 Other Funds Ltd	836,447	-	836,447	911,709	1,748,15
FEDERAL FUNDS REVENUE					
0995 Federal Funds					
6400 Federal Funds Ltd	1,490,080	-	1,490,080	-	1,490,08
TRANSFERS IN					
1010 Transfer In - Intrafund					
3400 Other Funds Ltd	11,900,000	-	11,900,000	-	11,900,00
1100 Tsfr From Human Svcs, Dept of					
3400 Other Funds Ltd	1,440,643	-	1,440,643	-	1,440,64
1107 Tsfr From Administrative Svcs					
3400 Other Funds Ltd	2,392,804	-	2,392,804	-	2,392,80
1150 Tsfr From Revenue, Dept of					
3400 Other Funds Ltd	13,124,285	-	13,124,285	-	13,124,28
1404 Tsfr From Public Def Svcs Comm					
3400 Other Funds Ltd	2,722,500	-	2,722,500	-	2,722,50
TOTAL TRANSFERS IN					
3400 Other Funds Ltd	31,580,232	-	31,580,232	-	31,580,23
OTAL REVENUES					
8000 General Fund	389,047,633	3,908,828	392,956,461	30,215,369	423,171,83
12 M	Page 3 of 62		BDV002A - Detail Reve	enues & Expenditure	es - Requested Budg BDV00

Detail Revenues & Expenditures - Requested Budget Version: V - 01 - Agency Request Budget .013-15 Biennium Cross Reference Number: 19800-000-00-00000 udicial Dept Cross Reference Number: 19800-000-00-00000					
Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agenc Request Budget
8030 General Fund Debt Svc	18,133,375	-	18,133,375	5,197,274	23,330,64
3020 Other Funds Cap Construction	-	-	-	27,413,293	27,413,29
3400 Other Funds Ltd	165,639,931	(326,592)	165,313,339	25,766,710	191,080,04
8800 General Fund Revenue	118,240,505	-	118,240,505	-	118,240,50
6400 Federal Funds Ltd	1,490,080	-	1,490,080	-	1,490,08
TOTAL REVENUES	\$692,551,524	\$3,582,236	\$696,133,760	\$88,592,646	\$784,726,40
RANSFERS OUT					
2010 Transfer Out - Intrafund					
3400 Other Funds Ltd	(11,900,000)	-	(11,900,000)	-	(11,900,000
2060 Transfer to General Fund					
8800 General Fund Revenue	(118,240,505)	-	(118,240,505)	-	(118,240,505
2070 Transfer to Cities					
3400 Other Funds Ltd	(24,232,678)	-	(24,232,678)	-	(24,232,67
2080 Transfer to Counties					
3400 Other Funds Ltd	(7,618,649)	-	(7,618,649)	-	(7,618,64
2107 Tsfr To Administrative Svcs					
3020 Other Funds Cap Construction	-	-	-	(601,082)	(601,08
2150 Tsfr To Revenue, Dept of					
3400 Other Funds Ltd	(91,422,437)	-	(91,422,437)	-	(91,422,437
2404 Tsfr To Public Def Svcs Comm					
3400 Other Funds Ltd	(4,433,018)	-	(4,433,018)	-	(4,433,018
TOTAL TRANSFERS OUT					
3020 Other Funds Cap Construction	-	-	-	(601,082)	(601,082
15/12	Page 4 of 62		BDV002A - Detail Reve	nues & Expenditure	es - Requested Bud

letail Revenues & Expenditures - Requested Budget Version: V - 01 - Agency Request Budget 013-15 Biennium Cross Reference Number: 19800-000-00-00000 udicial Dept					
Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget
3400 Other Funds Ltd	(139,606,782)	-	(139,606,782)	-	(139,606,782)
8800 General Fund Revenue	(118,240,505)	-	(118,240,505)	-	(118,240,505)
TOTAL TRANSFERS OUT	(\$257,847,287)	-	(\$257,847,287)	(\$601,082)	(\$258,448,369)
AVAILABLE REVENUES					
8000 General Fund	389,047,633	3,908,828	392,956,461	30,215,369	423,171,830
8030 General Fund Debt Svc	18,133,375	-	18,133,375	5,197,274	23,330,649
3020 Other Funds Cap Construction	-	-	-	26,812,211	26,812,211
3400 Other Funds Ltd	30,982,838	(326,592)	30,656,246	25,766,710	56,422,956
6400 Federal Funds Ltd	1,490,080	-	1,490,080	-	1,490,080
TOTAL AVAILABLE REVENUES	\$439,653,926	\$3,582,236	\$443,236,162	\$87,991,564	\$531,227,726
EXPENDITURES					
PERSONAL SERVICES					
SALARIES & WAGES					
3110 Class/Unclass Sal. and Per Diem					
8000 General Fund	194,236,849	509,040	194,745,889	8,561,565	203,307,454
3400 Other Funds Ltd	6,969,420	(509,040)	6,460,380	5,858,565	12,318,945
6400 Federal Funds Ltd	207,600	-	207,600	-	207,600
All Funds	201,413,869	-	201,413,869	14,420,130	215,833,999
3160 Temporary Appointments					
8000 General Fund	931,654	22,360	954,014	-	954,014
3400 Other Funds Ltd	241,607	5,799	247,406	-	247,406
6400 Federal Funds Ltd	1,042	25	1,067	-	1,067
All Funds	1,174,303	28,184	1,202,487	-	1,202,487
/15/12 52 AM	Page 5 of 62		BDV002A - Detail Rev	enues & Expenditure	s - Requested Budge BDV002

il Revenues & Expenditures - Requested Budget -15 Biennium cial Dept		Version: V - 01 - Agency Request Bud Cross Reference Number: 19800-000-00-00			
Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agend Request Budget
3190 All Other Differential			II		1
8000 General Fund	1,217,918	29,230	1,247,148	-	1,247,14
3400 Other Funds Ltd	174,641	4,191	178,832	-	178,83
All Funds	1,392,559	33,421	1,425,980	-	1,425,98
TOTAL SALARIES & WAGES					
8000 General Fund	196,386,421	560,630	196,947,051	8,561,565	205,508,6
3400 Other Funds Ltd	7,385,668	(499,050)	6,886,618	5,858,565	12,745,18
6400 Federal Funds Ltd	208,642	25	208,667	-	208,6
TOTAL SALARIES & WAGES	\$203,980,731	\$61,605	\$204,042,336	\$14,420,130	\$218,462,4
OTHER PAYROLL EXPENSES					
3210 Empl. Rel. Bd. Assessments					
8000 General Fund	59,654	160	59,814	4,297	64,1
3400 Other Funds Ltd	2,546	(160)	2,386	1,838	4,2
6400 Federal Funds Ltd	80	-	80	-	
All Funds	62,280	-	62,280	6,135	68,4
3220 Public Employees' Retire Cont					
8000 General Fund	42,803,007	106,200	42,909,207	1,751,219	44,660,42
3400 Other Funds Ltd	1,409,526	(99,606)	1,309,920	1,155,898	2,465,8
6400 Federal Funds Ltd	40,960	-	40,960	-	40,90
All Funds	44,253,493	6,594	44,260,087	2,907,117	47,167,20
3221 Pension Obligation Bond					
8000 General Fund	7,049,899	2,338,743	9,388,642	-	9,388,64
3400 Other Funds Ltd	1,042,130	(639,779)	402,351	-	402,3
12	Page 6 of 62		BDV002A - Detail Reve	nues & Expenditure	es - Requested Bud

Judicial Dept

Detail Revenues & Expenditures - Requested Budget 2013-15 Biennium Judicial Dept Agency Number: 19800

	Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget
6	6400 Federal Funds Ltd	12,120	704	12,824	-	12,824
A	All Funds	8,104,149	1,699,668	9,803,817	-	9,803,817
3230 S	Social Security Taxes					
8	3000 General Fund	14,978,152	42,891	15,021,043	653,358	15,674,401
3	400 Other Funds Ltd	565,009	(38,178)	526,831	448,182	975,013
6	400 Federal Funds Ltd	15,962	2	15,964	-	15,964
A	All Funds	15,559,123	4,715	15,563,838	1,101,540	16,665,378
3240 U	Jnemployment Assessments					
8	000 General Fund	694,596	16,670	711,266	-	711,266
3250 V	Vorker's Comp. Assess. (WCD)					
8	000 General Fund	99,254	236	99,490	6,430	105,920
3	400 Other Funds Ltd	3,757	(236)	3,521	2,710	6,231
6	400 Federal Funds Ltd	118	-	118	-	118
A	All Funds	103,129	-	103,129	9,140	112,269
3260 N	Aass Transit Tax					
8	3000 General Fund	518,419	366,770	885,189	36,372	921,561
3	400 Other Funds Ltd	94,244	(56,769)	37,475	-	37,475
A	All Funds	612,663	310,001	922,664	36,372	959,036
3270 F	lexible Benefits					
8	000 General Fund	56,503,934	135,120	56,639,054	3,456,876	60,095,930
3	400 Other Funds Ltd	2,087,122	(135,120)	1,952,002	1,546,773	3,498,775
6	400 Federal Funds Ltd	65,856	-	65,856	-	65,856
A	All Funds	58,656,912	-	58,656,912	5,003,649	63,660,561
12 M		Page 7 of 62		BDV002A - Detail Rev	enues & Expenditure	s - Requested Budge BDV0024

Judicial Dept

Agency Number: 19800

Detail Revenues & Expenditures - Requested Budget
2013-15 Biennium
Judicial Dept

Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget
3280 Other OPE			1		1
8000 General Fund	-	-	-	12,689,087	12,689,087
3400 Other Funds Ltd	-	-	-	671,046	671,046
All Funds	-	-	-	13,360,133	13,360,133
TOTAL OTHER PAYROLL EXPENSES					
8000 General Fund	122,706,915	3,006,790	125,713,705	18,597,639	144,311,344
3400 Other Funds Ltd	5,204,334	(969,848)	4,234,486	3,826,447	8,060,933
6400 Federal Funds Ltd	135,096	706	135,802	-	135,802
TOTAL OTHER PAYROLL EXPENSES	\$128,046,345	\$2,037,648	\$130,083,993	\$22,424,086	\$152,508,07
P.S. BUDGET ADJUSTMENTS					
3455 Vacancy Savings					
8000 General Fund	(17,011)	-	(17,011)	-	(17,011
TOTAL PERSONAL SERVICES					
8000 General Fund	319,076,325	3,567,420	322,643,745	27,159,204	349,802,949
3400 Other Funds Ltd	12,590,002	(1,468,898)	11,121,104	9,685,012	20,806,110
6400 Federal Funds Ltd	343,738	731	344,469	-	344,469
TOTAL PERSONAL SERVICES	\$332,010,065	\$2,099,253	\$334,109,318	\$36,844,216	\$370,953,534
SERVICES & SUPPLIES					
4100 Instate Travel					
8000 General Fund	538,134	12,917	551,051	16,500	567,55
3400 Other Funds Ltd	46,728	1,122	47,850	549,656	597,50
6400 Federal Funds Ltd	41,016	984	42,000	-	42,000
All Funds	625,878	15,023	640,901	566,156	1,207,05
15/12 2 AM	Page 8 of 62		BDV002A - Detail Reve	enues & Expenditure	es - Requested Budg BDV002

Agency Number: 19800

Detail Revenues & Expenditures - Requested Budget
2013-15 Biennium
Judicial Dept

Judicial Dept

Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agenc Request Budget
4125 Out of State Travel			11		
8000 General Fund	36,400	874	37,274	-	37,27
3400 Other Funds Ltd	729	17	746	-	74
6400 Federal Funds Ltd	33	1	34	-	3
All Funds	37,162	892	38,054	-	38,05
4150 Employee Training					
8000 General Fund	507,640	12,184	519,824	119,550	639,37
3400 Other Funds Ltd	107,077	2,570	109,647	24,000	133,64
6400 Federal Funds Ltd	52,794	1,267	54,061	-	54,06
All Funds	667,511	16,021	683,532	143,550	827,08
4175 Office Expenses					
8000 General Fund	7,519,814	180,475	7,700,289	125,550	7,825,83
3400 Other Funds Ltd	801,001	19,224	820,225	125,664	945,88
6400 Federal Funds Ltd	18,171	436	18,607	-	18,60
All Funds	8,338,986	200,135	8,539,121	251,214	8,790,33
4200 Telecommunications					
8000 General Fund	3,266,707	78,402	3,345,109	125,233	3,470,34
3400 Other Funds Ltd	32,674	784	33,458	16,800	50,25
6400 Federal Funds Ltd	3,993	96	4,089	-	4,08
All Funds	3,303,374	79,282	3,382,656	142,033	3,524,68
4225 State Gov. Service Charges					
8000 General Fund	7,036,055	(1,309,581)	5,726,474	-	5,726,47
4250 Data Processing					
2	Page 9 of 62		BDV002A - Detail Reve	enues & Expenditure	es - Requested Bud BDV0

Judicial Dept

Agency Number: 19800

Detail Revenues & Expenditures - Requested Budget
2013-15 Biennium
Judicial Dept

Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget
8000 General Fund	1,817,034	43,608	1,860,642	-	1,860,642
3400 Other Funds Ltd	19,537	469	20,006	-	20,006
6400 Federal Funds Ltd	602	14	616	-	616
All Funds	1,837,173	44,091	1,881,264	-	1,881,264
4275 Publicity and Publications					
3400 Other Funds Ltd	29,215	701	29,916	-	29,916
4300 Professional Services					
8000 General Fund	4,960,936	138,906	5,099,842	1,632,092	6,731,934
3400 Other Funds Ltd	52,993	1,484	54,477	847,487	901,964
6400 Federal Funds Ltd	210,242	5,887	216,129	-	216,129
All Funds	5,224,171	146,277	5,370,448	2,479,579	7,850,027
4315 IT Professional Services					
8000 General Fund	1,671,921	50,203	1,722,124	30,840	1,752,964
3400 Other Funds Ltd	3,343,704	(860,177)	2,483,527	9,231,143	11,714,670
6400 Federal Funds Ltd	<mark>1</mark> 94,161	5,437	199,598	-	199,598
All Funds	5,209,786	(804,537)	4,405,249	9,261,983	13,667,232
4325 Attorney General					
8000 General Fund	166,137	24,754	190,891	-	190,891
4375 Employee Recruitment and Develop					
8000 General Fund	123,814	2,971	126,785	10,240	137,025
3400 Other Funds Ltd	1,766	42	1,808	-	1,808
6400 Federal Funds Ltd	419	10	429	-	429
All Funds	125,999	3,023	129,022	10,240	139,262
! 	Page 10 of 62		BDV002A - Detail Reve	enues & Expenditure	es - Requested Budg BDV002

Detail Revenues & Expenditures - Requested Budget 2013-15 Biennium Judicial Dept

Judicial Dept

Agency Number: 19800

Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget
4400 Dues and Subscriptions			11		1
8000 General Fund	1,325,966	31,823	1,357,789	7,500	1,365,289
3400 Other Funds Ltd	7,868	189	8,057	-	8,057
6400 Federal Funds Ltd	1,912	46	1,958	-	1,958
All Funds	1,335,746	32,058	1,367,804	7,500	1,375,304
4425 Facilities Rental and Taxes					
8000 General Fund	3,326,982	169,703	3,496,685	224,963	3,721,648
3400 Other Funds Ltd	-	-	-	789,652	789,652
All Funds	3,326,982	169,703	3,496,685	1,014,615	4,511,300
4450 Fuels and Utilities					
8000 General Fund	245,172	5,884	251,056	-	251,050
3400 Other Funds Ltd	167	4	171	-	17
6400 Federal Funds Ltd	49	1	50	-	50
All Funds	245,388	5,889	251,277	-	251,27
4475 Facilities Maintenance					
8000 General Fund	185,937	4,463	190,400	-	190,40
3400 Other Funds Ltd	472	11	483	-	483
6400 Federal Funds Ltd	140	3	143	-	143
All Funds	186,549	4,477	191,026	-	191,020
4575 Agency Program Related S and S					
8000 General Fund	6,690,002	160,560	6,850,562	-	6,850,562
3400 Other Funds Ltd	476,041	11,425	487,466	-	487,466
6400 Federal Funds Ltd	308	7	315	-	315
2 M	Page 11 of 62		BDV002A - Detail Reve	enues & Expenditure	es - Requested Budg BDV002

Judicial Dept

Agency Number: 19800

Detail Revenues & Expenditures - Requested Budget
2013-15 Biennium
Judicial Dept

Version: V - 01 - Agency Request Budget Cross Reference Number: 19800-000-00-00-00000

Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agenc Request Budget
All Funds	7,166,351	171,992	7,338,343	-	7,338,343
4625 Other COP Costs					
3400 Other Funds Ltd	326,592	(326,592)	-	530,319	530,319
4650 Other Services and Supplies					
8000 General Fund	11,991,568	287,797	12,279,365	27,683	12,307,048
3400 Other Funds Ltd	23,392,324	(23,391,346)	978	-	978
6400 Federal Funds Ltd	588	14	602	-	602
All Funds	35,384,480	(23,103,535)	12,280,945	27,683	12,308,628
4700 Expendable Prop 250 - 5000					
8000 General Fund	1,234,523	29,628	1,264,151	64,014	1,328,165
3400 Other Funds Ltd	272,351	6,536	278,887	-	278,887
6400 Federal Funds Ltd	5,687	136	5,823	-	5,823
All Funds	1,512,561	36,300	1,548,861	64,014	1,612,875
4715 IT Expendable Property					
8000 General Fund	475,154	11,404	486,558	672,000	1,158,558
3400 Other Funds Ltd	433,655	10,408	444,063	1,617,583	2,061,646
6400 Federal Funds Ltd	3,380	81	3,461	-	3,461
All Funds	912,189	21,893	934,082	2,289,583	3,223,665
TOTAL SERVICES & SUPPLIES					
8000 General Fund	53,119,896	(63,025)	53,056,871	3,056,165	56,113,036
3400 Other Funds Ltd	29,344,894	(24,523,129)	4,821,765	13,732,304	18,554,069
6400 Federal Funds Ltd	533,495	14,420	547,915	-	547,915
TOTAL SERVICES & SUPPLIES	\$82,998,285	(\$24,571,734)	\$58,426,551	\$16,788,469	\$75,215,020

BDV002A

il Revenues & Expenditures - Requested Budget -15 Biennium sial Dept			Version: V - 01 - Agency Request Bud Cross Reference Number: 19800-000-00-00			
Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agen Request Budget	
APITAL OUTLAY			I I			
5100 Office Furniture and Fixtures						
8000 General Fund	85,335	2,048	87,383	-	87,3	
3400 Other Funds Ltd	8,854	212	9,066	-	9,0	
All Funds	94,189	2,260	96,449	-	96,4	
5200 Technical Equipment						
3020 Other Funds Cap Construction	-	-	-	489,347	489,3	
5550 Data Processing Software						
3400 Other Funds Ltd	2,608,598	(2,599,794)	8,804	3,136,881	3,145,6	
5600 Data Processing Hardware						
8000 General Fund	2,213,977	53,135	2,267,112	-	2,267,1	
3400 Other Funds Ltd	915,232	(387,634)	527,598	-	527,5	
All Funds	3,129,209	(334,499)	2,794,710	-	2,794,7	
5650 Land and Improvements						
3020 Other Funds Cap Construction	-	-	-	206,259	206,2	
5700 Building Structures						
3020 Other Funds Cap Construction	-	-	-	12,887,528	12,887,5	
5750 Equipment - Part of Building						
3020 Other Funds Cap Construction	-	-	-	6,909,640	6,909,6	
5800 Professional Services						
3020 Other Funds Cap Construction	-	-	-	2,724,217	2,724,2	
3400 Other Funds Ltd	-	-	-	3,545,858	3,545,8	
All Funds	-	-	-	6,270,075	6,270,0	
2 VI	Page 13 of 62		BDV002A - Detail Reve	enues & Expenditure	es - Requested Bu BDV	

Agency Number: 19800

Version: V - 01 - Agency Request Budget Detail Revenues & Expenditures - Requested Budget 2013-15 Biennium Cross Reference Number: 19800-000-00-00-00000 Judicial Dept 2013-15 Base Essential 2013-15 Policy 2013-15 Agency Description Budget Packages **Current Service** Packages Request Budget Level 5850 Contingencies 3020 Other Funds Cap Construction 2,409,429 2,409,429 5900 Other Capital Outlay 3010 Other Funds Cap Improvement 97,460 (97,460) 1,185,791 3020 Other Funds Cap Construction 1,185,791 97,460 All Funds (97,460) 1,185,791 1,185,791 TOTAL CAPITAL OUTLAY 2,299,312 55,183 2,354,495 8000 General Fund 2,354,495 97,460 3010 Other Funds Cap Improvement (97,460) 3020 Other Funds Cap Construction 26,812,211 26,812,211 -3,532,684 3400 Other Funds Ltd (2,987,216)545,468 6,682,739 7,228,207 TOTAL CAPITAL OUTLAY \$5,929,456 (\$3,029,493) \$2.899.963 \$33,494,950 \$36,394,913 SPECIAL PAYMENTS 6020 Dist to Counties 8000 General Fund 14,282,000 342,768 14,624,768 14,624,768 3400 Other Funds Ltd 4,701,909 1,717,764 6,419,673 6,419,673 18,983,909 All Funds 2.060.532 21.044.441 21,044,441 6025 Dist to Other Gov Unit 3400 Other Funds Ltd 77,860 (77, 860)6030 Dist to Non-Gov Units 6,482 8000 General Fund 270,100 276,582 276,582 TOTAL SPECIAL PAYMENTS 14,552,100 349,250 14,901,350 8000 General Fund 14,901,350 11/15/12 Page 14 of 62 BDV002A - Detail Revenues & Expenditures - Requested Budget 8:52 AM BDV002A

Judicial Dept

Judicial Dept

Agency Number: 19800

Detail Revenues & Expenditures - Requested Budget
2013-15 Biennium
Judicial Dept

Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget
3400 Other Funds Ltd	4,779,769	1,639,904	6,419,673	-	6,419,673
TOTAL SPECIAL PAYMENTS	\$19,331,869	\$1,989,154	\$21,321,023	-	\$21,321,023
DEBT SERVICE					
7100 Principal - Bonds					
8030 General Fund Debt Svc	9,125,000	-	9,125,000	4,195,000	13,320,000
7150 Interest - Bonds					
8030 General Fund Debt Svc	1,517,250	-	1,517,250	1,002,274	2,519,524
7200 Principal - COP					
8030 General Fund Debt Svc	7,065,000	-	7,065,000	-	7,065,000
7250 Interest - COP					
8030 General Fund Debt Svc	426,125	-	426,125	-	426,125
TOTAL DEBT SERVICE					
8030 General Fund Debt Svc	18,133,375	-	18,133,375	5,197,274	23,330,649
OTAL EXPENDITURES					
8000 General Fund	389,047,633	3,908,828	392,956,461	30,215,369	423,171,830
8030 General Fund Debt Svc	18,133,375	-	18,133,375	5,197,274	23,330,649
3010 Other Funds Cap Improvement	97,460	(97,460)	-	-	-
3020 Other Funds Cap Construction	-	-	-	26,812,211	26,812,211
3400 Other Funds Ltd	50,247,349	(27,339,339)	22,908,010	30,100,055	53,008,065
6400 Federal Funds Ltd	877,233	15,151	892,384	-	892,384
OTAL EXPENDITURES	\$458,403,050	(\$23,512,820)	\$434,890,230	\$92,324,909	\$527,215,139
INDING BALANCE					
3010 Other Funds Cap Improvement	(97,460)	97,460	-	-	
(15/12 52 AM	Page 15 of 62		BDV002A - Detail Reve	nues & Expenditure	es - Requested Budge BDV002

Judicial Dept			lumber: 19800		
Detail Revenues & Expenditures - Requested Budget 2013-15 Biennium Judicial Dept					/ Request Budget 0-000-00-00-00000
Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget
3400 Other Funds Ltd	(19,264,511)	27,012,747	7,748,236	(4,333,345)	3,414,891
6400 Federal Funds Ltd	612,847	(15,151)	597,696	-	597,696
TOTAL ENDING BALANCE	(\$18,749,124)	\$27,095,056	\$8,345,932	(\$4,333,345)	\$4,012,587
AUTHORIZED POSITIONS					
8150 Class/Unclass Positions	1,830	-	1,830	173	2,003
AUTHORIZED FTE					
8250 Class/Unclass FTE Positions	1,709.46	-	1,709.46	146.48	1,855.94

11/15/12 8:52 AM

etail Revenues & Expenditures - Requested Budget 013-15 Biennium udicial Compensation			Version: V - 01 - Agency Request Bud Cross Reference Number: 19800-010-00-00			
Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget	
REVENUE CATEGORIES			L I			
GENERAL FUND APPROPRIATION						
0050 General Fund Appropriation						
8000 General Fund	67,638,916	188,788	67,827,704	13,169,839	80,997,543	
AVAILABLE REVENUES						
8000 General Fund	67,638,916	188,788	67,827,704	13,169,839	80,997,543	
EXPENDITURES						
PERSONAL SERVICES						
SALARIES & WAGES						
3110 Class/Unclass Sal. and Per Diem						
8000 General Fund	44,069,760	-	44,069,760	644,805	44,714,56	
OTHER PAYROLL EXPENSES						
3220 Public Employees' Retire Cont						
8000 General Fund	12,934,521	-	12,934,521	189,249	13,123,77	
3230 Social Security Taxes						
8000 General Fund	3,348,558	-	3,348,558	47,694	3,396,25	
3250 Worker's Comp. Assess. (WCD)						
8000 General Fund	11,269	-	11,269	153	11,422	
3260 Mass Transit Tax						
8000 General Fund	-	188,788	188,788	-	188,788	
3270 Flexible Benefits						
8000 General Fund	7,274,808	-	7,274,808	99,981	7,374,789	
3280 Other OPE						
1/15/12	Page 17 of 62		BDV002A - Detail Reve	nues & Expenditure	s - Requested Budg	

Judicial Dept Agency Number: 19800					
Detail Revenues & Expenditures - Requested Budget 2013-15 Biennium Judicial Compensation					/ Request Budget)-010-00-00-00000
Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget
8000 General Fund	-	-	-	12,187,957	12,187,957
TOTAL OTHER PAYROLL EXPENSES					
8000 General Fund	23,569,156	188,788	23,757,944	12,525,034	36,282,978
TOTAL PERSONAL SERVICES					
8000 General Fund	67,638,916	188,788	67,827,704	13,169,839	80,997,543
AUTHORIZED POSITIONS					
8150 Class/Unclass Positions	191	-	191	3	194
AUTHORIZED FTE					
8250 Class/Unclass FTE Positions	191.00	-	191.00	2.64	193.64

11/15/12 8:52 AM

Detail Revenues & Expenditures - Requested Budget 2013-15 Biennium •Court Debt Service			Version: V - 01 - Agency Request Budge Cross Reference Number: 19800-087-00-00-0000			
Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget	
REVENUE CATEGORIES	I I		11			
GENERAL FUND APPROPRIATION						
0050 General Fund Appropriation						
8030 General Fund Debt Svc	18,133,375	-	18,133,375	5,197,274	23,330,649	
BOND SALES						
0555 General Fund Obligation Bonds						
3400 Other Funds Ltd	326,592	(326,592)	-	530,319	530,319	
TOTAL REVENUES						
8030 General Fund Debt Svc	18,133,375	-	18,133,375	5,197,274	23,330,649	
3400 Other Funds Ltd	326,592	(326,592)	-	530,319	530,319	
TOTAL REVENUES	\$18,459,967	(\$326,592)	\$18,133,375	\$5,727,593	\$23,860,968	
AVAILABLE REVENUES						
8030 General Fund Debt Svc	18,133,375	-	18,133,375	5,197,274	23,330,649	
3400 Other Funds Ltd	326,592	(326,592)	-	530,319	530,319	
TOTAL AVAILABLE REVENUES	\$18,459,967	(\$326,592)	\$18,133,375	\$5,727,593	\$23,860,968	
EXPENDITURES						
SERVICES & SUPPLIES						
4625 Other COP Costs						
3400 Other Funds Ltd	326,592	(326,592)	-	530,319	530,319	
DEBT SERVICE						
7100 Principal - Bonds						
8030 General Fund Debt Svc	9,125,000	-	9,125,000	4,195,000	13,320,000	
7150 Interest - Bonds						
1/15/12	Page 19 of 62		BDV002A - Detail Reve	nues & Expenditure	es - Requested Budge	

Agency Number: 19800 Judicial Dept Version: V - 01 - Agency Request Budget Detail Revenues & Expenditures - Requested Budget 2013-15 Biennium eCourt Debt Service

Cross Reference Number: 19800-087-00-00-00000

Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget
8030 General Fund Debt Svc	1,517,250	-	1,517,250	1,002,274	2,519,524
7200 Principal - COP					
8030 General Fund Debt Svc	7,065,000	-	7,065,000	-	7,065,000
7250 Interest - COP					
8030 General Fund Debt Svc	426,125	-	426,125	-	426,125
TOTAL DEBT SERVICE					
8030 General Fund Debt Svc	18,133,375	-	18,133,375	5,197,274	23,330,649
TOTAL EXPENDITURES					
8030 General Fund Debt Svc	18,133,375	-	18,133,375	5,197,274	23,330,649
3400 Other Funds Ltd	326,592	(326,592)	-	530,319	530,319
TOTAL EXPENDITURES	\$18,459,967	(\$326,592)	\$18,133,375	\$5,727,593	\$23,860,968

11/15/12 8:52 AM

etail Revenues & Expenditures - Requested Budget 013-15 Biennium apital Construction			Version: V - 01 - Agency Request Budg Cross Reference Number: 19800-089-00-00-000			
Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget	
REVENUE CATEGORIES			1		1	
BOND SALES						
0555 General Fund Obligation Bonds						
3020 Other Funds Cap Construction	-			27,413,293	27,413,293	
TRANSFERS OUT						
2107 Tsfr To Administrative Svcs						
3020 Other Funds Cap Construction	-			(601,082)	(601,082)	
AVAILABLE REVENUES						
3020 Other Funds Cap Construction	-			26,812,211	26,812,211	
EXPENDITURES						
CAPITAL OUTLAY						
5200 Technical Equipment						
3020 Other Funds Cap Construction	-			489,347	489,347	
5650 Land and Improvements						
3020 Other Funds Cap Construction	-			206,259	206,259	
5700 Building Structures						
3020 Other Funds Cap Construction	-			12,887,528	12,887,528	
5750 Equipment - Part of Building						
3020 Other Funds Cap Construction	-			6,909,640	6,909,640	
5800 Professional Services						
3020 Other Funds Cap Construction	-			2,724,217	2,724,217	
5850 Contingencies						
3020 Other Funds Cap Construction	-			2,409,429	2,409,429	
1/15/12	Page 21 of 62		BDV002A - Detail Reve	nues & Expenditure	s - Requested Budg	

ıdicial Dept			Agency Number: 1980			
Detail Revenues & Expenditures - Requested Budget			Version	n: V - 01 - Agency	y Request Budget	
2013-15 Biennium		Cross Referenc	e Number: 19800	0-089-00-00-00000		
Capital Construction						
Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget	
5900 Other Capital Outlay						
3020 Other Funds Cap Construction	-	-	-	1,185,791	1,185,791	
TOTAL CAPITAL OUTLAY						
3020 Other Funds Cap Construction	-	-	-	26,812,211	26,812,211	

11/15/12 8:52 AM

etail Revenues & Expenditures - Requested Budget 013-15 Biennium rial Courts			Version: V - 01 - Agency Reques Cross Reference Number: 19800-100-00-				
Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget		
BEGINNING BALANCE			1 1		1		
0025 Beginning Balance							
3400 Other Funds Ltd	92,960	-	92,960	-	92,960		
0030 Beginning Balance Adjustment							
3400 Other Funds Ltd	2,159,204	-	2,159,204	-	2,159,204		
TOTAL BEGINNING BALANCE							
3400 Other Funds Ltd	2,252,164	-	2,252,164	-	2,252,164		
REVENUE CATEGORIES							
GENERAL FUND APPROPRIATION							
0050 General Fund Appropriation							
8000 General Fund	207,652,154	2,050,110	209,702,264	10,422,555	220,124,819		
LICENSES AND FEES							
0227 State Court Fees							
3400 Other Funds Ltd	5,567,072	-	5,567,072	-	5,567,072		
8800 General Fund Revenue	118,240,505	-	118,240,505	-	118,240,505		
All Funds	123,807,577	-	123,807,577	-	123,807,577		
CHARGES FOR SERVICES							
0410 Charges for Services							
3400 Other Funds Ltd	317,022	-	317,022	-	317,022		
FINES, RENTS AND ROYALTIES							
0505 Fines and Forfeitures							
3400 Other Funds Ltd	122,982,566	-	122,982,566	-	122,982,566		
DONATIONS AND CONTRIBUTIONS							
1/15/12	Page 23 of 62		BDV002A - Detail Reve	nues & Expenditure	es - Requested Budge		

atail Revenues & Expenditures - Requested Budget 13-15 Biennium al Courts			Version: V - 01 - Agency Request Budg Cross Reference Number: 19800-100-00-0000			
Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agenc Request Budget	
0910 Grants (Non-Fed)			I			
3400 Other Funds Ltd	335,837	-	335,837	911,709	1,247,54	
TRANSFERS IN						
1404 Tsfr From Public Def Svcs Comm						
3400 Other Funds Ltd	2,722,500	-	2,722,500	-	2,722,50	
TOTAL REVENUES						
8000 General Fund	207,652,154	2,050,110	209,702,264	10,422,555	220,124,81	
3400 Other Funds Ltd	131,924,997	-	131,924,997	911,709	132,836,70	
8800 General Fund Revenue	118,240,505	-	118,240,505	-	118,240,50	
TOTAL REVENUES	\$457,817,656	\$2,050,110	\$459,867,766	\$11,334,264	\$471,202,03	
RANSFERS OUT						
2060 Transfer to General Fund						
8800 General Fund Revenue	(118,240,505)	-	(118,240,505)	-	(118,240,50	
2070 Transfer to Cities						
3400 Other Funds Ltd	(24,232,678)	-	(24,232,678)	-	(24,232,67	
2080 Transfer to Counties						
3400 Other Funds Ltd	(7,618,649)	-	(7,618,649)	-	(7,618,64	
2150 Tsfr To Revenue, Dept of						
3400 Other Funds Ltd	(91,422,437)	-	(91,422,437)	-	(91,422,43	
2404 Tsfr To Public Def Svcs Comm						
3400 Other Funds Ltd	(4,433,018)	-	(4,433,018)	-	(4,433,01	
TOTAL TRANSFERS OUT						
3400 Other Funds Ltd	(127,706,782)	-	(127,706,782)	-	(127,706,78	
15/12	Page 24 of 62		BDV002A - Detail Reve	nues & Expenditure	s - Requested Bud	

etail Revenues & Expenditures - Requested Budget 013-15 Biennium rial Courts		Version: V - 01 - Agency Request Cross Reference Number: 19800-100-00				
Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget	
8800 General Fund Revenue	(118,240,505)	-	(118,240,505)	-	(118,240,505)	
TOTAL TRANSFERS OUT	(\$245,947,287)	-	(\$245,947,287)	-	(\$245,947,287)	
AVAILABLE REVENUES						
8000 General Fund	207,652,154	2,050,110	209,702,264	10,422,555	220,124,819	
3400 Other Funds Ltd	6,470,379	-	6,470,379	911,709	7,382,088	
TOTAL AVAILABLE REVENUES	\$214,122,533	\$2,050,110	\$216,172,643	\$11,334,264	\$227,506,907	
EXPENDITURES						
PERSONAL SERVICES						
SALARIES & WAGES						
3110 Class/Unclass Sal. and Per Diem						
8000 General Fund	116,588,589	-	116,588,589	5,315,383	121,903,972	
3400 Other Funds Ltd	2,096,847	-	2,096,847	560,092	2,656,939	
All Funds	118,685,436	-	118,685,436	5,875,475	124,560,911	
3160 Temporary Appointments						
8000 General Fund	12,271	295	12,566	-	12,566	
3400 Other Funds Ltd	213,202	5,116	218,318	-	218,318	
All Funds	225,473	5,411	230,884	-	230,884	
3190 All Other Differential						
8000 General Fund	790,059	18,961	809,020	-	809,020	
3400 Other Funds Ltd	82,648	1,983	84,631	-	84,631	
All Funds	872,707	20,944	893,651	-	893,651	
TOTAL SALARIES & WAGES						
8000 General Fund	117,390,919	19,256	117,410,175	5,315,383	122,725,558	
1/15/12	Page 25 of 62		BDV002A - Detail Reve	nues & Expenditure	s - Requested Budge	

Agency Number: 19800

Detail Revenues & Expenditures - Requested Budget Version: V - 01 - Agency Request Budget Cross Reference Number: 19800-100-00-00000 2013-15 Biennium Trial Courts 2013-15 Base Essential 2013-15 Policy 2013-15 Agency Description Budget Packages Current Service Packages Request Level Budget 7,099 3400 Other Funds Ltd 2,392,697 2,399,796 560,092 2.959.888 **TOTAL SALARIES & WAGES** \$119,783,616 \$26,355 \$119.809.971 \$5,875,475 \$125,685,446 OTHER PAYROLL EXPENSES 3210 Empl. Rel. Bd. Assessments 3,250 8000 General Fund 49.835 49,835 53,085 1,005 1,005 280 3400 Other Funds Ltd 1.285 50,840 All Funds 50,840 -3,530 54,370 3220 Public Employees' Retire Cont 23,159,020 3,741 23,162,761 1.048,719 8000 General Fund 24,211,480 3400 Other Funds Ltd 430,019 391 430,410 110,508 540,918 All Funds 23,589,039 4,132 23,593,171 1,159,227 24,752,398 3221 Pension Obligation Bond 8000 General Fund 5,596,576 1,644,447 7,241,023 7,241,023 3400 Other Funds Ltd 696,761 (545, 650)151.111 151,111 -All Funds 6,293,337 1,098,797 7,392,134 7,392,134 3230 Social Security Taxes 8,973,577 1,474 8,975,051 406,650 8000 General Fund 9,381,701 3400 Other Funds Ltd 183,048 543 183,591 42,848 226,439 2,017 All Funds 9,156,625 9,158,642 449,498 9,608,140 3250 Worker's Comp. Assess. (WCD) 8000 General Fund 73,503 73,503 4,745 78,248 3400 Other Funds Ltd 1,483 1,483 413 1,896 All Funds 74,986 74,986 5,158 80,144 11/15/12 Page 26 of 62 BDV002A - Detail Revenues & Expenditures - Requested Budget 8:52 AM BDV002A

Judicial Dept

Judicial Dept

Agency Number: 19800

Detail Revenues & Expenditures - Requested Budget
2013-15 Biennium
Trial Courts

367,812 47,871 415,683 41,084,609 826,063	115,754 (34,983) 80,771	483,566 12,888 496,454 41,084,609	16,896 - 16,896	500,462 12,888 513,350
47,871 415,683 41,084,609 826,063	(34,983) 80,771	12,888 496,454	16,896	12,888
415,683 41,084,609 826,063	80,771	496,454	16,896	
41,084,609 826,063				513,350
826,063	-	41,084,609	0 474 440	
826,063	-	41,084,609	0 471 440	
· · · · · · · · · · · · · · · · · · ·			2,471,448	43,556,057
	-	826,063	197,568	1,023,631
41,910,672	-	41,910,672	2,669,016	44,579,688
-	-	-	336,464	336,464
79,304,932	1,765,416	81,070,348	4,288,172	85,358,520
2,186,250	(579,699)	1,606,551	351,617	1,958,168
\$81,491,182	\$1,185,717	\$82,676,899	\$4,639,789	\$87,316,688
196,695,851	1,784,672	198,480,523	9,603,555	208,084,078
4,578,947	(572,600)	4,006,347	911,709	4,918,056
\$201,274,798	\$1,212,072	\$202,486,870	\$10,515,264	\$213,002,134
424,604	10,193	434,797	2,000	436,797
28,538	685	29,223	-	29,223
453,142	10,878	464,020	2,000	466,020
Page 27 of 62		BDV002A - Detail Reve	nues & Expenditure	s - Requested Budge
	2,186,250 \$81,491,182 196,695,851 4,578,947 \$201,274,798 424,604 28,538 453,142	79,304,932 1,765,416 2,186,250 (579,699) \$81,491,182 \$1,185,717 196,695,851 1,784,672 4,578,947 (572,600) \$201,274,798 \$1,212,072 424,604 10,193 28,538 685 453,142 10,878	79,304,932 1,765,416 81,070,348 2,186,250 (579,699) 1,606,551 \$81,491,182 \$1,185,717 \$82,676,899 196,695,851 1,784,672 198,480,523 4,578,947 (572,600) 4,006,347 \$201,274,798 \$1,212,072 \$202,486,870 424,604 10,193 434,797 28,538 685 29,223 453,142 10,878 464,020	- - - 336,464 79,304,932 1,765,416 81,070,348 4,288,172 2,186,250 (579,699) 1,606,551 351,617 \$81,491,182 \$1,185,717 \$82,676,899 \$4,639,789 196,695,851 1,784,672 198,480,523 9,603,555 4,578,947 (572,600) 4,006,347 911,709 \$201,274,798 \$1,212,072 \$202,486,870 \$10,515,264 424,604 10,193 434,797 2,000 28,538 685 29,223 - 453,142 10,878 464,020 2,000

Agency Number: 19800

Detail Revenues & Expenditures - Requested Budget 2013-15 Biennium Trial Courts

Judicial Dept

Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget
4125 Out of State Travel			11		1
8000 General Fund	10,164	244	10,408	-	10,408
3400 Other Funds Ltd	296	7	303	-	303
All Funds	10,460	251	10,711	-	10,71
4150 Employee Training					
8000 General Fund	355,340	8,528	363,868	20,500	384,36
3400 Other Funds Ltd	19,048	457	19,505	-	19,50
All Funds	374,388	8,985	383,373	20,500	403,87
4175 Office Expenses					
8000 General Fund	5,438,111	130,515	5,568,626	75,500	5,644,12
3400 Other Funds Ltd	801,001	19,224	820,225	-	820,22
All Funds	6,239,112	149,739	6,388,851	75,500	6,464,35
4200 Telecommunications					
8000 General Fund	1,693,961	40,655	1,734,616	71,000	1,805,61
3400 Other Funds Ltd	32,674	784	33,458	-	33,45
All Funds	1,726,635	41,439	1,768,074	71,000	1,839,07
4250 Data Processing					
8000 General Fund	155,126	3,723	158,849	-	158,84
3400 Other Funds Ltd	2,054	49	2,103	-	2,10
All Funds	157,180	3,772	160,952	-	160,95
4300 Professional Services					
8000 General Fund	593,695	16,623	610,318	-	610,31
3400 Other Funds Ltd	52,993	1,484	54,477	-	54,47

Judicial Dept

Agency Number: 19800

Detail Revenues & Expenditures - Requested Budget
2013-15 Biennium
Trial Courts

Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agenc Request Budget
All Funds	646,688	18,107	664,795		- 664,79
4375 Employee Recruitment and Develop					
8000 General Fund	106,919	2,566	109,485		- 109,48
3400 Other Funds Ltd	1,766	42	1,808		- 1,80
All Funds	108,685	2,608	111,293		- 111,29
4400 Dues and Subscriptions					
8000 General Fund	487,435	11,698	499,133		- 499,13
3400 Other Funds Ltd	7,868	189	8,057		- 8,05
All Funds	495,303	11,887	507,190		- 507,19
4425 Facilities Rental and Taxes					
8000 General Fund	3,019	181	3,200		- 3,20
4450 Fuels and Utilities					
8000 General Fund	12,572	302	12,874		- 12,87
3400 Other Funds Ltd	167	4	171		- 17
All Funds	12,739	306	13,045		- 13,04
4475 Facilities Maintenance					
8000 General Fund	35,649	856	36,505		- 36,50
3400 Other Funds Ltd	472	11	483		- 48
All Funds	36,121	867	36,988		- 36,98
4575 Agency Program Related S and S					
8000 General Fund	60,650	1,456	62,106		- 62,10
3400 Other Funds Ltd	1,041	25	1,066		- 1,06
All Funds	61,691	1,481	63,172		- 63,17
2	Page 29 of 62		BDV002A - Detail Reve	nues & Expenditu	res - Requested Bud

Agency Number: 19800

Judicial Dept Detail Revenues & Expenditures - Requested Budget Version: V - 01 - Agency Request Budget 2013-15 Biennium Cross Reference Number: 19800-100-00-00000 Trial Courts

Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget
4650 Other Services and Supplies			L		
8000 General Fund	149,896	3,598	153,494	11,000	164,494
3400 Other Funds Ltd	955	23	978	-	978
All Funds	150,851	3,621	154,472	11,000	165,472
4700 Expendable Prop 250 - 5000					
8000 General Fund	1,136,257	27,270	1,163,527	10,500	1,174,027
3400 Other Funds Ltd	272,351	6,536	278,887	-	278,887
All Funds	1,408,608	33,806	1,442,414	10,500	1,452,914
4715 IT Expendable Property					
8000 General Fund	207,570	4,982	212,552	628,500	841,052
3400 Other Funds Ltd	433,655	10,408	444,063	-	444,063
All Funds	641,225	15,390	656,615	628,500	1,285,11
TOTAL SERVICES & SUPPLIES					
8000 General Fund	10,870,968	263,390	11,134,358	819,000	11,953,358
3400 Other Funds Ltd	1,654,879	39,928	1,694,807	-	1,694,807
TOTAL SERVICES & SUPPLIES	\$12,525,847	\$303,318	\$12,829,165	\$819,000	\$13,648,165
CAPITAL OUTLAY					
5100 Office Furniture and Fixtures					
8000 General Fund	85,335	2,048	87,383	-	87,38
3400 Other Funds Ltd	8,854	212	9,066	-	9,060
All Funds	94,189	2,260	96,449	-	96,449
TAL EXPENDITURES					
8000 General Fund	207,652,154	2,050,110	209,702,264	10,422,555	220,124,819
5/12 AM	Page 30 of 62		BDV002A - Detail Reve	nues & Expenditure	es - Requested Budg BDV002

Judicial Dept	Agency N	lumber: 19800			
Detail Revenues & Expenditures - Requested Budget 2013-15 Biennium Trial Courts				•	y Request Budget 0-100-00-00-00000
Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget
3400 Other Funds Ltd	6,242,680	(532,460)	5,710,220	911,709	6,621,929
TOTAL EXPENDITURES	\$213,894,834	\$1,517,650	\$215,412,484	\$11,334,264	\$226,746,748
ENDING BALANCE					
3400 Other Funds Ltd	227,699	532,460	760,159	-	760,159
AUTHORIZED POSITIONS					
8150 Class/Unclass Positions	1,353	-	1,353	99	1,452
AUTHORIZED FTE					
8250 Class/Unclass FTE Positions	1,240.17	-	1,240.17	79.54	1,319.71

11/15/12 8:52 AM

Detail Revenues & Expenditures - Requested Budget 2013-15 Biennium News Nets (Tau Counts			Version: V - 01 - Agency Request Budg Cross Reference Number: 19800-101-00-00-000				
Appellate/Tax Courts Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget		
BEGINNING BALANCE			11				
0025 Beginning Balance							
3400 Other Funds Ltd	1,035,140	-	1,035,140	-	1,035,14		
0030 Beginning Balance Adjustment							
3400 Other Funds Ltd	(138,300)	-	(138,300)	-	(138,300		
TOTAL BEGINNING BALANCE							
3400 Other Funds Ltd	896,840	-	896,840	-	896,84		
REVENUE CATEGORIES							
GENERAL FUND APPROPRIATION							
0050 General Fund Appropriation							
8000 General Fund	19,531,088	403,492	19,934,580	2,006,054	21,940,63		
SALES INCOME							
0705 Sales Income							
3400 Other Funds Ltd	650,000	-	650,000	-	650,00		
TRANSFERS IN							
1107 Tsfr From Administrative Svcs							
3400 Other Funds Ltd	2,392,804	-	2,392,804	-	2,392,80		
TOTAL REVENUES							
8000 General Fund	19,531,088	403,492	19,934,580	2,006,054	21,940,63		
3400 Other Funds Ltd	3,042,804	-	3,042,804	-	3,042,80		
TOTAL REVENUES	\$22,573,892	\$403,492	\$22,977,384	\$2,006,054	\$24,983,43		
AVAILABLE REVENUES							
8000 General Fund	19,531,088	403,492	19,934,580	2,006,054	21,940,63		
1/15/12	Page 32 of 62		BDV002A - Detail Reve	nues & Expenditure	s - Requested Budg		

etail Revenues & Expenditures - Requested Budget 013-15 Biennium ppellate/Tax Courts				Version: V - 01 - Agency Request Bud oss Reference Number: 19800-101-00-00-00		
Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget	
3400 Other Funds Ltd	3,939,644	-	3,939,644	-	3,939,644	
TOTAL AVAILABLE REVENUES	\$23,470,732	\$403,492	\$23,874,224	\$2,006,054	\$25,880,278	
EXPENDITURES						
PERSONAL SERVICES						
SALARIES & WAGES						
3110 Class/Unclass Sal. and Per Diem						
8000 General Fund	11,017,675	-	11,017,675	867,698	11,885,37	
3400 Other Funds Ltd	1,035,249	-	1,035,249	-	1,035,24	
All Funds	12,052,924	-	12,052,924	867,698	12,920,62	
3160 Temporary Appointments						
8000 General Fund	475,737	11,417	487,154	-	487,15	
3190 All Other Differential						
8000 General Fund	133,445	3,203	136,648	-	136,648	
TOTAL SALARIES & WAGES						
8000 General Fund	11,626,857	14,620	11,641,477	867,698	12,509,175	
3400 Other Funds Ltd	1,035,249	-	1,035,249	-	1,035,249	
TOTAL SALARIES & WAGES	\$12,662,106	\$14,620	\$12,676,726	\$867,698	\$13,544,424	
OTHER PAYROLL EXPENSES						
3210 Empl. Rel. Bd. Assessments						
8000 General Fund	3,610	-	3,610	342	3,95	
3400 Other Funds Ltd	350	-	350	-	35	
All Funds	3,960	-	3,960	342	4,30	
3220 Public Employees' Retire Cont						
/15/12	Page 33 of 62		BDV002A - Detail Reve	enues & Expenditure	es - Requested Budg	

2013-15 Chief Justice's Recommended Budget

Judicial Dept

Agency Number: 19800

Detail Revenues & Expenditures - Requested Budget
2013-15 Biennium
Appellate/Tax Courts

Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agenc Request Budget
8000 General Fund	2,200,122	632	2,200,754	171,194	2,371,94
3400 Other Funds Ltd	204,255	-	204,255	-	204,25
All Funds	2,404,377	632	2,405,009	171,194	2,576,20
3221 Pension Obligation Bond					
8000 General Fund	369,035	338,215	707,250	-	707,25
3400 Other Funds Ltd	2,745	37,126	39,871	-	39,87
All Funds	371,780	375,341	747,121	-	747,12
3230 Social Security Taxes					
8000 General Fund	886,917	1,119	888,036	66,383	954,41
3400 Other Funds Ltd	79,196	-	79,196	-	79,19
All Funds	966,113	1,119	967,232	66,383	1,033,61
3250 Worker's Comp. Assess. (WCD)					
8000 General Fund	5,325	-	5,325	504	5,82
3400 Other Funds Ltd	516	-	516	-	51
All Funds	5,841	-	5,841	504	6,34
3260 Mass Transit Tax					
8000 General Fund	55,581	14,380	69,961	9,075	79,03
3400 Other Funds Ltd	12,624	(8,746)	3,878	-	3,87
All Funds	68,205	5,634	73,839	9,075	82,91
3270 Flexible Benefits					
8000 General Fund	2,945,088	-	2,945,088	288,903	3,233,99
3400 Other Funds Ltd	294,936	-	294,936	-	294,93
All Funds	3,240,024	-	3,240,024	288,903	3,528,92
2 M	Page 34 of 62		BDV002A - Detail Reve	nues & Expenditure	es - Requested Bud BDV00

ail Revenues & Expenditures - Requested Budget 3-15 Biennium pellate/Tax Courts		Version: V - 01 - Agency Reques Cross Reference Number: 19800-101-00-				
Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget	
3280 Other OPE			I I			
8000 General Fund	-	-	-	54,925	54,92	
TOTAL OTHER PAYROLL EXPENSES						
8000 General Fund	6, <mark>4</mark> 65,678	354,346	6,820,024	591,326	7,411,35	
3400 Other Funds Ltd	594,622	28,380	623,002	-	623,00	
TOTAL OTHER PAYROLL EXPENSES	\$7,060,300	\$382,726	\$7,443,026	\$591,326	\$8,034,35	
TOTAL PERSONAL SERVICES						
8000 General Fund	18,092,535	368,966	18,461,501	1,459,024	19,920,52	
3400 Other Funds Ltd	1,629,871	28,380	1,658,251	-	1,658,25	
TOTAL PERSONAL SERVICES	\$19,722,406	\$397,346	\$20,119,752	\$1,459,024	\$21,578,77	
SERVICES & SUPPLIES						
4100 Instate Travel						
8000 General Fund	33,080	794	33,874	-	33,87	
4125 Out of State Travel						
8000 General Fund	3,982	96	4,078	-	4,07	
4150 Employee Training						
8000 General Fund	66,436	1,595	68,031	23,050	91,08	
4175 Office Expenses						
8000 General Fund	1,054,404	25,305	1,079,709	23,050	1,102,75	
4200 Telecommunications						
8000 General Fund	105,905	2,543	108,448	30,733	139,18	
4250 Data Processing						
8000 General Fund	471	11	482	-	48	
5/12	Page 35 of 62		BDV002A - Detail Reve	enues & Expenditure	s - Requested Budg	

Agency Number: 19800

Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agenc Request Budget
4300 Professional Services			I I		
8000 General Fund	134	4	138	148,957	149,09
4315 IT Professional Services					
8000 General Fund	-	-	-	30,840	30,84
4375 Employee Recruitment and Develop					
8000 General Fund	2,380	57	2,437	10,240	12,67
4400 Dues and Subscriptions					
8000 General Fund	99,200	2,381	101,581	-	101,58
4425 Facilities Rental and Taxes					
8000 General Fund	-	-	-	224,963	224,96
4450 Fuels and Utilities					
8000 General Fund	1,339	32	1,371	-	1,37
4475 Facilities Maintenance					
8000 General Fund	307	7	314	-	31
4575 Agency Program Related S and S					
8000 General Fund	70	2	72	-	7
4650 Other Services and Supplies					
8000 General Fund	2,396	57	2,453	7,683	10,13
4700 Expendable Prop 250 - 5000					
8000 General Fund	49,720	1,193	50,913	47,514	98,42
4715 IT Expendable Property					
8000 General Fund	18,729	449	19,178	-	19,17
TOTAL SERVICES & SUPPLIES					

Judicial Dept

Judicial Dept Agency Number: Detail Revenues & Expenditures - Requested Budget Version: V - 01 - Agency Request 2013-15 Biennium Cross Reference Number: 19800-101-00-0 Appellate/Tax Courts Cross Reference Number: 19800-101-00-0					lumber: 19800
					• •
Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget
8000 General Fund	1,438,553	34,526	1,473,079	547,030	2,020,109
TOTAL EXPENDITURES					
8000 General Fund	19,531,088	403,492	19,934,580	2,006,054	21,940,634
3400 Other Funds Ltd	1,629,871	28,380	1,658,251	-	1,658,251
TOTAL EXPENDITURES	\$21,160,959	\$431,872	\$21,592,831	\$2,006,054	\$23,598,885
ENDING BALANCE					
3400 Other Funds Ltd	2,309,773	(28,380)	2,281,393	-	2,281,393
AUTHORIZED POSITIONS					
8150 Class/Unclass Positions	99	-	99	9	108
AUTHORIZED FTE					
8250 Class/Unclass FTE Positions	94.48	-	94.48	8.64	103.12

11/15/12 8:52 AM

Agency Number: 19800

Detail Revenues & Expenditures - Requested Budget Version: V - 01 - Agency Request Budget Cross Reference Number: 19800-102-00-00-00000 2013-15 Biennium Administration and Central Support 2013-15 Base 2013-15 Policy 2013-15 Agency Essential Description Budget Packages Current Service Packages Request Level Budget BEGINNING BALANCE 0025 Beginning Balance 3400 Other Funds Ltd 5,388,447 5,388,447 5,388,447 6400 Federal Funds Ltd 385.006 385,006 385,006 5,773,453 5,773,453 All Funds 5,773,453 -0030 Beginning Balance Adjustment (3, 617, 485)(3,617,485) 3400 Other Funds Ltd --(3,617,485)6400 Federal Funds Ltd (385,006)(385,006)(385,006)All Funds (4,002,491) (4,002,491) (4,002,491)TOTAL BEGINNING BALANCE 3400 Other Funds Ltd 1,770,962 _ 1,770,962 1,770,962 6400 Federal Funds Ltd TOTAL BEGINNING BALANCE \$1.770.962 \$1.770.962 \$1,770,962 --**REVENUE CATEGORIES** GENERAL FUND APPROPRIATION 0050 General Fund Appropriation 8000 General Fund 52,207,188 (522, 398)51,684,790 3,140,786 54,825,576 CHARGES FOR SERVICES 0410 Charges for Services 3400 Other Funds Ltd 3,300,000 3,300,000 3,300,000 FEDERAL FUNDS REVENUE 0995 Federal Funds 6400 Federal Funds Ltd 1,490,080 1,490,080 1,490,080 11/15/12 Page 38 of 62 BDV002A - Detail Revenues & Expenditures - Requested Budget BDV002A 8:52 AM

Judicial Dept

etail Revenues & Expenditures - Requested Budget 013-15 Biennium .dministration and Central Support			Version: V - 01 - Agency Request Budg Cross Reference Number: 19800-102-00-000			
Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget	
TRANSFERS IN			1 1		1	
1010 Transfer In - Intrafund						
3400 Other Funds Ltd	11,900,000	-	11,900,000	-	11,900,000	
1100 Tsfr From Human Svcs, Dept of						
3400 Other Funds Ltd	1,440,643	-	1,440,643	-	1,440,643	
TOTAL TRANSFERS IN						
3400 Other Funds Ltd	13,340,643	-	13,340,643	-	13,340,643	
TOTAL REVENUES						
8000 General Fund	52,207,188	(522,398)	51,684,790	3,140,786	54,825,576	
3400 Other Funds Ltd	16,640,643	-	16,640,643	-	16,640,643	
6400 Federal Funds Ltd	1,490,080	-	1,490,080	-	1,490,080	
TOTAL REVENUES	\$70,337,911	(\$522,398)	\$69,815,513	\$3,140,786	\$72,956,299	
TRANSFERS OUT						
2010 Transfer Out - Intrafund						
3400 Other Funds Ltd	(11,900,000)	-	(11,900,000)	-	(11,900,000)	
AVAILABLE REVENUES						
8000 General Fund	52,207,188	(522,398)	51,684,790	3,140,786	54,825,576	
3400 Other Funds Ltd	6,511,605	-	6,511,605	-	6,511,605	
6400 Federal Funds Ltd	1,490,080	-	1,490,080	-	1,490,080	
TOTAL AVAILABLE REVENUES	\$60,208,873	(\$522,398)	\$59,686,475	\$3,140,786	\$62,827,261	
EXPENDITURES						
PERSONAL SERVICES						
SALARIES & WAGES						
1/15/12	Page 39 of 62		BDV002A - Detail Reve	nues & Expenditure	es - Requested Budge	
52 AM					BDV002	

Detail Revenues & Expenditures - Requested Budget 2013-15 Biennium Administration and Central Support

Judicial Dept

Agency Number: 19800

Version: V - 01 - Agency Request Budget

Cross Reference Number: 19800-102-00-00-00000

Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget
3110 Class/Unclass Sal. and Per Diem			11		I
8000 General Fund	20,034,172	-	20,034,172	1,733,679	21,767,851
3400 Other Funds Ltd	3,298,888	-	3,298,888	-	3,298,888
6400 Federal Funds Ltd	207,600	-	207,600	-	207,600
All Funds	23,540,660	-	23,540,660	1,733,679	25,274,339
3160 Temporary Appointments					
8000 General Fund	443,646	10,648	454,294	-	454,294
3400 Other Funds Ltd	28,405	683	29,088	-	29,088
6400 Federal Funds Ltd	1,042	25	1,067	-	1,067
All Funds	473,093	11,356	484,449	-	484,449
3190 All Other Differential					
8000 General Fund	267,342	6,416	273,758	-	273,758
3400 Other Funds Ltd	91,993	2,208	94,201	-	94,201
All Funds	359,335	8,624	367,959	-	367,959
TOTAL SALARIES & WAGES					
8000 General Fund	20,745,160	17,064	20,762,224	1,733,679	22,495,903
3400 Other Funds Ltd	3,419,286	2,891	3,422,177	-	3,422,177
6400 Federal Funds Ltd	208,642	25	208,667	-	208,667
TOTAL SALARIES & WAGES	\$24,373,088	\$19,980	\$24,393,068	\$1,733,679	\$26,126,747
OTHER PAYROLL EXPENSES					
3210 Empl. Rel. Bd. Assessments					
8000 General Fund	5,319	-	5,319	705	6,024
3400 Other Funds Ltd	1,001	-	1,001	-	1,001
	Page 40 of 62		BDV002A - Detail Reve	nues & Expenditure	s - Requested Budg BDV002

Judicial Dept

Agency Number: 19800

Detail Revenues & Expenditures - Requested Budget
2013-15 Biennium
Administration and Central Support

Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget
6400 Federal Funds Ltd	80	-	80	-	80
All Funds	6,400	-	6,400	705	7,105
3220 Public Employees' Retire Cont					
8000 General Fund	4,005,491	1,266	4,006,757	342,057	4,348,814
3400 Other Funds Ltd	669,019	436	669,455	-	669,45
6400 Federal Funds Ltd	40,960	-	40,960	-	40,960
All Funds	4,715,470	1,702	4,717,172	342,057	5,059,229
3221 Pension Obligation Bond					
8000 General Fund	962,755	289,202	1,251,957	-	1,251,95
3400 Other Funds Ltd	305,526	(96,067)	209,459	-	209,45
6400 Federal Funds Ltd	12,120	704	12,824	-	12,82
All Funds	1,280,401	193,839	1,474,240	-	1,474,24
3230 Social Security Taxes					
8000 General Fund	1,573,741	1,306	1,575,047	132,631	1,707,67
3400 Other Funds Ltd	261,574	221	261,795	-	261,79
6400 Federal Funds Ltd	15,962	2	15,964	-	15,96
All Funds	1,851,277	1,529	1,852,806	132,631	1,985,43
3240 Unemployment Assessments					
8000 General Fund	694,596	16,670	711,266	-	711,26
3250 Worker's Comp. Assess. (WCD)					
8000 General Fund	7,844	-	7,844	1,028	8,87
3400 Other Funds Ltd	1,478	-	1,478	-	1,47
6400 Federal Funds Ltd	118	-	118	-	11
2 M	Page 41 of 62		BDV002A - Detail Rev	enues & Expenditure	es - Requested Budg BDV002

Judicial Dept Detail Revenues & Expenditures - Requested Budget 2013-15 Biennium Administration and Central Support Agency Number: 19800

Description	1	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget
All Funds		9,440	-	9,440	1,028	10,468
3260 Mass Transit Tax						
8000 General Fund		82,058	42,515	124,573	10,401	134,974
3400 Other Funds Ltd		29,814	(9,281)	20,533	-	20,533
All Funds		111,872	33,234	145,106	10,401	155,50
3270 Flexible Benefits						
8000 General Fund		4,468,197	-	4,468,197	596,544	5,064,74
3400 Other Funds Ltd		831,003	-	831,003	-	831,00
6400 Federal Funds Ltd		65,856	-	65,856	-	65,85
All Funds		5,365,056	-	5,365,056	596,544	5,961,600
3280 Other OPE						
8000 General Fund		-	-	-	109,741	109,74
TOTAL OTHER PAYROLL EXPENSE	s					
8000 General Fund		11,800,001	350,959	12,150,960	1,193,107	13,344,06
3400 Other Funds Ltd		2,099,415	(104,691)	1,994,724	-	1,994,72
6400 Federal Funds Ltd		135,096	706	135,802	-	135,80
TOTAL OTHER PAYROLL EXPENSE	s	\$14,034,512	\$246,974	\$14,281,486	\$1,193,107	\$15,474,59
P.S. BUDGET ADJUSTMENTS						
3455 Vacancy Savings						
8000 General Fund		(17,011)	-	(17,011)	-	(17,011
TOTAL PERSONAL SERVICES						
8000 General Fund		32,528,150	368,023	32,896,173	2,926,786	35,822,95
3400 Other Funds Ltd		5,518,701	(101,800)	5,416,901	-	5,416,90
5/12 2 AM		Page 42 of 62		BDV002A - Detail Reve	nues & Expenditure	es - Requested Budg BDV00

Agency Number: 19800

-15 Biennium inistration and Central Support			Cross Reference	Number: 19800	-102-00-00-000
Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Ageno Request Budget
6400 Federal Funds Ltd	343,738	731	344,469	-	344,46
OTAL PERSONAL SERVICES	\$38,390,589	\$266,954	\$38,657,543	\$2,926,786	\$41,584,32
ERVICES & SUPPLIES					
4100 Instate Travel					
8000 General Fund	55,395	1,329	56,724	14,500	71,22
3400 Other Funds Ltd	18,190	437	18,627	-	18,62
6400 Federal Funds Ltd	41,016	984	42,000	-	42,00
All Funds	114,601	2,750	117,351	14,500	131,85
4125 Out of State Travel					
8000 General Fund	22,254	534	22,788	-	22,78
3400 Other Funds Ltd	433	10	443	-	44
6400 Federal Funds Ltd	33	1	34	-	3
All Funds	22,720	545	23,265	-	23,26
4150 Employee Training					
8000 General Fund	68,585	1,646	70,231	76,000	146,23
3400 Other Funds Ltd	88,029	2,113	90,142	-	90,14
6400 Federal Funds Ltd	52,794	1,267	54,061	-	54,06
All Funds	209,408	5,026	214,434	76,000	290,43
4175 Office Expenses					
8000 General Fund	1,020,386	24,489	1,044,875	27,000	1,071,87
6400 Federal Funds Ltd	18,171	436	18,607	-	18,60
All Funds	1,038,557	24,925	1,063,482	27,000	1,090,48
4200 Telecommunications					

Judicial Dept

Detail Revenues & Expenditures - Requested Budget 2013-15 Biennium Administration and Central Support

Judicial Dept

Agency Number: 19800

Version: V - 01 - Agency Request Budget Cross Reference Number: 19800-102-00-00000 se Essential 2013-15 Policy 2013-15 Agency Packages Current Service Packages Request Level Budget

Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget
8000 General Fund	1,404,634	33,711	1,438,345	23,500	1,461,845
6400 Federal Funds Ltd	3,993	96	4,089	-	4,089
All Funds	1,408,627	33,807	1,442,434	23,500	1,465,934
4225 State Gov. Service Charges					
8000 General Fund	7,036,055	(1,309,581)	5,726,474	-	5,726,474
4250 Data Processing					
8000 General Fund	1,090,226	26,165	1,116,391	-	1,116,391
3400 Other Funds Ltd	17,483	420	17,903	-	17,903
6400 Federal Funds Ltd	602	14	616	-	616
All Funds	1,108,311	26,599	1,134,910	-	1,134,910
4275 Publicity and Publications					
3400 Other Funds Ltd	29,215	701	29,916	-	29,910
4300 Professional Services					
8000 General Fund	227,637	6,374	234,011	7,000	241,01
6400 Federal Funds Ltd	210,242	5,887	216,129	-	216,12
All Funds	437,879	12,261	450,140	7,000	457,14
4315 IT Professional Services					
8000 General Fund	229,049	9,803	238,852	-	238,852
3400 Other Funds Ltd	121,064	-	121,064	-	121,064
6400 Federal Funds Ltd	194,161	5,437	199,598	-	199,598
All Funds	544,274	15,240	559,514	-	559,514
4325 Attorney General					
8000 General Fund	166,137	24,754	190,891	-	190,89
2	Page 44 of 62		BDV002A - Detail Reve	enues & Expenditure	s - Requested Budg BDV00

Agency Number: 19800

Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agenc Request Budget
4375 Employee Recruitment and Develop			11		
8000 General Fund	14,515	348	14,863	-	14,86
6400 Federal Funds Ltd	419	10	429	-	42
All Funds	14,934	358	15,292	-	15,29
4400 Dues and Subscriptions					
8000 General Fund	723,779	17,371	741,150	7,500	748,65
6400 Federal Funds Ltd	1,912	46	1,958	-	1,95
All Funds	725,691	17,417	743,108	7,500	750,60
4425 Facilities Rental and Taxes					
8000 General Fund	3,323,963	169,522	3,493,485	-	3,493,48
4450 Fuels and Utilities					
8000 General Fund	231,261	5,550	236,811	-	236,81
6400 Federal Funds Ltd	49	1	50	-	5
All Funds	231,310	5,551	236,861	-	236,86
4475 Facilities Maintenance					
8000 General Fund	149,981	3,600	153,581	-	153,58
6400 Federal Funds Ltd	140	3	143	-	14
All Funds	150,121	3,603	153,724	-	153,72
4575 Agency Program Related S and S					
8000 General Fund	1,347,559	32,341	1,379,900	-	1,379,90
6400 Federal Funds Ltd	308	7	315	-	31
All Funds	1,347,867	32,348	1,380,215	-	1,380,21
4650 Other Services and Supplies					

Judicial Dept

Judicial Dept

Detail Revenues & Expenditures - Requested Budget 2013-15 Biennium Administration and Central Support Agency Number: 19800

Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget
8000 General Fund	128,818	3,092	131,910	9,000	140,910
6400 Federal Funds Ltd	588	14	602	-	602
All Funds	129,406	3,106	132,512	9,000	141,512
4700 Expendable Prop 250 - 5000					
8000 General Fund	12,259	294	12,553	6,000	18,553
6400 Federal Funds Ltd	5,687	136	5,823	-	5,823
All Funds	17,946	430	18,376	6,000	24,376
4715 IT Expendable Property					
8000 General Fund	212,568	5,102	217,670	43,500	261,170
6400 Federal Funds Ltd	3,380	81	3,461	-	3,461
All Funds	215,948	5,183	221,131	43,500	264,631
TOTAL SERVICES & SUPPLIES					
8000 General Fund	17,465,061	(943,556)	16,521,505	214,000	16,735,505
3400 Other Funds Ltd	274,414	3,681	278,095	-	278,095
6400 Federal Funds Ltd	533,495	14,420	547,915	-	547,915
TOTAL SERVICES & SUPPLIES	\$18,272,970	(\$925,455)	\$17,347,515	\$214,000	\$17,561,51
CAPITAL OUTLAY					
5600 Data Processing Hardware					
8000 General Fund	2,213,977	53,135	2,267,112	-	2,267,112
3400 Other Funds Ltd	515,232	12,366	527,598	-	527,598
All Funds	2,729,209	65,501	2,794,710	-	2,794,710
5900 Other Capital Outlay					
3010 Other Funds Cap Improvement	97,460	(97,460)	-	-	
5/12 AM	Page 46 of 62		BDV002A - Detail Reve	enues & Expenditure	es - Requested Budg BDV002

etail Revenues & Expenditures - Requested Budget)13-15 Biennium dministration and Central Support		Version: V - 01 - Agency Request Cross Reference Number: 19800-102-00-00			
Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget
TOTAL CAPITAL OUTLAY			1		1
8000 General Fund	2,213,977	53,135	2,267,112	-	2,267,112
3010 Other Funds Cap Improvement	97,460	(97,460)	-	-	-
3400 Other Funds Ltd	515,232	12,366	527,598	-	527,598
TOTAL CAPITAL OUTLAY	\$2,826,669	(\$31,959)	\$2,794,710	-	\$2,794,710
TOTAL EXPENDITURES					
8000 General Fund	52,207,188	(522,398)	51,684,790	3,140,786	54,825,576
3010 Other Funds Cap Improvement	97,460	(97,460)	-	-	-
3400 Other Funds Ltd	6,308,347	(85,753)	6,222,594	-	6,222,594
6400 Federal Funds Ltd	877,233	15,151	892,384	-	892,384
TOTAL EXPENDITURES	\$59,490,228	(\$690,460)	\$58,799,768	\$3,140,786	\$61,940,554
ENDING BALANCE					
3010 Other Funds Cap Improvement	(97,460)	97,460	-	-	-
3400 Other Funds Ltd	203,258	85,753	289,011	-	289,011
6400 Federal Funds Ltd	612,847	(15,151)	597,696	-	597,696
TOTAL ENDING BALANCE	\$718,645	\$168,062	\$886,707	-	\$886,707
AUTHORIZED POSITIONS					
8150 Class/Unclass Positions	160	-	160	22	182
AUTHORIZED FTE					
8250 Class/Unclass FTE Positions	157.50	-	157.50	17.70	175.20

11/15/12 8:52 AM Page 47 of 62

BDV002A - Detail Revenues & Expenditures - Requested Budget BDV002A

Detail Revenues & Expenditures - Requested Budget 2013-15 Biennium Mandated Payments			Version: V - 01 - Agency Request Budg Cross Reference Number: 19800-200-00-0000			
Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget	
BEGINNING BALANCE			II_			
0025 Beginning Balance						
3400 Other Funds Ltd	29,723	-	29,723	-	29,72	
REVENUE CATEGORIES						
GENERAL FUND APPROPRIATION						
0050 General Fund Appropriation						
8000 General Fund	13,880,101	290,071	14,170,172	1,476,135	15,646,30	
LICENSES AND FEES						
0205 Business Lic and Fees						
3400 Other Funds Ltd	80,000	-	80,000	-	80,00	
DONATIONS AND CONTRIBUTIONS						
0905 Donations						
3400 Other Funds Ltd	500,610	-	500,610	-	500,61	
TOTAL REVENUES						
8000 General Fund	13,880,101	290,071	14,170,172	1,476,135	15,646,30	
3400 Other Funds Ltd	580,610	-	580,610	-	580,61	
TOTAL REVENUES	\$14,460,711	\$290,071	\$14,750,782	\$1,476,135	\$16,226,91	
AVAILABLE REVENUES						
8000 General Fund	13,880, <mark>1</mark> 01	290,071	14,170,172	1,476,135	15,646,30	
3400 Other Funds Ltd	610,333	-	610,333	-	610,33	
TOTAL AVAILABLE REVENUES	\$14,490,434	\$290,071	\$14,780,505	\$1,476,135	\$16,256,64	
EXPENDITURES						
PERSONAL SERVICES						
1/15/12	Page 48 of 62		BDV002A - Detail Reve	nues & Expenditure	es - Requested Budg	
:52 AM					BDV00	

ll Revenues & Expenditures - Requested Budget -15 Biennium lated Payments			Version: V - 01 - Agency Request Budg Cross Reference Number: 19800-200-00-000			
Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agenc Request Budget	
SALARIES & WAGES			1			
3110 Class/Unclass Sal. and Per Diem						
8000 General Fund	2,526,653	-	2,526,653		- 2,526,65	
3400 Other Funds Ltd	29,396	-	29,396		- 29,39	
All Funds	2,556,049	-	2,556,049		- 2,556,04	
3190 All Other Differential						
8000 General Fund	27,072	650	27,722		- 27,72	
TOTAL SALARIES & WAGES						
8000 General Fund	2,553,725	650	2,554,375		- 2,554,37	
3400 Other Funds Ltd	29,396	-	29,396		- 29,39	
TOTAL SALARIES & WAGES	\$2,583,121	\$650	\$2,583,771		- \$2,583,77	
OTHER PAYROLL EXPENSES						
3210 Empl. Rel. Bd. Assessments						
8000 General Fund	890	-	890		- 89	
3400 Other Funds Ltd	30	-	30		- 3	
All Funds	920	-	920		- 92	
3220 Public Employees' Retire Cont						
8000 General Fund	503,853	128	503,981		- 503,98	
3400 Other Funds Ltd	5,800	-	5,800		- 5,80	
All Funds	509,653	128	509,781		- 509,78	
3221 Pension Obligation Bond						
8000 General Fund	121,533	36,120	157,653		- 157,65	
3400 Other Funds Ltd	-	1,910	1,910		- 1,91	
/12	Page 49 of 62		BDV002A - Detail Reve	nues & Expenditu	res - Requested Bud	

Judicial Dept

Detail Revenues & Expenditures - Requested Budget 2013-15 Biennium Mandated Payments Agency Number: 19800

Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget
All Funds	121,533	38,030	159,563		- 159,563
3230 Social Security Taxes					
8000 General Fund	195,359	50	195,409		- 195,409
3400 Other Funds Ltd	2,249	-	2,249		- 2,249
All Funds	197,608	50	197,658		- 197,658
3250 Worker's Comp. Assess. (WCD)					
8000 General Fund	1,313	-	1,313		- 1,313
3400 Other Funds Ltd	44	-	44		- 44
All Funds	1,357	-	1,357		- 1,357
3260 Mass Transit Tax					
8000 General Fund	12,968	2,345	15,313		- 15,31
3400 Other Funds Ltd		176	176		- 170
All Funds	12,968	2,521	15,489		- 15,489
3270 Flexible Benefits					
8000 General Fund	731,232	-	731,232		- 731,232
TOTAL OTHER PAYROLL EXPENSES					
8000 General Fund	1,567,148	38,643	1,605,791		- 1,605,79
3400 Other Funds Ltd	8,123	2,086	10,209		- 10,209
TOTAL OTHER PAYROLL EXPENSES	\$1,575,271	\$40,729	\$1,616,000		- \$1,616,00
OTAL PERSONAL SERVICES					
8000 General Fund	4,120,873	39,293	4,160,166		- 4,160,16
3400 Other Funds Ltd	37,519	2,086	39,605		- 39,60
TOTAL PERSONAL SERVICES	\$4,158,392	\$41,379	\$4,199,771		- \$4,199,77
12 M	Page 50 of 62		BDV002A - Detail Reve	nues & Expenditu	res - Requested Budg BDV00

il Revenues & Expenditures - Requested Budget Version: V - 01 - Agency Request 3-15 Biennium Cross Reference Number: 19800-200-00-0 dated Payments					
Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agenc Request Budget
SERVICES & SUPPLIES			II		
4100 Instate Travel					
8000 General Fund	25,055	601	25,656	-	25,65
4150 Employee Training					
8000 General Fund	17,279	415	17,694	-	17,69
4175 Office Expenses					
8000 General Fund	6,913	166	7,079	-	7,07
4200 Telecommunications					
8000 General Fund	62,207	1,493	63,700	-	63,7
4250 Data Processing					
8000 General Fund	107,726	2,585	110,311	-	110,3
4300 Professional Services					
8000 General Fund	4,139,470	115,905	4,255,375	1,476,135	5,731,5
4400 Dues and Subscriptions					
8000 General Fund	15,552	373	15,925	-	15,92
4575 Agency Program Related S and S					
8000 General Fund	5,281,723	126,761	5,408,484	-	5,408,48
3400 Other Funds Ltd	475,000	11,400	486,400	-	486,40
All Funds	5,756,723	138,161	5,894,884	-	5,894,8
4650 Other Services and Supplies					
8000 General Fund	30,729	737	31,466	-	31,40
4700 Expendable Prop 250 - 5000					
8000 General Fund	36,287	871	37,158	-	37,1
12	Page 51 of 62		BDV002A - Detail Reve	nues & Expenditure	es - Requested Bud

ludicial Dept letail Revenues & Expenditures - Requested Budget			Version		lumber: 1980	
013-15 Biennium Iandated Payments			Version: V - 01 - Agency Request Budge Cross Reference Number: 19800-200-00-00-0000			
Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget	
4715 IT Expendable Property						
8000 General Fund	36,287	871	37,158	-	37,158	
TOTAL SERVICES & SUPPLIES						
8000 General Fund	9,759,228	250,778	10,010,006	1,476,135	11,486,141	
3400 Other Funds Ltd	475,000	11,400	486,400	-	486,400	
TOTAL SERVICES & SUPPLIES	\$10,234,228	\$262,178	\$10,496,406	\$1,476,135	\$11,972,541	
TOTAL EXPENDITURES						
8000 General Fund	13,880, <mark>1</mark> 01	290,071	14,170,172	1,476,135	15,646,30	
3400 Other Funds Ltd	512,519	13,486	526,005	-	526,005	
TOTAL EXPENDITURES	\$14,392,620	\$303,557	\$14,696,177	\$1,476,135	\$16,172,312	
ENDING BALANCE						
3400 Other Funds Ltd	97,814	(13,486)	84,328	-	84,328	
AUTHORIZED POSITIONS						
8150 Class/Unclass Positions	23	-	23	-	23	
AUTHORIZED FTE						
8250 Class/Unclass FTE Positions	22.31	-	22.31	-	22.3	

11/15/12 8:52 AM BDV002A - Detail Revenues & Expenditures - Requested Budget BDV002A

Judicial Dept				Agency	Number: 19800
Detail Revenues & Expenditures - Requested Budget 2013-15 Biennium 3rd Party Debt Collection				-	cy Request Budget 00-210-00-00-00000
Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget
REVENUE CATEGORIES			11		-1
GENERAL FUND APPROPRIATION					
0050 General Fund Appropriation					
8000 General Fund	11,679,729	280,313	11,960,042		- 11,960,042
AVAILABLE REVENUES					
8000 General Fund	11,679,729	280,313	11,960,042		- 11,960,042
EXPENDITURES					
SERVICES & SUPPLIES					
4650 Other Services and Supplies					
8000 General Fund	11,679,729	280,313	11,960,042		- 11,960,042

11/15/12 8:52 AM Page 53 of 62

BDV002A - Detail Revenues & Expenditures - Requested Budget BDV002A

Detail Revenues & Expenditures - Requested Budget 2013-15 Biennium External Pass-Throughs			Version: V - 01 - Agency Request Budg Cross Reference Number: 19800-220-00-000(
Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget	
REVENUE CATEGORIES			1 1			
GENERAL FUND APPROPRIATION						
0050 General Fund Appropriation						
8000 General Fund	14,552,100	349,250	14,901,350		- 14,901,350	
AVAILABLE REVENUES						
8000 General Fund	14,552,100	349,250	14,901,350		- 14,901,350	
EXPENDITURES						
SPECIAL PAYMENTS						
6020 Dist to Counties						
8000 General Fund	14,282,000	342,768	14,624,768		- 14,624,768	
6025 Dist to Other Gov Unit						
3400 Other Funds Ltd	77,860	(77,860)	-			
6030 Dist to Non-Gov Units						
8000 General Fund	270,100	6,482	276,582		- 276,582	
TOTAL SPECIAL PAYMENTS						
8000 General Fund	14,552,100	349,250	14,901,350		- 14,901,350	
3400 Other Funds Ltd	77,860	(77,860)	-			
TOTAL SPECIAL PAYMENTS	\$14,629,960	\$271,390	\$14,901,350		- \$14,901,350	
ENDING BALANCE						
3400 Other Funds Ltd	(77,860)	77,860	-			

11/15/12 8:52 AM Page 54 of 62

BDV002A - Detail Revenues & Expenditures - Requested Budget BDV002A

2013-15 Chief Justice's Recommended Budget

					Number: 1980 cy Request Budge 00-400-00-00-0000
Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget
REVENUE CATEGORIES			I I_		
GENERAL FUND APPROPRIATION					
0050 General Fund Appropriation					
8000 General Fund	-	817,678	817,678		- 817,678
TRANSFERS IN					
1150 Tsfr From Revenue, Dept of					
3400 Other Funds Ltd	13,124,285	-	13,124,285		- 13,124,285
TOTAL REVENUES					
8000 General Fund	-	817,678	817,678		- 817,678
3400 Other Funds Ltd	13,124,285	-	13,124,285		- 13,124,285
TOTAL REVENUES	\$13,124,285	\$817,678	\$13,941,963		- \$13,941,963
AVAILABLE REVENUES					
8000 General Fund	-	817,678	817,678		- 817,678
3400 Other Funds Ltd	13,124,285	-	13,124,285		- 13,124,285
TOTAL AVAILABLE REVENUES	\$13,124,285	\$817,678	\$13,941,963		- \$13,941,963
EXPENDITURES					
PERSONAL SERVICES					
SALARIES & WAGES					
3110 Class/Unclass Sal. and Per Diem					
8000 General Fund	-	509,040	509,040		- 509,040
3400 Other Funds Ltd	509,040	(509,040)	-		
All Funds	509,040	-	509,040		- 509,040
OTHER PAYROLL EXPENSES					
1/15/12 :52 AM	Page 55 of 62		BDV002A - Detail Reve	nues & Expenditu	res - Requested Budge

Version: V - 01 - Agency Request Budget Detail Revenues & Expenditures - Requested Budget Cross Reference Number: 19800-400-00-00000 2013-15 Biennium State Court Facilities Security Account 2013-15 Base Essential 2013-15 Policy 2013-15 Agency Description Budget Packages **Current Service** Packages Request Level Budget 3210 Empl. Rel. Bd. Assessments 160 160 8000 General Fund 160 _ 3400 Other Funds Ltd 160 (160) --All Funds 160 160 160 -3220 Public Employees' Retire Cont 100,433 8000 General Fund 100,433 100,433 -100,433 (100, 433)3400 Other Funds Ltd All Funds 100,433 100,433 100,433 -3221 Pension Obligation Bond 8000 General Fund 30,759 30,759 30,759 _ 3400 Other Funds Ltd 37,098 (37,098)All Funds 37.098 (6, 339)30.759 30,759 3230 Social Security Taxes 8000 General Fund 38,942 38.942 38,942 3400 Other Funds Ltd 38,942 (38, 942)_ _ 38,942 38,942 All Funds 38,942 _ 3250 Worker's Comp. Assess. (WCD) 8000 General Fund 236 236 236 -236 (236)3400 Other Funds Ltd _ -All Funds 236 -236 236 3260 Mass Transit Tax 8000 General Fund 2,988 2.988 2,988 3400 Other Funds Ltd 3,935 (3, 935)Page 56 of 62 11/15/12 BDV002A - Detail Revenues & Expenditures - Requested Budget

8:52 AM

Judicial Dept

Agency Number: 19800

BDV002A

Judicial Dept

Agency Number: 19800

Detail Revenues & Expenditures - Requested Budget 2013-15 Biennium State Court Facilities Security Account

Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget
All Funds	3,935	(947)	2,988		- 2,988
3270 Flexible Benefits					
8000 General Fund	-	135,120	135,120		- 135,120
3400 Other Funds Ltd	135,120	(135,120)	-		
All Funds	135,120	-	135,120		- 135,120
TOTAL OTHER PAYROLL EXPENSES					
8000 General Fund	-	308,638	308,638		- 308,638
3400 Other Funds Ltd	315,924	(315,924)	-		
TOTAL OTHER PAYROLL EXPENSES	\$315,924	(\$7,286)	\$308,638		- \$308,638
TOTAL PERSONAL SERVICES					
8000 General Fund	-	817,678	817,678		- 817,678
3400 Other Funds Ltd	824,964	(824,964)	-		
TOTAL PERSONAL SERVICES	\$824,964	(\$7,286)	\$817,678		- \$817,678
SERVICES & SUPPLIES					
4300 Professional Services					
3400 Other Funds Ltd	-	-	-	787,487	7 787,487
4315 IT Professional Services					
3400 Other Funds Ltd	2,298,116	64,347	2,362,463		- 2,362,463
TOTAL SERVICES & SUPPLIES					
3400 Other Funds Ltd	2,298,116	64,347	2,362,463	787,487	3,149,950
CAPITAL OUTLAY					
5550 Data Processing Software					
3400 Other Funds Ltd	8,598	206	8,804		- 8,804
5/12	Page 57 of 62		BDV002A - Detail Reve	enues & Expenditur	es - Requested Budg

Detail Revenues & Expenditures - Requested Budget 2013-15 Biennium State Court Facilities Security Account			Version: V - 01 - Agency Request Budg Cross Reference Number: 19800-400-00-00-0000			
Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget	
5800 Professional Services			1		I	
3400 Other Funds Ltd	-	-	-	3,545,858	3,545,858	
TOTAL CAPITAL OUTLAY						
3400 Other Funds Ltd	8,598	206	8,804	3,545,858	3,554,662	
SPECIAL PAYMENTS						
6020 Dist to Counties						
3400 Other Funds Ltd	4,701,909	1,717,764	6,419,673	-	6,419,673	
TOTAL EXPENDITURES						
8000 General Fund	-	817,678	817,678	-	817,678	
3400 Other Funds Ltd	7,833,587	957,353	8,790,940	4,333,345	13,124,285	
TOTAL EXPENDITURES	\$7,833,587	\$1,775,031	\$9,608,618	\$4,333,345	\$13,941,963	
ENDING BALANCE						
3400 Other Funds Ltd	5,290,698	(957,353)	4,333,345	(4,333,345)	-	
AUTHORIZED POSITIONS						
8150 Class/Unclass Positions	4	-	4	-	4	
AUTHORIZED FTE						
8250 Class/Unclass FTE Positions	4.00	-	4.00	-	4.00	

11/15/12 8:52 AM

Judicial Dept

Page 58 of 62

BDV002A - Detail Revenues & Expenditures - Requested Budget BDV002A

Agency Number: 19800

Detail Revenues & Expenditures - Requested Budget 2013-15 Biennium eCourt Program			Version: V - 01 - Agency Request Budge Cross Reference Number: 19800-500-00-00-000			
Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget	
BEGINNING BALANCE			11			
0025 Beginning Balance						
3400 Other Funds Ltd	173,467	-	173,467	-	173,467	
0030 Beginning Balance Adjustment						
3400 Other Funds Ltd	(173,467)	-	(173,467)	-	(173,467)	
TOTAL BEGINNING BALANCE						
3400 Other Funds Ltd	-	-	-	-		
REVENUE CATEGORIES						
GENERAL FUND APPROPRIATION						
0050 General Fund Appropriation						
8000 General Fund	1,906,357	51,524	1,957,881	-	1,957,881	
BOND SALES						
0555 General Fund Obligation Bonds						
3400 Other Funds Ltd	-	-	-	24,324,682	24,324,682	
TOTAL REVENUES						
8000 General Fund	1,906,357	51,524	1,957,881	-	1,957,881	
3400 Other Funds Ltd	-	-	-	24,324,682	24,324,682	
TOTAL REVENUES	\$1,906,357	\$51,524	\$1,957,881	\$24,324,682	\$26,282,563	
AVAILABLE REVENUES						
8000 General Fund	1,906,357	51,524	1,957,881	-	1,957,881	
3400 Other Funds Ltd	-	-	-	24,324,682	24,324,682	
TOTAL AVAILABLE REVENUES	\$1,906,357	\$51,524	\$1,957,881	\$24,324,682	\$26,282,563	
EXPENDITURES						
1/15/12	Page 59 of 62		BDV002A - Detail Reve	nues & Expenditure	es - Requested Budge BDV002	

ail Revenues & Expenditures - Requested Budget 3-15 Biennium urt Program		Version: V - 01 - Agency Request Bo Cross Reference Number: 19800-500-00-00-0				
Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agend Request Budget	
PERSONAL SERVICES					<u> </u>	
SALARIES & WAGES						
3110 Class/Unclass Sal. and Per Diem						
3400 Other Funds Ltd	-			5,298,473	5,298,4	
OTHER PAYROLL EXPENSES						
3210 Empl. Rel. Bd. Assessments						
3400 Other Funds Ltd	-			1,558	1,5	
3220 Public Employees' Retire Cont						
3400 Other Funds Ltd	-			1,045,390	1,045,3	
3230 Social Security Taxes						
3400 Other Funds Ltd	-			405,334	405,3	
3250 Worker's Comp. Assess. (WCD)						
3400 Other Funds Ltd	-			2,297	2,2	
3270 Flexible Benefits						
3400 Other Funds Ltd	-			1,349,205	1,349,2	
3280 Other OPE						
3400 Other Funds Ltd	-			671,046	671,0	
TOTAL OTHER PAYROLL EXPENSES						
3400 Other Funds Ltd	-			3,474,830	3,474,8	
TOTAL PERSONAL SERVICES						
3400 Other Funds Ltd	-			8,773,303	8,773,3	
SERVICES & SUPPLIES						
4100 Instate Travel						
/12	Page 60 of 62		BDV002A - Detail Reve	enues & Expenditure	s - Requested Bur	

Judicial Dept

Agency Number: 19800

Detail Revenues & Expenditures - Requested Budget
2013-15 Biennium
eCourt Program

	Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agenc Request Budget
3	3400 Other Funds Ltd	-	-	-	549,656	549,65
4150 E	Employee Training					
3	3400 Other Funds Ltd	-	-	-	24,000	24,00
4175 C	Office Expenses					
3	3400 Other Funds Ltd	-	-	-	125,664	125,66
4200 T	Felecommunications					
3	3400 Other Funds Ltd	-	-	-	16,800	16,80
4250 E	Data Processing					
8	3000 General Fund	463,485	11,124	474,609	-	474,60
4300 F	Professional Services					
3	3400 Other Funds Ltd	-	-	-	60,000	60,0
4315 ľ	T Professional Services					
8	3000 General Fund	1,442,872	40,400	1,483,272	-	1,483,2
3	3400 Other Funds Ltd	924,524	(924,524)	-	9,231,143	9,231,1
A	All Funds	2,367,396	(884,124)	1,483,272	9,231,143	10,714,4
4425 F	Facilities Rental and Taxes					
3	3400 Other Funds Ltd	-	-	-	789,652	789,6
4650 0	Other Services and Supplies					
3	3400 Other Funds Ltd	23,391,369	(23,391,369)	-	-	
4715 ľ	T Expendable Property					
3	3400 Other Funds Ltd	-	-	-	1,617,583	1,617,58
TOTAL	SERVICES & SUPPLIES					
8	3000 General Fund	1,906,357	51,524	1,957,881	-	1,957,8
12 M		Page 61 of 62		BDV002A - Detail Reve	nues & Expenditure	s - Requested Bud BDV0

Judicial Dept	dicial Dept ail Revenues & Expenditures - Requested Budget					
2013-15 Biennium Court Program			Version: V - 01 - Agency Request Budge Cross Reference Number: 19800-500-00-00-00000			
Description	2013-15 Base Budget	Essential Packages	2013-15 Current Service Level	Policy Packages	2013-15 Agency Request Budget	
3400 Other Funds Ltd	24,315,893	(24,315,893)	-	12,414,498	12,414,498	
TOTAL SERVICES & SUPPLIES	\$26,222,250	(\$24,264,369)	\$1,957,881	\$12,414,498	\$14,372,379	
CAPITAL OUTLAY						
5550 Data Processing Software						
3400 Other Funds Ltd	2,600,000	(2,600,000)	-	3,136,881	3,136,881	
5600 Data Processing Hardware						
3400 Other Funds Ltd	400,000	(400,000)	-	-	-	
TOTAL CAPITAL OUTLAY						
3400 Other Funds Ltd	3,000,000	(3,000,000)	-	3,136,881	3,136,881	
TOTAL EXPENDITURES						
8000 General Fund	1,906,357	51,524	1,957,881	-	1,957,881	
3400 Other Funds Ltd	27,315,893	(27,315,893)	-	24,324,682	24,324,682	
TOTAL EXPENDITURES	\$29,222,250	(\$27,264,369)	\$1,957,881	\$24,324,682	\$26,282,563	
ENDING BALANCE						
3400 Other Funds Ltd	(27,315,893)	27,315,893	-	-	-	
AUTHORIZED POSITIONS						
8150 Class/Unclass Positions	-	-	-	40	40	
AUTHORIZED FTE						
8250 Class/Unclass FTE Positions	-	-	-	37.96	37.96	

11/15/12 8:52 AM Page 62 of 62

BDV002A - Detail Revenues & Expenditures - Requested Budget BDV002A

BDV004B – Detail Revenues and Expenditures – Essential Packages (Agency/SCR)

Judicial Dept BDV004B 2013-15 Biennium Judicial Dept		ion: V - 01 - Agency	Agency Number 19800 V - 01 - Agency Request Budget Number: 19800-000-00-00-00000			
Description	Total Essential Packages	Pkg: 010 Non-PICS PsnI Svc / Vacancy Factor	Pkg: 021 Phase-in	Pkg: 022 Phase-out Pgm & One-time Costs	Pkg: 031 Standard Inflation	Pkg: 050 Fundshifts
		Priority: 00	Priority: 00	Priority: 00	Priority: 00	Priority: 00
REVENUE CATEGORIES						
GENERAL FUND APPROPRIATION						
0050 General Fund Appropriation						
8000 General Fund	3,908,828	2,749,742	-	-	341,408	817,678
BOND SALES						
0555 General Fund Obligation Bonds						
3400 Other Funds Ltd	(326,592)	-	-	(326,592)	-	-
REVENUE CATEGORIES						
8000 General Fund	3,908,828	2,749,742	-	-	341,408	817,678
3400 Other Funds Ltd	(326,592)	-	-	(326,592)	-	-
TOTAL REVENUE CATEGORIES	\$3,582,236	\$2,749,742	-	(\$326,592)	\$341,408	\$817,678
AVAILABLE REVENUES						
8000 General Fund	3,908,828	2,749,742	-	-	341,408	817,678
3400 Other Funds Ltd	(326,592)	-	-	(326,592)	-	-
TOTAL AVAILABLE REVENUES	\$3,582,236	\$2,749,742	-	(\$326,592)	\$341,408	\$817,678
EXPENDITURES						
PERSONAL SERVICES						
SALARIES & WAGES						
3110 Class/Unclass Sal. and Per Diem						
8000 General Fund	509,040	-	-	-	-	509,040
3400 Other Funds Ltd	(509,040)	-	-	-	-	(509,040)
All Funds	-	-	-	-	-	-
11/15/12 8:52 AM		Page 1 of 42		Detail R	evenues & Expenditures	- Essential Package BDV004

2013-15 Chief Justice's Recommended Budget

BDV004B 2013-15 Biennium Jud

Agency Number 19800

Version: V - 01 - Agency Request Budget

Description	Total Essential Packages	Pkg: 010 Non-PICS Psnl Svc / Vacancy Factor	Pkg: 021 Phase-in	Pkg: 022 Phase-out Pgm & One-time Costs	Pkg: 031 Standard Inflation	Pkg: 050 Fundshifts
		Priority: 00	Priority: 00	Priority: 00	Priority: 00	Priority: 00
3160 Temporary Appointments		· · · ·				
8000 General Fund	22,360	22,360	-	-	-	
3400 Other Funds Ltd	5,799	5,799	-	-	-	
6400 Federal Funds Ltd	25	25	-	-	-	
All Funds	28,184	28,184	-	-	-	
3190 All Other Differential						
8000 General Fund	29,230	29,230	-	-	-	
3400 Other Funds Ltd	4,191	4,191	-	-	-	
All Funds	33,421	33,421	-	-	-	
SALARIES & WAGES						
8000 General Fund	560,630	51,590	-	-	-	509,04
3400 Other Funds Ltd	(499,050)	9,990	-	-	-	(509,04
6400 Federal Funds Ltd	25	25	-	-	-	
TOTAL SALARIES & WAGES	\$61,605	\$61,605	-	-	-	
OTHER PAYROLL EXPENSES						
3210 Empl. Rel. Bd. Assessments						
8000 General Fund	160	-	-	-	-	10
3400 Other Funds Ltd	(160)	-	-	-	-	(16
All Funds	-	-	-	-	-	
3220 Public Employees Retire Cont						
8000 General Fund	106,200	5,767	-	-	-	100,4
3400 Other Funds Ltd	(99,606)	827	-	-	-	(100,43
All Funds	6,594	6,594	-	-	-	

BDV004B

BDV004B 2013-15 Biennium Judicial Dept

Agency Number 19800

Description	Total Essential Packages	Pkg: 010 Non-PICS PsnI Svc / Vacancy Factor	Pkg: 021 Phase-in	Pkg: 022 Phase-out Pgm & One-time Costs	Pkg: 031 Standard Inflation	Pkg: 050 Fundshifts
		Priority: 00	Priority: 00	Priority: 00	Priority: 00	Priority: 00
3221 Pension Obligation Bond						
8000 General Fund	2,338,743	2,307,984	-	-	-	30,75
3400 Other Funds Ltd	(639,779)	(609,020)	-	-	-	(30,759
6400 Federal Funds Ltd	704	704	-	-	-	
All Funds	1,699,668	1,699,668	-	-	-	
3230 Social Security Taxes						
8000 General Fund	42,891	3,949	-	-	-	38,94
3400 Other Funds Ltd	(38,178)	764	-	-	-	(38,942
6400 Federal Funds Ltd	2	2	-	-	-	
All Funds	4,715	4,715	-	-	-	
3240 Unemployment Assessments						
8000 General Fund	16,670	16,670	-	-	-	
3250 Workers Comp. Assess. (WCD)						
8000 General Fund	236	-	-	-	-	23
3400 Other Funds Ltd	(236)	-	-	-	-	(230
All Funds	-	-	-	-	-	
3260 Mass Transit Tax						
8000 General Fund	366,770	363,782	-	-	-	2,98
3400 Other Funds Ltd	(56,769)	(53,781)	-	-	-	(2,988
All Funds	310,001	310,001	-	-	-	
3270 Flexible Benefits						
8000 General Fund	135,120	-	-	-	-	135,12
3400 Other Funds Ltd	(135,120)	-	-	-	-	(135,120
;/12 AM		Page 3 of 42		Detail R	evenues & Expenditure	es - Essential Packag BDV00

2013-15 Biennium Cross Reference Number: 19800-000-00-00-00000 Judicial Dept Pkg: 010 Pkg: 021 Pkg: 031 Pkg: 050 Pkg: 022 Non-PICS Psnl Svc Phase-out Pgm & Fundshifts Total Essential Phase-in Standard Inflation One-time Costs Packages Vacancy Factor Description Priority: 00 Priority: 00 Priority: 00 Priority: 00 Priority: 00 All Funds _ OTHER PAYROLL EXPENSES 8000 General Fund 3,006,790 2,698,152 308,638 3400 Other Funds Ltd (969,848) (661,210) (308,638) 6400 Federal Funds Ltd 706 706 TOTAL OTHER PAYROLL EXPENSES \$2,037,648 \$2,037,648 --. PERSONAL SERVICES 8000 General Fund 3,567,420 2,749,742 817,678 3400 Other Funds Ltd (1.468.898)(651, 220)(817,678) 6400 Federal Funds Ltd 731 731 TOTAL PERSONAL SERVICES \$2,099,253 \$2,099,253 . . . **SERVICES & SUPPLIES** 4100 Instate Travel 12,917 12,917 8000 General Fund 3400 Other Funds Ltd 1,122 1,122 6400 Federal Funds Ltd 984 984 All Funds 15,023 15,023 4125 Out of State Travel 8000 General Fund 874 874 3400 Other Funds Ltd 17 17 6400 Federal Funds Ltd 1 1 All Funds 892 892 11/15/12 Page 4 of 42 Detail Revenues & Expenditures - Essential Packages

8:52 AM

Judicial Dept BDV004B

BDV004B

Agency Number 19800

Version: V - 01 - Agency Request Budget

BDV004B 2013-15 Biennium Judicial Dept

Agency Number 19800

Description	Total Essential Packages	Pkg: 010 Non-PICS Psnl Svc / Vacancy Factor	Pkg: 021 Phase-in	Pkg: 022 Phase-out Pgm & One-time Costs	Pkg: 031 Standard Inflation	Pkg: 050 Fundshifts
		Priority: 00	Priority: 00	Priority: 00	Priority: 00	Priority: 00
4150 Employee Training						
8000 General Fund	12,184	-	-	-	12,184	
3400 Other Funds Ltd	2,570	-	-	-	2,570	
6400 Federal Funds Ltd	1,267	-	-	-	1,267	
All Funds	16,021	-	-	-	16,021	
4175 Office Expenses						
8000 General Fund	180,475	-	-	-	180,475	
3400 Other Funds Ltd	19,224	-	-	-	19,224	
6400 Federal Funds Ltd	436	-	-	-	436	
All Funds	200,135	-	-	-	200,135	
4200 Telecommunications						
8000 General Fund	78,402	-	-	-	78,402	
3400 Other Funds Ltd	784	-	-	-	784	
6400 Federal Funds Ltd	96	-	-	-	96	
All Funds	79,282	-	-	-	79,282	
4225 State Gov. Service Charges						
8000 General Fund	(1,309,581)	-	-	-	(1,309,581)	
4250 Data Processing						
8000 General Fund	43,608	-	-	-	43,608	
3400 Other Funds Ltd	469	-	-	-	469	
6400 Federal Funds Ltd	14	-	-	-	14	
All Funds	44,091	-	-	-	44,091	
4275 Publicity and Publications						
/12 AM		Page 5 of 42		Detail R	evenues & Expenditure	s - Essential Packa BDV0

BDV004B 2013-15 Biennium Judicial Dept

Agency Number 19800

Description	Total Essential Packages	Pkg: 010 Non-PICS Psnl Svc / Vacancy Factor	Pkg: 021 Phase-in	Pkg: 022 Phase-out Pgm & One-time Costs	Pkg: 031 Standard Inflation	Pkg: 050 Fundshifts
		Priority: 00	Priority: 00	Priority: 00	Priority: 00	Priority: 00
3400 Other Funds Ltd	701	-	-	-	701	
4300 Professional Services						
8000 General Fund	138,906	-	-	-	138,906	
3400 Other Funds Ltd	1,484	-	-	-	1,484	
6400 Federal Funds Ltd	5,887	-	-	-	5,887	
All Funds	146,277	-	-	-	146,277	
4315 IT Professional Services						
8000 General Fund	50,203	-	-	-	50,203	
3400 Other Funds Ltd	(860,177)	-	-	(924,524)	64,347	
6400 Federal Funds Ltd	5,437	-	-	-	5,437	
All Funds	(804,537)	-	-	(924,524)	119,987	
4325 Attorney General						
8000 General Fund	24,754	-	-	-	24,754	
4375 Employee Recruitment and Develop						
8000 General Fund	2,971	-	-	-	2,971	
3400 Other Funds Ltd	42	-	-	-	42	
6400 Federal Funds Ltd	10	-	-	-	10	
All Funds	3,023	-	-	-	3,023	
4400 Dues and Subscriptions						
8000 General Fund	31,823	-	-	-	31,823	
3400 Other Funds Ltd	189	-	-	-	189	
6400 Federal Funds Ltd	46	-	-	-	46	
All Funds	32,058		-	-	32,058	

BDV004B 2013-15 Biennium Judicial Dept

Agency Number 19800

Description	Total Essential Packages	Pkg: 010 Non-PICS PsnI Svc / Vacancy Factor	Pkg: 021 Phase-in	Pkg: 022 Phase-out Pgm & One-time Costs	Pkg: 031 Standard Inflation	Pkg: 050 Fundshifts
		Priority: 00	Priority: 00	Priority: 00	Priority: 00	Priority: 00
4425 Facilities Rental and Taxes						
8000 General Fund	169,703	-	-	-	169,703	
4450 Fuels and Utilities						
8000 General Fund	5,884	-	-	-	5,884	
3400 Other Funds Ltd	4	-	-	-	4	
6400 Federal Funds Ltd	1	-	-	-	1	
All Funds	5,889	-	-	-	5,889	
4475 Facilities Maintenance						
8000 General Fund	4,463	-	-	-	4,463	
3400 Other Funds Ltd	11	-	-	-	11	
6400 Federal Funds Ltd	3	-	-	-	3	
All Funds	4,477	-	-	-	4,477	
4575 Agency Program Related S and S						
8000 General Fund	160,560	-	-	-	160,560	
3400 Other Funds Ltd	11,425	-	-	-	11,425	
6400 Federal Funds Ltd	7	-	-	-	7	
All Funds	171,992	-	-	-	171,992	
4625 Other COP Costs						
3400 Other Funds Ltd	(326,592)	-	-	(326,592)	-	
4650 Other Services and Supplies						
8000 General Fund	287,797	-	-	-	287,797	
3400 Other Funds Ltd	(23,391,346)	-	-	(23,391,369)	23	
6400 Federal Funds Ltd	14	-	-	-	14	
5/12 AM	14	Page 7 of 42		- Detail R	14 evenues & Expenditure	es - Essential P E

BDV004B 2013-15 Biennium Judicial Dept

Agency Number 19800

Description	Total Essential Packages	Pkg: 010 Non-PICS PsnI Svc / Vacancy Factor	Pkg: 021 Phase-in	Pkg: 022 Phase-out Pgm & One-time Costs	Pkg: 031 Standard Inflation	Pkg: 050 Fundshifts
		Priority: 00	Priority: 00	Priority: 00	Priority: 00	Priority: 00
All Funds	(23,103,535)	-	-	(23,391,369)	287,834	-
4700 Expendable Prop 250 - 5000						
8000 General Fund	29,628	-	-	-	29,628	-
3400 Other Funds Ltd	6,536	-	-	-	6,536	-
6400 Federal Funds Ltd	136	-	-	-	136	-
All Funds	36,300	-	-	-	36,300	-
4715 IT Expendable Property						
8000 General Fund	11,404	-	-	-	11,404	-
3400 Other Funds Ltd	10,408	-	-	-	10,408	-
6400 Federal Funds Ltd	81	-	-	-	81	-
All Funds	21,893	-	-	-	21,893	-
SERVICES & SUPPLIES						
8000 General Fund	(63,025)	-	-	-	(63,025)	-
3400 Other Funds Ltd	(24,523,129)	-	-	(24,642,485)	119,356	-
6400 Federal Funds Ltd	14,420	-	-	-	14,420	-
TOTAL SERVICES & SUPPLIES	(\$24,571,734)	-	-	(\$24,642,485)	\$70,751	-
CAPITAL OUTLAY						
5100 Office Furniture and Fixtures						
8000 General Fund	2,048	-	-	-	2,048	-
3400 Other Funds Ltd	212	-	-	-	212	-
All Funds	2,260	-	-	-	2,260	-
5550 Data Processing Software						
3400 Other Funds Ltd	(2,599,794)	-	-	(2,600,000)	206	-
11/15/12 8:52 AM		Page 8 of 42		Detail R	evenues & Expenditure	s - Essential Packages BDV004B

BDV004B 2013-15 Biennium Judicial Dept

Agency Number 19800

Version: V - 01 - Agency Request Budget

Cross Reference Number: 19800-000-00-00-00000

Description	Total Essential Packages	Pkg: 010 Non-PICS PsnI Svc / Vacancy Factor	Pkg: 021 Phase-in	Pkg: 022 Phase-out Pgm & One-time Costs	Pkg: 031 Standard Inflation	Pkg: 050 Fundshifts
		Priority: 00	Priority: 00	Priority: 00	Priority: 00	Priority: 00
5600 Data Processing Hardware						
8000 General Fund	53,135	-	-	-	53,135	
3400 Other Funds Ltd	(387,634)	-	-	(400,000)	12,366	
All Funds	(334,499)	-	-	(400,000)	65,501	
5900 Other Capital Outlay						
3010 Other Funds Cap Improvement	(97,460)	-	-	(97,460)	-	
CAPITAL OUTLAY						
8000 General Fund	55,183	-	-	-	55,183	
3010 Other Funds Cap Improvement	(97,460)	-	-	(97,460)	-	
3400 Other Funds Ltd	(2,987,216)	-	-	(3,000,000)	12,784	
TOTAL CAPITAL OUTLAY	(\$3,029,493)	-	-	(\$3,097,460)	\$67,967	
SPECIAL PAYMENTS						
6020 Dist to Counties						
8000 General Fund	342,768	-	-	-	342,768	
3400 Other Funds Ltd	1,717,764	-	1,567,303	-	150,461	
All Funds	2,060,532	-	1,567,303	-	493,229	
6025 Dist to Other Gov Unit						
3400 Other Funds Ltd	(77,860)	-	-	(77,860)	-	
6030 Dist to Non-Gov Units						
8000 General Fund	6,482	-	-	-	6,482	
SPECIAL PAYMENTS						
8000 General Fund	349,250	-	-	-	349,250	
3400 Other Funds Ltd	1,639,904	-	1,567,303	(77,860)	150,461	

BDV004B		ion: V - 01 - Agency				
2013-15 Biennium Judicial Dept				Cross Refere	nce Number: 19800	-000-00-00-00000
Description	Total Essential Packages	Pkg: 010 Non-PICS PsnI Svc / Vacancy Factor	Pkg: 021 Phase-in	Pkg: 022 Phase-out Pgm & One-time Costs	Pkg: 031 Standard Inflation	Pkg: 050 Fundshifts
		Priority: 00	Priority: 00	Priority: 00	Priority: 00	Priority: 00
TOTAL SPECIAL PAYMENTS	\$1,989,154	-	\$1,567,303	(\$77,860)	\$499,711	-
EXPENDITURES						
8000 General Fund	3,908,828	2,749,742	-	-	341,408	817,678
3010 Other Funds Cap Improvement	(97,460)	-	-	(97,460)	-	-
3400 Other Funds Ltd	(27,339,339)	(651,220)	1,567,303	(27,720,345)	282,601	(817,678)
6400 Federal Funds Ltd	15,151	731	-	-	14,420	-
TOTAL EXPENDITURES	(\$23,512,820)	\$2,099,253	\$1,567,303	(\$27,817,805)	\$638,429	-
ENDING BALANCE						
8000 General Fund	-	-	-	-	-	-
3010 Other Funds Cap Improvement	97,460	-	-	97,460	-	-
3400 Other Funds Ltd	27,012,747	651,220	(1,567,303)	27,393,753	(282,601)	817,678
6400 Federal Funds Ltd	(15,151)	(731)	-	-	(14,420)	-
TOTAL ENDING BALANCE	\$27,095,056	\$650,489	(\$1,567,303)	\$27,491,213	(\$297,021)	\$817,678

11/15/12 8:52 AM

Judicial Dept

Page 10 of 42

Detail Revenues & Expenditures - Essential Packages BDV004B

Agency Number 19800

Judicial Dept			Agency Number 19800		
BDV004B 2013-15 Biennium Judicial Compensation			Version: V - 01 - Agency Request Bu Cross Reference Number: 19800-010-00-00		
Description	Total Essential Packages	Pkg: 010 Non-PICS Psnl Svc / Vacancy Factor			
		Priority: 00			
REVENUE CATEGORIES					
GENERAL FUND APPROPRIATION					
0050 General Fund Appropriation					
8000 General Fund	188,788	188,788			
AVAILABLE REVENUES					
8000 General Fund	188,788	188,788			
TOTAL AVAILABLE REVENUES	\$188,788	\$188,788			
EXPENDITURES					
PERSONAL SERVICES					
OTHER PAYROLL EXPENSES					
3260 Mass Transit Tax					
8000 General Fund	188,788	188,788			
ENDING BALANCE					
8000 General Fund	-	-			
TOTAL ENDING BALANCE	-	-			

11/15/12 8:52 AM Page 11 of 42

Detail Revenues & Expenditures - Essential Packages BDV004B

Judicial Dept		Agency Number 19800	
BDV004B 2013-15 Biennium eCourt Debt Service			Version: V - 01 - Agency Request Budget Cross Reference Number: 19800-087-00-00-00000
Description	Total Essential Packages	Pkg: 022 Phase-out Pgm & One-time Costs	
		Priority: 00	
REVENUE CATEGORIES	·		
BOND SALES			
0555 General Fund Obligation Bonds			
3400 Other Funds Ltd	(326,592)	(326,592)	
AVAILABLE REVENUES			
3400 Other Funds Ltd	(326,592)	(326,592)	
TOTAL AVAILABLE REVENUES	(\$326,592)	(\$326,592)	
EXPENDITURES			
SERVICES & SUPPLIES			
4625 Other COP Costs			
3400 Other Funds Ltd	(326,592)	(326,592)	
ENDING BALANCE			
3400 Other Funds Ltd	-	-	
TOTAL ENDING BALANCE	-	-	

11/15/12 8:52 AM Page 12 of 42

Detail Revenues & Expenditures - Essential Packages BDV004B

3DV004B 2013-15 Biennium Trial Courts				Version: V - 01 - Agency Request Budge Cross Reference Number: 19800-100-00-00-0000
Description	Total Essential Packages	Pkg: 010 Non-PICS Psnl Svc / Vacancy Factor	Pkg: 031 Standard Inflation	
		Priority: 00	Priority: 00	
REVENUE CATEGORIES				
GENERAL FUND APPROPRIATION				
0050 General Fund Appropriation				
8000 General Fund	2,050,110	1,784,672	265,438	
AVAILABLE REVENUES				
8000 General Fund	2,050,110	1,784,672	265,438	
TOTAL AVAILABLE REVENUES	\$2,050,110	\$1,784,672	\$265,438	
EXPENDITURES				
PERSONAL SERVICES				
SALARIES & WAGES				
3160 Temporary Appointments				
8000 General Fund	295	295	-	
3400 Other Funds Ltd	5,116	5,116	-	
All Funds	5,411	5,411	-	
3190 All Other Differential				
8000 General Fund	18,961	18,961	-	
3400 Other Funds Ltd	1,983	1,983	-	
All Funds	20,944	20,944	-	
SALARIES & WAGES				
8000 General Fund	19,256	19,256	-	
3400 Other Funds Ltd	7,099	7,099	-	
TOTAL SALARIES & WAGES	\$26,355	\$26,355	-	

Agency Number 19800

BDV004B Version: V - 01 - Agency Request Budget Cross Reference Number: 19800-100-00-00000 2013-15 Biennium Trial Courts Pkg: 010 Pkg: 031 Non-PICS Psnl Svc Standard Inflation Total Essential Packages Vacancy Factor Description Priority: 00 Priority: 00 OTHER PAYROLL EXPENSES 3220 Public Employees Retire Cont 3,741 8000 General Fund 3,741 3400 Other Funds Ltd 391 391 All Funds 4,132 4,132 3221 Pension Obligation Bond 8000 General Fund 1,644,447 1,644,447 3400 Other Funds Ltd (545,650) (545,650) All Funds 1,098,797 1,098,797 3230 Social Security Taxes 8000 General Fund 1,474 1,474 3400 Other Funds Ltd 543 543 All Funds 2,017 2,017 3260 Mass Transit Tax 8000 General Fund 115,754 115,754 3400 Other Funds Ltd (34,983) (34, 983)All Funds 80,771 80,771 OTHER PAYROLL EXPENSES 8000 General Fund 1,765,416 1,765,416 3400 Other Funds Ltd (579,699) (579,699) -TOTAL OTHER PAYROLL EXPENSES \$1,185,717 \$1,185,717 -PERSONAL SERVICES 8000 General Fund 1,784,672 1,784,672 11/15/12 Page 14 of 42 Detail Revenues & Expenditures - Essential Packages 8:52 AM BDV004B

Judicial Dept

2013-15 Chief Justice's Recommended Budget

V004B 3-15 Biennium al Courts				Version: V - 01 - Agency Request Budg Cross Reference Number: 19800-100-00-000
Description	Total Essential Packages	Pkg: 010 Non-PICS Psnl Svc / Vacancy Factor	Pkg: 031 Standard Inflation	
		Priority: 00	Priority: 00	
3400 Other Funds Ltd	(572,600)	(572,600)	-	
OTAL PERSONAL SERVICES	\$1,212,072	\$1,212,072	-	
ERVICES & SUPPLIES				
4100 Instate Travel				
8000 General Fund	10,193	-	10,193	
3400 Other Funds Ltd	685	-	685	
All Funds	10,878	-	10,878	
4125 Out of State Travel				
8000 General Fund	244	-	244	
3400 Other Funds Ltd	7	-	7	
All Funds	251	-	251	
4150 Employee Training				
8000 General Fund	8,528	-	8,528	
3400 Other Funds Ltd	457	-	457	
All Funds	8,985	-	8,985	
4175 Office Expenses				
8000 General Fund	130,515	-	130,515	
3400 Other Funds Ltd	19,224	-	19,224	
All Funds	149,739	-	149,739	
4200 Telecommunications				
8000 General Fund	40,655	-	40,655	
3400 Other Funds Ltd	784	-	784	
All Funds	41,439	-	41,439	

Judicial Dept

BDV004B 2013-15 Biennium Trial Courts

Agency Number 19800

Description	Total Essential Packages	Pkg: 010 Non-PICS PsnI Svc / Vacancy Factor	Pkg: 031 Standard Inflation	
		Priority: 00	Priority: 00	
4250 Data Processing				
8000 General Fund	3,723	-	3,723	
3400 Other Funds Ltd	49	-	49	
All Funds	3,772	-	3,772	
4300 Professional Services				
8000 General Fund	16,623	-	16,623	
3400 Other Funds Ltd	1,484	-	1,484	
All Funds	18,107	-	18,107	
4375 Employee Recruitment and Develop				
8000 General Fund	2,566	-	2,566	
3400 Other Funds Ltd	42	-	42	
All Funds	2,608	-	2,608	
4400 Dues and Subscriptions				
8000 General Fund	11,698	-	11,698	
3400 Other Funds Ltd	189	-	189	
All Funds	11,887	-	11,887	
4425 Facilities Rental and Taxes				
8000 General Fund	181	-	181	
4450 Fuels and Utilities				
8000 General Fund	302	-	302	
3400 Other Funds Ltd	4	-	4	
All Funds	306	-	306	
4475 Facilities Maintenance				
5/12 AM		Page 16 of 42		Detail Revenues & Expenditures - Essential Package BDV004

Judicial Dept

BDV004B 2013-15 Biennium Trial Courts

Agency Number 19800

5/12 2 AM		Page 17 of 42		Detail F	Revenues & Expenditu	res - Essential Pack BDV
TOTAL SERVICES & SUPPLIES	\$303,318	-	\$303,318			
3400 Other Funds Ltd	39,928	-	39,928			
8000 General Fund	263,390	-	263,390			
SERVICES & SUPPLIES						
All Funds	15,390	-	15,390			
3400 Other Funds Ltd	10,408	-	10,408			
8000 General Fund	4,982	-	4,982			
4715 IT Expendable Property						
All Funds	33,806	-	33,806			
3400 Other Funds Ltd	6,536	-	6,536			
8000 General Fund	27,270	-	27,270			
4700 Expendable Prop 250 - 5000						
All Funds	3,621	-	3,621			
3400 Other Funds Ltd	23	-	23			
8000 General Fund	3,598	-	3,598			
4650 Other Services and Supplies	.,		,			
All Funds	1,481	-	1,481			
3400 Other Funds Ltd	25	-	25			
8000 General Fund	1,456	-	1,456			
4575 Agency Program Related S and S			001			
All Funds	867	-	867			
3400 Other Funds Ltd	11	_	11			
8000 General Fund	856	-	856			
		Priority: 00	Priority: 00			
Description	Total Essential Packages	Non-PICS PsnI Svc / Vacancy Factor	Standard Inflation			
		Pkg: 010	Pkg: 031			

BDV004B 2013-15 Biennium Trial Courts				Version: V - 01 - Agency Request Budget Cross Reference Number: 19800-100-00-00-00000
Description	Total Essential Packages	Pkg: 010 Non-PICS PsnI Svc / Vacancy Factor	Pkg: 031 Standard Inflation	
		Priority: 00	Priority: 00	
CAPITAL OUTLAY				
5100 Office Furniture and Fixtures				
8000 General Fund	2,048	-	2,048	
3400 Other Funds Ltd	212	-	212	
All Funds	2,260	-	2,260	
EXPENDITURES				
8000 General Fund	2,050,110	1,784,672	265,438	
3400 Other Funds Ltd	(532,460)	(572,600)	40,140	
TOTAL EXPENDITURES	\$1,517,650	\$1,212,072	\$305,578	
ENDING BALANCE				
8000 General Fund	-	-	-	
3400 Other Funds Ltd	532,460	572,600	(40,140)	
TOTAL ENDING BALANCE	\$532,460	\$572,600	(\$40,140)	

11/15/12 8:52 AM

Judicial Dept

Page 18 of 42

Detail Revenues & Expenditures - Essential Packages BDV004B

Agency Number 19800

0V004B 13-15 Biennium opellate/Tax Courts				Version: V - 01 - Agency Request Budge Cross Reference Number: 19800-101-00-00-0000
Description	Total Essential Packages	Pkg: 010 Non-PICS PsnI Svc / Vacancy Factor	Pkg: 031 Standard Inflation	
		Priority: 00	Priority: 00	
REVENUE CATEGORIES	·			· · ·
GENERAL FUND APPROPRIATION				
0050 General Fund Appropriation				
8000 General Fund	403,492	368,966	34,526	
AVAILABLE REVENUES				
8000 General Fund	403,492	368,966	34,526	
TOTAL AVAILABLE REVENUES	\$403,492	\$368,966	\$34,526	
EXPENDITURES				
PERSONAL SERVICES				
SALARIES & WAGES				
3160 Temporary Appointments				
8000 General Fund	11,417	11,417	-	
3190 All Other Differential				
8000 General Fund	3,203	3,203	-	
SALARIES & WAGES				
8000 General Fund	14,620	14,620	-	
TOTAL SALARIES & WAGES	\$14,620	\$14,620	-	
OTHER PAYROLL EXPENSES				
3220 Public Employees Retire Cont				
8000 General Fund	632	632	-	
3221 Pension Obligation Bond				
8000 General Fund	338,215	338,215	-	
1/15/12 :52 AM		Page 19 of 42		Detail Revenues & Expenditures - Essential Package BDV004

BDV004B 2013-15 Biennium Appellate/Tax Courts

Agency Number 19800

Description	Total Essential Packages	Pkg: 010 Non-PICS PsnI Svc / Vacancy Factor	Pkg: 031 Standard Inflation			
		Priority: 00	Priority: 00			
3400 Other Funds Ltd	37,126	37,126	-			
All Funds	375,341	375,341	-			
3230 Social Security Taxes						
8000 General Fund	1,119	1,119	-			
3260 Mass Transit Tax						
8000 General Fund	14,380	14,380	-			
3400 Other Funds Ltd	(8,746)	(8,746)	-			
All Funds	5,634	5,634	-			
OTHER PAYROLL EXPENSES						
8000 General Fund	354,346	354,346	-			
3400 Other Funds Ltd	28,380	28,380	-			
TOTAL OTHER PAYROLL EXPENSES	\$382,726	\$382,726	-			
PERSONAL SERVICES						
8000 General Fund	368,966	368,966	-			
3400 Other Funds Ltd	28,380	28,380	-			
TOTAL PERSONAL SERVICES	\$397,346	\$397,346	-			
SERVICES & SUPPLIES						
4100 Instate Travel						
8000 General Fund	794	-	794			
4125 Out of State Travel						
8000 General Fund	96	-	96			
4150 Employee Training						
1/15/12 3:52 AM		Page 20 of 42		Detail R	Revenues & Expenditure	es - Essential Package BDV004

Judicial Dept

BDV004B 2013-15 Biennium Appellate/Tax Courts

Agency Number 19800

Description	Total Essential Packages	Pkg: 010 Non-PICS PsnI Svc / Vacancy Factor	Pkg: 031 Standard Inflation			
		Priority: 00	Priority: 00			
8000 General Fund	1,595	-	1,595			
4175 Office Expenses						
8000 General Fund	25,305	-	25,305			
4200 Telecommunications						
8000 General Fund	2,543	-	2,543			
4250 Data Processing						
8000 General Fund	11	-	11			
4300 Professional Services						
8000 General Fund	4	-	4			
4375 Employee Recruitment and Develop						
8000 General Fund	57	-	57			
4400 Dues and Subscriptions						
8000 General Fund	2,381	-	2,381			
4450 Fuels and Utilities						
8000 General Fund	32	-	32			
4475 Facilities Maintenance						
8000 General Fund	7	-	7			
4575 Agency Program Related S and S						
8000 General Fund	2	-	2			
4650 Other Services and Supplies						
8000 General Fund	57	-	57			
4700 Expendable Prop 250 - 5000						
8000 General Fund	1,193	-	1,193			
/15/12 52 AM		Page 21 of 42		Detail Rev	venues & Expenditure	es - Essential Packages BDV004E

Judicial Dept				Agency Number 19800
BDV004B 2013-15 Biennium Appellate/Tax Courts				Version: V - 01 - Agency Request Budge Cross Reference Number: 19800-101-00-00-0000
Description	Total Essential Packages	Pkg: 010 Non-PICS Psnl Svc / Vacancy Factor	Pkg: 031 Standard Inflation	
		Priority: 00	Priority: 00	
4715 IT Expendable Property			·	
8000 General Fund	449	-	449	
SERVICES & SUPPLIES				
8000 General Fund	34,526	-	34,526	
TOTAL SERVICES & SUPPLIES	\$34,526	-	\$34,526	
EXPENDITURES				
8000 General Fund	403,492	368,966	34,526	
3400 Other Funds Ltd	28,380	28,380	-	
TOTAL EXPENDITURES	\$431,872	\$397,346	\$34,526	
ENDING BALANCE				
8000 General Fund	-	-	-	
3400 Other Funds Ltd	(28,380)	(28,380)	-	
TOTAL ENDING BALANCE	(\$28,380)	(\$28,380)	-	

11/15/12 8:52 AM Page 22 of 42

Detail Revenues & Expenditures - Essential Packages BDV004B

Agency Number 19800

BDV004B Version: V - 01 - Agency Request Budget 2013-15 Biennium Cross Reference Number: 19800-102-00-00-00000 Administration and Central Support Pkg: 010 Pkg: 022 Pkg: 031 Non-PICS Psnl Svc/ Phase-out Pgm & Standard Inflation Total Essential One-time Costs Packages Vacancy Factor Description Priority: 00 Priority: 00 Priority: 00 **REVENUE CATEGORIES** GENERAL FUND APPROPRIATION 0050 General Fund Appropriation 8000 General Fund (522,398) 368,023 (890,421) AVAILABLE REVENUES 8000 General Fund (522,398) 368,023 (890,421) -TOTAL AVAILABLE REVENUES \$368,023 (\$522,398) (\$890,421) EXPENDITURES PERSONAL SERVICES SALARIES & WAGES 3160 Temporary Appointments 8000 General Fund 10,648 10,648 3400 Other Funds Ltd 683 683 25 6400 Federal Funds Ltd 25 All Funds 11,356 11,356 3190 All Other Differential 8000 General Fund 6,416 6,416 3400 Other Funds Ltd 2,208 2,208 All Funds 8,624 8,624 SALARIES & WAGES 8000 General Fund 17,064 17,064 3400 Other Funds Ltd 2,891 2,891 6400 Federal Funds Ltd 25 25 11/15/12 Page 23 of 42 Detail Revenues & Expenditures - Essential Packages 8:52 AM BDV004B

Judicial Dept

BDV004B 2013-15 Biennium Administration and Central Support Agency Number 19800

Description	Total Essential Packages	Pkg: 010 Non-PICS Psnl Svc / Vacancy Factor	Pkg: 022 Phase-out Pgm & One-time Costs	Pkg: 031 Standard Inflation	
		Priority: 00	Priority: 00	Priority: 00	
TOTAL SALARIES & WAGES	\$19,980	\$19,980	-	-	
OTHER PAYROLL EXPENSES					
3220 Public Employees Retire Cont					
8000 General Fund	1,266	1,266	-	-	
3400 Other Funds Ltd	436	436	-	-	
All Funds	1,702	1,702	-	-	
3221 Pension Obligation Bond					
8000 General Fund	289,202	289,202	-	-	
3400 Other Funds Ltd	(96,067)	(96,067)	-	-	
6400 Federal Funds Ltd	704	704	-	-	
All Funds	193,839	193,839	-	-	
3230 Social Security Taxes					
8000 General Fund	1,306	1,306	-	-	
3400 Other Funds Ltd	221	221	-	-	
6400 Federal Funds Ltd	2	2	-	-	
All Funds	1,529	1,529	-	-	
3240 Unemployment Assessments					
8000 General Fund	16,670	16,670	-	-	
3260 Mass Transit Tax					
8000 General Fund	42,515	42,515	-	-	
3400 Other Funds Ltd	(9,281)	(9,281)	-	-	
All Funds	33,234	33,234	-	-	
OTHER PAYROLL EXPENSES					
12		Page 24 of 42		Detail Re	evenues & Expenditures - Essential Pa

BDV004B 2013-15 Biennium Administration and Central Support Agency Number 19800

Description	Total Essential Packages	Pkg: 010 Non-PICS PsnI Svc / Vacancy Factor	Pkg: 022 Phase-out Pgm & One-time Costs	Pkg: 031 Standard Inflation	
		Priority: 00	Priority: 00	Priority: 00	
8000 General Fund	350,959	350,959	-	-	
3400 Other Funds Ltd	(104,691)	(104,691)	-	-	
6400 Federal Funds Ltd	706	706	-	-	
TOTAL OTHER PAYROLL EXPENSES	\$246,974	\$246,974	-	-	
PERSONAL SERVICES					
8000 General Fund	368,023	368,023	-	-	
3400 Other Funds Ltd	(101,800)	(101,800)	-	-	
6400 Federal Funds Ltd	731	731	-	-	
TOTAL PERSONAL SERVICES	\$266,954	\$266,954	-		
SERVICES & SUPPLIES					
4100 Instate Travel					
8000 General Fund	1,329	-	-	1,329	
3400 Other Funds Ltd	437	-	-	437	
6400 Federal Funds Ltd	984	-	-	984	
All Funds	2,750	-	-	2,750	
4125 Out of State Travel					
8000 General Fund	534	-	-	534	
3400 Other Funds Ltd	10	-	-	10	
6400 Federal Funds Ltd	1	-	-	1	
All Funds	545	-	-	545	
4150 Employee Training					
8000 General Fund	1,646	-	-	1,646	
11/15/12 8:52 AM		Page 25 of 42		Detail R	evenues & Expenditures - Essential Pacl BDV

BDV004B 2013-15 Biennium Administration and Central Support

Agency Number 19800

Description	Total Essential Packages	Pkg: 010 Non-PICS Psnl Svc / Vacancy Factor	Pkg: 022 Phase-out Pgm & One-time Costs	Pkg: 031 Standard Inflation	
		Priority: 00	Priority: 00	Priority: 00	
3400 Other Funds Ltd	2,113	-	-	2,113	
6400 Federal Funds Ltd	1,267	-	-	1,267	
All Funds	5,026	-	-	5,026	
4175 Office Expenses					
8000 General Fund	24,489	-	-	24,489	
6400 Federal Funds Ltd	436	-	-	436	
All Funds	24,925	-	-	24,925	
4200 Telecommunications					
8000 General Fund	33,711	-	-	33,711	
6400 Federal Funds Ltd	96	-	-	96	
All Funds	33,807	-	-	33,807	
4225 State Gov. Service Charges					
8000 General Fund	(1,309,581)	-	-	(1,309,581)	
4250 Data Processing					
8000 General Fund	26,165	-	-	26,165	
3400 Other Funds Ltd	420	-	-	420	
6400 Federal Funds Ltd	14	-	-	14	
All Funds	26,599	-	-	26,599	
4275 Publicity and Publications					
3400 Other Funds Ltd	701	-	-	701	
4300 Professional Services					
8000 General Fund	6,374	-	-	6,374	
6400 Federal Funds Ltd	5,887		-	5,887	

BDV004B 2013-15 Biennium Administration and Central Support

Agency Number 19800

Description	Total Essential Packages	Pkg: 010 Non-PICS Psnl Svc / Vacancy Factor	Pkg: 022 Phase-out Pgm & One-time Costs	Pkg: 031 Standard Inflation	
		Priority: 00	Priority: 00	Priority: 00	
All Funds	12,261	-	-	12,261	
4315 IT Professional Services					
8000 General Fund	9,803	-	-	9,803	
6400 Federal Funds Ltd	5,437	-	-	5,437	
All Funds	15,240	-	-	15,240	
4325 Attorney General					
8000 General Fund	24,754	-	-	24,754	
4375 Employee Recruitment and Develop					
8000 General Fund	348	-	-	348	
6400 Federal Funds Ltd	10	-	-	10	
All Funds	358	-	-	358	
4400 Dues and Subscriptions					
8000 General Fund	17,371	-	-	17,371	
6400 Federal Funds Ltd	46	-	-	46	
All Funds	17,417	-	-	17,417	
4425 Facilities Rental and Taxes					
8000 General Fund	169,522	-	-	169,522	
4450 Fuels and Utilities					
8000 General Fund	5,550	-	-	5,550	
6400 Federal Funds Ltd	1	-	-	1	
All Funds	5,551	-	-	5,551	
4475 Facilities Maintenance					
8000 General Fund	3,600	-	-	3,600	
5/12 AM		Page 27 of 42		Detail Re	evenues & Expenditures - Essential Pa BI

BDV004B 2013-15 Biennium Administration and Central Support Agency Number 19800

5/12 AM		Page 28 of 42		Detail R	evenues & Expenditures - Essential P E
OTAL SERVICES & SUPPLIES	(\$925,455)	-	-	(\$925,455)	
6400 Federal Funds Ltd	14,420	-	-	14,420	
3400 Other Funds Ltd	3,681	-	-	3,681	
8000 General Fund	(943,556)	-	-	(943,556)	
SERVICES & SUPPLIES					
All Funds	5,183	-	-	5,183	
6400 Federal Funds Ltd	81	-	-	81	
8000 General Fund	5,102	-	-	5,102	
4715 IT Expendable Property					
All Funds	430	-	-	430	
6400 Federal Funds Ltd	136	-	-	136	
8000 General Fund	294	-	-	294	
4700 Expendable Prop 250 - 5000					
All Funds	3,106	-	-	3,106	
6400 Federal Funds Ltd	. 14	-	-	14	
8000 General Fund	3,092	-	-	3,092	
4650 Other Services and Supplies					
All Funds	32,348	-	-	32,348	
6400 Federal Funds Ltd	7	-	-	7	
8000 General Fund	32,341	-	-	32,341	
4575 Agency Program Related S and S	0,000			5,000	
All Funds	3,603	-	-	3,603	
6400 Federal Funds Ltd	3			3	
		Priority: 00	Priority: 00	Priority: 00	
Description	Total Essential Packages	Pkg: 010 Non-PICS Psnl Svc / Vacancy Factor	Pkg: 022 Phase-out Pgm & One-time Costs	Pkg: 031 Standard Inflation	

BDV004B

Agency Number 19800

Version: V - 01 - Agency Request Budget

13-15 Biennium dministration and Central Support				Cross Refere	nce Number: 198	300-102-00-00-00
Description	Total Essential Packages	Pkg: 010 Non-PICS PsnI Svc / Vacancy Factor	Pkg: 022 Phase-out Pgm & One-time Costs	Pkg: 031 Standard Inflation		
		Priority: 00	Priority: 00	Priority: 00		
CAPITAL OUTLAY						
5600 Data Processing Hardware						
8000 General Fund	53,135	-	-	53,135		
3400 Other Funds Ltd	12,366	-	-	12,366		
All Funds	65,501	-	-	65,501		
5900 Other Capital Outlay						
3010 Other Funds Cap Improvement	(97,460)	-	(97,460)	-		
CAPITAL OUTLAY						
8000 General Fund	53,135	-	-	53,135		
3010 Other Funds Cap Improvement	(97,460)	-	(97,460)	-		
3400 Other Funds Ltd	12,366	-	-	12,366		
TOTAL CAPITAL OUTLAY	(\$31,959)	-	(\$97,460)	\$65,501		
XPENDITURES						
8000 General Fund	(522,398)	368,023	-	(890,421)		
3010 Other Funds Cap Improvement	(97,460)	-	(97,460)	-		

2013-15 Chief Justice's Recommended Budget

TOTAL EXPENDITURES

ENDING BALANCE

11/15/12

8:52 AM

3400 Other Funds Ltd

8000 General Fund

3400 Other Funds Ltd

3010 Other Funds Cap Improvement

6400 Federal Funds Ltd

(101,800)

\$266,954

101,800

Page 29 of 42

731

.....

-

(85,753)

15,151

97,460

85,753

-

(\$690,460)

Detail Revenues & Expenditures - Essential Packages BDV004B

16,047

14,420

.

-

(16,047)

(\$859,954)

-

-

-

-

(\$97,460)

97,460

Judicial Dept					Agency Number 19800
BDV004B 2013-15 Biennium Administration and Central Support					ion: V - 01 - Agency Request Budget nce Number: 19800-102-00-00-00000
Description	Total Essential Packages	Pkg: 010 Non-PICS PsnI Svc / Vacancy Factor	Pkg: 022 Phase-out Pgm & One-time Costs	Pkg: 031 Standard Inflation	
		Priority: 00	Priority: 00	Priority: 00	
6400 Federal Funds Ltd	(15,151)	(731)	-	(14,420)	
TOTAL ENDING BALANCE	\$168,062	\$101,069	\$97,460	(\$30,467)	

11/15/12 8:52 AM Page 30 of 42

<i>Judicial Dept</i> 3DV004B 2013-15 Biennium Mandated Payments				Agency Number 1980 Version: V - 01 - Agency Request Budge Cross Reference Number: 19800-200-00-00-0000
Description	Total Essential Packages	Pkg: 010 Non-PICS PsnI Svc / Vacancy Factor	Pkg: 031 Standard Inflation	
		Priority: 00	Priority: 00	
REVENUE CATEGORIES				
GENERAL FUND APPROPRIATION				
0050 General Fund Appropriation				
8000 General Fund	290,071	39,293	250,778	
AVAILABLE REVENUES				
8000 General Fund	290,071	39,293	250,778	
TOTAL AVAILABLE REVENUES	\$290,071	\$39,293	\$250,778	
EXPENDITURES				
PERSONAL SERVICES				
SALARIES & WAGES				
3190 All Other Differential				
8000 General Fund	650	650	-	
OTHER PAYROLL EXPENSES				
3220 Public Employees Retire Cont				
8000 General Fund	128	128	-	
3221 Pension Obligation Bond				
8000 General Fund	36,120	36,120	-	
3400 Other Funds Ltd	1,910	1,910	-	
All Funds	38,030	38,030	-	
3230 Social Security Taxes				
8000 General Fund	50	50	-	
3260 Mass Transit Tax				
8000 General Fund	2,345	2,345	-	
11/15/12 3:52 AM		Page 31 of 42		Detail Revenues & Expenditures - Essential Packag BDV004

DV004B I13-15 Biennium andated Payments				Version: V - 01 - Agency Request Budg Cross Reference Number: 19800-200-00-00-000
Description	Total Essential Packages	Pkg: 010 Non-PICS PsnI Svc / Vacancy Factor	Pkg: 031 Standard Inflation	
		Priority: 00	Priority: 00	
3400 Other Funds Ltd	176	176	-	
All Funds	2,521	2,521	-	
OTHER PAYROLL EXPENSES				
8000 General Fund	38,643	38,643	-	
3400 Other Funds Ltd	2,086	2,086	-	
TOTAL OTHER PAYROLL EXPENSES	\$40,729	\$40,729	-	
PERSONAL SERVICES				
8000 General Fund	39,293	39,293	-	
3400 Other Funds Ltd	2,086	2,086	-	
TOTAL PERSONAL SERVICES	\$41,379	\$41,379	-	
SERVICES & SUPPLIES				
4100 Instate Travel				
8000 General Fund	601	-	601	
4150 Employee Training				
8000 General Fund	415	-	415	
4175 Office Expenses				
8000 General Fund	166	-	166	
4200 Telecommunications				
8000 General Fund	1,493	-	1,493	
4250 Data Processing				
8000 General Fund	2,585	-	2,585	
4300 Professional Services				
/15/12		Page 32 of 42		Detail Revenues & Expenditures - Essential Packa

BDV004B 2013-15 Biennium Mandated Payments

Agency Number 19800

Description	Total Essential Packages	Pkg: 010 Non-PICS Psnl Svc / Vacancy Factor	Pkg: 031 Standard Inflation	
		Priority: 00	Priority: 00	
8000 General Fund	115,905	-	115,905	
4400 Dues and Subscriptions				
8000 General Fund	373	-	373	
4575 Agency Program Related S and S				
8000 General Fund	126,761	-	126,761	
3400 Other Funds Ltd	11,400	-	11,400	
All Funds	138,161	-	138,161	
4650 Other Services and Supplies				
8000 General Fund	737	-	737	
4700 Expendable Prop 250 - 5000				
8000 General Fund	871	-	871	
4715 IT Expendable Property				
8000 General Fund	871	-	871	
SERVICES & SUPPLIES				
8000 General Fund	250,778	-	250,778	
3400 Other Funds Ltd	11,400	-	11,400	
TOTAL SERVICES & SUPPLIES	\$262,178	-	\$262,178	
EXPENDITURES				
8000 General Fund	290,071	39,293	250,778	
3400 Other Funds Ltd	13,486	2,086	11,400	
TOTAL EXPENDITURES	\$303,557	\$41,379	\$262,178	
ENDING BALANCE				
11/15/12		Page 33 of 42		Detail Revenues & Expenditures - Essential Packages
8:52 AM				BDV004E

Judicial Dept				Agency Number 19800
BDV004B 2013-15 Biennium Mandated Payments				Version: V - 01 - Agency Request Budget Cross Reference Number: 19800-200-00-00-00000
Description	Total Essential Packages	Pkg: 010 Non-PICS Psnl Svc / Vacancy Factor	Pkg: 031 Standard Inflation	
		Priority: 00	Priority: 00	
8000 General Fund	-	-	-	
3400 Other Funds Ltd	(13,486)	(2,086)	(11,400)	
TOTAL ENDING BALANCE	(\$13,486)	(\$2,086)	(\$11,400)	

Page 34 of 42

Judicial Dept			Agency Number 19800
BDV004B 2013-15 Biennium 3rd Party Debt Collection			Version: V - 01 - Agency Request Budget Cross Reference Number: 19800-210-00-00-00000
Description	Total Essential Packages	Pkg: 031 Standard Inflation	
		Priority: 00	
REVENUE CATEGORIES			
GENERAL FUND APPROPRIATION			
0050 General Fund Appropriation			
8000 General Fund	280,313	280,313	
AVAILABLE REVENUES			
8000 General Fund	280,313	280,313	
TOTAL AVAILABLE REVENUES	\$280,313	\$280,313	
EXPENDITURES			
SERVICES & SUPPLIES			
4650 Other Services and Supplies			
8000 General Fund	280,313	280,313	
ENDING BALANCE			
8000 General Fund	-	-	
TOTAL ENDING BALANCE		-	

11/15/12 8:52 AM Page 35 of 42

Detail Revenues & Expenditures - Essential Packages BDV004B

BDV004B 2013-15 Biennium External Pass-Throughs				Version: V - 01 - Agency Request Budge Cross Reference Number: 19800-220-00-00-0000
Description	Total Essential Packages	Pkg: 022 Phase-out Pgm & One-time Costs	Pkg: 031 Standard Inflation	
		Priority: 00	Priority: 00	
REVENUE CATEGORIES				
GENERAL FUND APPROPRIATION				
0050 General Fund Appropriation				
8000 General Fund	349,250	-	349,250	
AVAILABLE REVENUES				
8000 General Fund	349,250	-	349,250	
TOTAL AVAILABLE REVENUES	\$349,250	-	\$349,250	
EXPENDITURES				
SPECIAL PAYMENTS				
6020 Dist to Counties				
8000 General Fund	342,768	-	342,768	
6025 Dist to Other Gov Unit				
3400 Other Funds Ltd	(77,860)	(77,860)	-	
6030 Dist to Non-Gov Units				
8000 General Fund	6,482	-	6,482	
SPECIAL PAYMENTS				
8000 General Fund	349,250	-	349,250	
3400 Other Funds Ltd	(77,860)	(77,860)	-	
TOTAL SPECIAL PAYMENTS	\$271,390	(\$77,860)	\$349,250	
ENDING BALANCE				
8000 General Fund	-	-	-	
3400 Other Funds Ltd	77,860	77,860	-	
11/15/12		Page 36 of 42		Detail Revenues & Expenditures - Essential Package

Judicial Dept			Agency Number 19800			
BDV004B 2013-15 Biennium External Pass-Throughs				-	cy Request Budget 0-220-00-00-00000	
Description	Total Essential Packages	Pkg: 022 Phase-out Pgm & One-time Costs	Pkg: 031 Standard Inflation			
		Priority: 00	Priority: 00			
TOTAL ENDING BALANCE	\$77,860	\$77,860	-			

3DV004B 2013-15 Biennium State Court Facilities Security Account				Version: V - 01 - Agency Request Budg Cross Reference Number: 19800-400-00-000		
Description	Total Essential Packages	Pkg: 010 Non-PICS PsnI Svc / Vacancy Factor	Pkg: 021 Phase-in	Pkg: 031 Standard Inflation	Pkg: 050 Fundshifts	
		Priority: 00	Priority: 00	Priority: 00	Priority: 00	
REVENUE CATEGORIES						
GENERAL FUND APPROPRIATION						
0050 General Fund Appropriation						
8000 General Fund	817,678	-	-	-	817,678	
AVAILABLE REVENUES						
8000 General Fund	817,678	-	-	-	817,678	
TOTAL AVAILABLE REVENUES	\$817,678	-	-	-	\$817,678	
EXPENDITURES						
PERSONAL SERVICES						
SALARIES & WAGES						
3110 Class/Unclass Sal. and Per Diem						
8000 General Fund	509,040	-	-	-	509,040	
3400 Other Funds Ltd	(509,040)	-	-	-	(509,040)	
All Funds	-	-	-	-	-	
OTHER PAYROLL EXPENSES						
3210 Empl. Rel. Bd. Assessments						
8000 General Fund	160	-	-	-	160	
3400 Other Funds Ltd	(160)	-	-	-	(160)	
All Funds	-	-	-	-	-	
3220 Public Employees Retire Cont						
8000 General Fund	100,433	-	-	-	100,433	
3400 Other Funds Ltd	(100,433)	-	-	-	(100,433)	
All Funds	-	-	-	-	-	

Agency Number 19800

BDV004B	
2013-15 Biennium	
State Court Facilities Security Account	

Description	Total Essential Packages	Pkg: 010 Non-PICS PsnI Svc / Vacancy Factor	Pkg: 021 Phase-in	Pkg: 031 Standard Inflation	Pkg: 050 Fundshifts	
		Priority: 00	Priority: 00	Priority: 00	Priority: 00	
3221 Pension Obligation Bond						
8000 General Fund	30,759	-	-	-	30,759	
3400 Other Funds Ltd	(37,098)	(6,339)	-	-	(30,759)	
All Funds	(6,339)	(6,339)	-	-	-	
3230 Social Security Taxes						
8000 General Fund	38,942	-	-	-	38,942	
3400 Other Funds Ltd	(38,942)	-	-	-	(38,942)	
All Funds	-	-	-	-	-	
3250 Workers Comp. Assess. (WCD)						
8000 General Fund	236	-	-	-	236	
3400 Other Funds Ltd	(236)	-	-	-	(236)	
All Funds	-	-	-	-	-	
3260 Mass Transit Tax						
8000 General Fund	2,988	-	-	-	2,988	
3400 Other Funds Ltd	(3,935)	(947)	-	-	(2,988)	
All Funds	(947)	(947)	-	-	-	
3270 Flexible Benefits						
8000 General Fund	135,120	-	-	-	135,120	
3400 Other Funds Ltd	(135,120)	-	-	-	(135,120)	
All Funds	-	-	-	-	-	
OTHER PAYROLL EXPENSES						
8000 General Fund	308,638	-	-	-	308,638	
3400 Other Funds Ltd	(315,924)	(7,286)	-	-	(308,638)	

Judicial Dept						umber 1980
3DV004B 2013-15 Biennium					on: V - 01 - Agency R ce Number: 19800-4	
tate Court Facilities Security Account				Cross Referen	ce Number: 19800-4	00-00-00-000
Description	Total Essential Packages	Pkg: 010 Non-PICS Psnl Svc / Vacancy Factor	Pkg: 021 Phase-in	Pkg: 031 Standard Inflation	Pkg: 050 Fundshifts	
		Priority: 00	Priority: 00	Priority: 00	Priority: 00	
TOTAL OTHER PAYROLL EXPENSES	(\$7,286)	(\$7,286)	-	-	-	
PERSONAL SERVICES						
8000 General Fund	817,678	-	-	-	817,678	
3400 Other Funds Ltd	(824,964)	(7,286)	-	-	(817,678)	
TOTAL PERSONAL SERVICES	(\$7,286)	(\$7,286)	-	-	-	
SERVICES & SUPPLIES						
4315 IT Professional Services						
3400 Other Funds Ltd	64,347	-	-	64,347	-	
CAPITAL OUTLAY						
5550 Data Processing Software						
3400 Other Funds Ltd	206	-	-	206	-	
SPECIAL PAYMENTS						
6020 Dist to Counties						
3400 Other Funds Ltd	1,717,764	-	1,567,303	150,461	-	
XPENDITURES						
8000 General Fund	817,678	-	-	-	817,678	
3400 Other Funds Ltd	957,353	(7,286)	1,567,303	215,014	(817,678)	
TOTAL EXPENDITURES	\$1,775,031	(\$7,286)	\$1,567,303	\$215,014	-	
INDING BALANCE						
8000 General Fund	-	-	-	-	-	
3400 Other Funds Ltd	(957,353)	7,286	(1,567,303)	(215,014)	817,678	
TOTAL ENDING BALANCE	(\$957,353)	\$7,286	(\$1,567,303)	(\$215,014)	\$817,678	
1/15/12		Page 40 of 42		Dotail Pau	venues & Expenditures - I	Secontial Dacks
1/15/12 :52 AM		Page 40 01 42		Detall Rev	enues & Expenditures - I	Essential Packag BDV00

BDV004B 2013-15 Biennium eCourt Program				Version: V - 01 - Agency Request Bud Cross Reference Number: 19800-500-00-00		
Description	Total Essential Packages	Pkg: 022 Phase-out Pgm & One-time Costs	Pkg: 031 Standard Inflation			
		Priority: 00	Priority: 00			
REVENUE CATEGORIES			1			
GENERAL FUND APPROPRIATION						
0050 General Fund Appropriation						
8000 General Fund	51,524	-	51,524			
AVAILABLE REVENUES						
8000 General Fund	51,524	-	51,524			
TOTAL AVAILABLE REVENUES	\$51,524	-	\$51,524			
EXPENDITURES						
SERVICES & SUPPLIES						
4250 Data Processing						
8000 General Fund	11,124	-	11,124			
4315 IT Professional Services						
8000 General Fund	40,400	-	40,400			
3400 Other Funds Ltd	(924,524)	(924,524)	-			
All Funds	(884,124)	(924,524)	40,400			
4650 Other Services and Supplies						
3400 Other Funds Ltd	(23,391,369)	(23,391,369)	-			
SERVICES & SUPPLIES						
8000 General Fund	51,524	-	51,524			
3400 Other Funds Ltd	(24,315,893)	(24,315,893)	-			
TOTAL SERVICES & SUPPLIES	(\$24,264,369)	(\$24,315,893)	\$51,524			
CAPITAL OUTLAY						
11/15/12		Page 41 of 42		Detail Reve	enues & Expenditures - Essential Packa	

						,
BDV004B 2013-15 Biennium eCourt Program				Version: V - 01 - Agency Request Bud Cross Reference Number: 19800-500-00-00-00		
Description	Total Essential Packages	Pkg: 022 Phase-out Pgm & One-time Costs	Pkg: 031 Standard Inflation			
		Priority: 00	Priority: 00			
5550 Data Processing Software						
3400 Other Funds Ltd	(2,600,000)	(2,600,000)	-			
5600 Data Processing Hardware						
3400 Other Funds Ltd	(400,000)	(400,000)	-			
CAPITAL OUTLAY						
3400 Other Funds Ltd	(3,000,000)	(3,000,000)	-			
TOTAL CAPITAL OUTLAY	(\$3,000,000)	(\$3,000,000)	-			
EXPENDITURES						
8000 General Fund	51,524	-	51,524			
3400 Other Funds Ltd	(27,315,893)	(27,315,893)	-			
TOTAL EXPENDITURES	(\$27,264,369)	(\$27,315,893)	\$51,524			
ENDING BALANCE						
8000 General Fund	-	-	-			
3400 Other Funds Ltd	27,315,893	27,315,893	-			
TOTAL ENDING BALANCE	\$27,315,893	\$27,315,893	-			

11/15/12 8:52 AM

Judicial Dept

Page 42 of 42

Detail Revenues & Expenditures - Essential Packages BDV004B

Agency Number 19800

BDV004B – Detail Revenues and Expenditures – Policy Packages (Agency/SCR)

			Croce Boforo	nce Number: 1980	y Request Budge
			CIUSS Relete	ince Number. 1900	0-000-00-00-0000
Total Policy Packages	Pkg: 201 Oregon eCourt Debt Service	Pkg: 202 Oregon eCourt Program	Pkg: 203 Circuit Courts Service Level Staff Resource Needs	Pkg: 204 Circuit Courts Treatment Court Staff Resource Needs	Pkg: 205 Circuit Courts Pro S Facilitation
	Priority: 00	Priority: 00	Priority: 00	Priority: 00	Priority: 00
	·				
30,215,369	-	-	6,732,928	1,645,292	2,044,33
5,197,274	5,197,274	-	-	-	
35,412,643	5,197,274	-	6,732,928	1,645,292	2,044,33
27,413,293	-	-	-	-	
24,855,001	530,319	24,324,682	-	-	
52,268,294	530,319	24,324,682	-	-	
911,709	-	-	-	-	
30,215,369	-	-	6,732,928	1,645,292	2,044,33
5,197,274	5,197,274	-	-	-	
27,413,293	-	-	-	-	
25,766,710	530,319	24,324,682	-	-	
\$88,592,646	\$5,727,593	\$24,324,682	\$6,732,928	\$1,645,292	\$2,044,33
(601,082)	-	-	-	-	
	Packages 30,215,369 5,197,274 35,412,643 27,413,293 24,855,001 52,268,294 911,709 30,215,369 5,197,274 27,413,293 25,766,710 \$88,592,646	Total Policy Packages Oregon eCourt Debt Service 30,215,369 - 5,197,274 5,197,274 35,412,643 5,197,274 27,413,293 - 24,855,001 530,319 52,268,294 530,319 911,709 - 30,215,369 - 27,413,293 - 25,766,710 530,319 25,766,710 530,319 \$88,592,646 \$5,727,593	Total Policy Packages Oregon eCourt Debt Service Oregon eCourt Program 30,215,369 - - 5,197,274 5,197,274 - 35,412,643 5,197,274 - 27,413,293 - - 24,855,001 530,319 24,324,682 52,268,294 530,319 24,324,682 911,709 - - 30,215,369 - - 27,413,293 - - 24,855,001 530,319 24,324,682 911,709 - - 30,215,369 - - 27,413,293 - - 25,766,710 530,319 24,324,682 \$88,592,646 \$5,727,593 \$24,324,682 (601,082) - -	Total Policy Packages Oregon eCourt Service Oregon eCourt Priority: 00 Oregon eCourt Priority: 00 Circuit Courts Service Level Staff Resource Needs 30,215,369 - - 6,732,928 5,197,274 5,197,274 - - 35,412,643 5,197,274 - 6,732,928 27,413,293 - - - 27,413,293 - - - 24,855,001 530,319 24,324,682 - 911,709 - - - 911,709 - - - 27,413,293 - - - 911,709 - - - 911,709 - - - 27,413,293 - - - 27,413,293 - - - 25,766,710 530,319 24,324,682 - 25,766,710 530,319 24,324,682 - 25,766,710 530,319 24,324,682 - 25,766,710	Total Policy Packages Oregon e Court Bety Service Oregon e Court Program Circuit Courts Service Level Staff Resource Needs Circuit Courts Treatment Court Staff Resource Needs 30,215,369 - - 6,732,928 1,645,292 5,197,274 5,197,274 - - - 35,412,643 5,197,274 - 6,732,928 1,645,292 27,413,293 - - - - 24,855,001 530,319 24,324,682 - - 911,709 - - - - 911,709 - - - - 27,413,293 - - - - 911,709 - - - - 911,709 - - - - 25,766,710 530,319 24,324,682 - - 25,766,710 530,319 24,324,682 - - 25,766,710 530,319 24,324,682 - - 25,766,710 530,319 <

Agency Number 19800

BDV004B Version: V - 01 - Agency Request Budget 2013-15 Biennium Cross Reference Number: 19800-000-00-00-00000 Judicial Dept Pkg: 201 Pkg: 202 Pkg: 203 Pkg: 204 Pkg: 205 Oregon eCourt **Circuit Courts** Circuit Courts Total Policy Oregon eCourt Debt Circuit Courts Pro Se Service Level Staff Facilitation Packages Service Program Treatment Court Staff Description Resource Needs Resource Needs Priority: 00 Priority: 00 Priority: 00 Priority: 00 Priority: 00 AVAILABLE REVENUES 8000 General Fund 30.215.369 6,732,928 1,645,292 2,044,335 8030 General Fund Debt Svc 5,197,274 5,197,274 3020 Other Funds Cap Construction 26,812,211 3400 Other Funds Ltd 25,766,710 530,319 24,324,682 TOTAL AVAILABLE REVENUES \$87,991,564 \$5,727,593 \$24,324,682 \$6,732,928 \$1,645,292 \$2,044,335 EXPENDITURES PERSONAL SERVICES **SALARIES & WAGES** 3110 Class/Unclass Sal. and Per Diem 8000 General Fund 8,561,565 3,266,345 945,302 1,103,736 3400 Other Funds Ltd 5,858,565 5,298,473 All Funds 14,420,130 5,298,473 3,266,345 945,302 1,103,736 _ OTHER PAYROLL EXPENSES 3210 Empl. Rel. Bd. Assessments 8000 General Fund 2,135 520 595 4,297 -3400 Other Funds Ltd 1,838 1,558 . ---All Funds 6,135 1,558 2,135 520 595 3220 Public Employees Retire Cont 8000 General Fund 1,751,219 644,447 186,507 217,765 3400 Other Funds Ltd 1,155,898 1,045,390 All Funds 2,907,117 644,447 217,765 1,045,390 186,507 3230 Social Security Taxes 11/15/12 Page 2 of 37 Detail Revenues & Expenditures - Policy Packages 8:53 AM BDV004B

Judicial Dept

BDV004B 2013-15 Biennium Judicial Dept

Agency Number 19800

Description	Total Policy Packages	Pkg: 201 Oregon eCourt Debt Service	Pkg: 202 Oregon eCourt Program	Pkg: 203 Circuit Courts Service Level Staff Resource Needs	Pkg: 204 Circuit Courts Treatment Court Staff Resource Needs	Pkg: 205 Circuit Courts Pro Se Facilitation
		Priority: 00	Priority: 00	Priority: 00	Priority: 00	Priority: 00
8000 General Fund	653,358	-	-	249,896	72,315	84,439
3400 Other Funds Ltd	448,182	-	405,334	-	-	-
All Funds	1,101,540	-	405,334	249,896	72,315	84,439
3250 Workers Comp. Assess. (WCD)						
8000 General Fund	6,430	-	-	3,111	767	867
3400 Other Funds Ltd	2,710	-	2,297	-	-	-
All Funds	9,140	-	2,297	3,111	767	867
3260 Mass Transit Tax						
8000 General Fund	36,372	-	-	10,977	2,835	3,084
3270 Flexible Benefits						
8000 General Fund	3,456,876	-	-	1,646,757	362,208	462,483
3400 Other Funds Ltd	1,546,773	-	1,349,205	-	-	
All Funds	5,003,649	-	1,349,205	1,646,757	362,208	462,483
3280 Other OPE						
8000 General Fund	12,689,087	-	-	206,760	59,838	69,866
3400 Other Funds Ltd	671,046	-	671,046	-	-	
All Funds	13,360,133	-	671,046	206,760	59,838	69,866
OTHER PAYROLL EXPENSES						
8000 General Fund	18,597,639	-	-	2,764,083	684,990	839,099
3400 Other Funds Ltd	3,826,447	-	3,474,830	-	-	-
TOTAL OTHER PAYROLL EXPENSES	\$22,424,086	-	\$3,474,830	\$2,764,083	\$684,990	\$839,099
PERSONAL SERVICES						
8000 General Fund	27,159,204	-	-	6,030,428	1,630,292	1,942,835
/15/12 53 AM		Page 3 of 37		Deta	il Revenues & Expendi	tures - Policy Packages BDV004E

V004B 3-15 Biennium licial Dept					ion: V - 01 - Agenc nce Number: 1980	
Description	Total Policy Packages	Pkg: 201 Oregon eCourt Debt Service	Pkg: 202 Oregon eCourt Program	Pkg: 203 Circuit Courts Service Level Staff Resource Needs	Pkg: 204 Circuit Courts Treatment Court Staff Resource Needs	Pkg: 205 Circuit Courts Pro Se Facilitation
		Priority: 00	Priority: 00	Priority: 00	Priority: 00	Priority: 00
3400 Other Funds Ltd	9,685,012	-	8,773,303	-	-	
OTAL PERSONAL SERVICES	\$36,844,216	-	\$8,773,303	\$6,030,428	\$1,630,292	\$1,942,835
ERVICES & SUPPLIES						
4100 Instate Travel						
8000 General Fund	16,500	-	-	-	-	2,00
3400 Other Funds Ltd	549,656	-	549,656	-	-	
All Funds	566,156	-	549,656	-	-	2,00
4150 Employee Training						
8000 General Fund	119,550	-	-	13,000	-	7,50
3400 Other Funds Ltd	24,000	-	24,000	-	-	
All Funds	143,550	-	24,000	13,000	-	7,50
4175 Office Expenses						
8000 General Fund	125,550	-	-	46,500	3,500	25,50
3400 Other Funds Ltd	125,664	-	125,664	-	-	
All Funds	251,214	-	125,664	46,500	3,500	25,50
4200 Telecommunications						
8000 General Fund	125,233	-	-	41,500	3,500	26,00
3400 Other Funds Ltd	16,800	-	16,800	-	-	
All Funds	142,033	-	16,800	41,500	3,500	26,00
4300 Professional Services						
8000 General Fund	1,632,092	-	-	-	-	
3400 Other Funds Ltd	847,487	-	60,000	-	-	
All Funds	2,479,579	-	60,000	-	-	

BDV004B 2013-15 Biennium Judicial Dept

Agency Number 19800

Version: V - 01 - Agency Request Budget

Cross Reference Number: 19800-000-00-00-00000

Description	Total Policy Packages	Pkg: 201 Oregon eCourt Debt Service	Pkg: 202 Oregon eCourt Program	Pkg: 203 Circuit Courts Service Level Staff Resource Needs	Pkg: 204 Circuit Courts Treatment Court Staff Resource Needs	Pkg: 205 Circuit Courts Pro S Facilitation
		Priority: 00	Priority: 00	Priority: 00	Priority: 00	Priority: 00
4315 IT Professional Services						
8000 General Fund	30,840	-	-	-	-	
3400 Other Funds Ltd	9,231,143	-	9,231,143	-	-	
All Funds	9,261,983	-	9,231,143	-	-	
4375 Employee Recruitment and Develop						
8000 General Fund	10,240	-	-	-	-	
4400 Dues and Subscriptions						
8000 General Fund	7,500	-	-	-	-	
4425 Facilities Rental and Taxes						
8000 General Fund	224,963	-	-	-	-	
3400 Other Funds Ltd	789,652	-	789,652	-	-	
All Funds	1,014,615	-	789,652	-	-	
4625 Other COP Costs						
3400 Other Funds Ltd	530,319	530,319	-	-	-	
4650 Other Services and Supplies						
8000 General Fund	27,683	-	-	6,000	-	5,00
4700 Expendable Prop 250 - 5000						
8000 General Fund	64,014	-	-	5,000	-	5,50
4715 IT Expendable Property						
8000 General Fund	672,000	-	-	590,500	8,000	30,00
3400 Other Funds Ltd	1,617,583	-	1,617,583	-	-	
All Funds	2,289,583	-	1,617,583	590,500	8,000	30,00
ERVICES & SUPPLIES						
/12		Page 5 of 37		Dete	il Revenues & Expendit	hurse Delieu Deeker

V004B I3-15 Biennium dicial Dept					ion: V - 01 - Agenc nce Number: 1980	
Description	Total Policy Packages	Pkg: 201 Oregon eCourt Debt Service	Pkg: 202 Oregon eCourt Program	Pkg: 203 Circuit Courts Service Level Staff Resource Needs	Pkg: 204 Circuit Courts Treatment Court Staff Resource Needs	Pkg: 205 Circuit Courts Pro S Facilitation
		Priority: 00	Priority: 00	Priority: 00	Priority: 00	Priority: 00
8000 General Fund	3,056,165	-	-	702,500	15,000	101,50
3400 Other Funds Ltd	13,732,304	530,319	12,414,498	-	-	
TOTAL SERVICES & SUPPLIES	\$16,788,469	\$530,319	\$12,414,498	\$702,500	\$15,000	\$101,50
CAPITAL OUTLAY						
5200 Technical Equipment						
3020 Other Funds Cap Construction	489,347	-	-	-	-	
5550 Data Processing Software						
3400 Other Funds Ltd	3,136,881	-	3,136,881	-	-	
5650 Land and Improvements						
3020 Other Funds Cap Construction	206,259	-	-	-	-	
5700 Building Structures						
3020 Other Funds Cap Construction	12,887,528	-	-	-	-	
5750 Equipment - Part of Building						
3020 Other Funds Cap Construction	6,909,640	-	-	-	-	
5800 Professional Services						
3020 Other Funds Cap Construction	2,724,217	-	-	-	-	
3400 Other Funds Ltd	3,545,858	-	-	-	-	
All Funds	6,270,075	-	-	-	-	
5850 Contingencies						
3020 Other Funds Cap Construction	2,409,429	-	-	-	-	
5900 Other Capital Outlay						
3020 Other Funds Cap Construction	1,185,791	-	-	-	-	
CAPITAL OUTLAY						

BDV004B 2013-15 Biennium					sion: V - 01 - Agenc ence Number: 1980	
Judicial Dept				Closs Relete	ince Number, 1960	0-000-00-00-00000
Description	Total Policy Packages	Pkg: 201 Oregon eCourt Debt Service	Pkg: 202 Oregon eCourt Program	Pkg: 203 Circuit Courts Service Level Staff Resource Needs	Pkg: 204 Circuit Courts Treatment Court Staff Resource Needs	Pkg: 205 Circuit Courts Pro Se Facilitation
		Priority: 00	Priority: 00	Priority: 00	Priority: 00	Priority: 00
3020 Other Funds Cap Construction	26,812,211	-	-	-	-	-
3400 Other Funds Ltd	6,682,739	-	3,136,881	-	-	-
TOTAL CAPITAL OUTLAY	\$33,494,950	-	\$3,136,881	-	-	-
DEBT SERVICE						
7100 Principal - Bonds						
8030 General Fund Debt Svc	4,195,000	4,195,000	-	-	-	-
7150 Interest - Bonds						
8030 General Fund Debt Svc	1,002,274	1,002,274	-	-	-	-
DEBT SERVICE						
8030 General Fund Debt Svc	5,197,274	5,197,274	-	-	-	-
TOTAL DEBT SERVICE	\$5,197,274	\$5,197,274	-	-	-	-
EXPENDITURES						
8000 General Fund	30,215,369	-	-	6,732,928	1,645,292	2,044,335
8030 General Fund Debt Svc	5,197,274	5,197,274	-	-	-	-
3020 Other Funds Cap Construction	26,812,211	-	-	-	-	-
3400 Other Funds Ltd	30,100,055	530,319	24,324,682	-	-	-
TOTAL EXPENDITURES	\$92,324,909	\$5,727,593	\$24,324,682	\$6,732,928	\$1,645,292	\$2,044,335
ENDING BALANCE						
8000 General Fund	-	-	-	-	-	-
8030 General Fund Debt Svc	-	-	-	-	-	-
3020 Other Funds Cap Construction	-	-	-	-	-	-
3400 Other Funds Ltd	(4,333,345)	-	-	-	-	-
11/15/12 8:53 AM		Page 7 of 37		Deta	il Revenues & Expendit	tures - Policy Package BDV0048

Judicial Dept					Agency	Number 19800
BDV004B 2013-15 Biennium Judicial Dept					-	cy Request Budget 00-000-00-00-00000
Description	Total Policy Packages	Pkg: 201 Oregon eCourt Debt Service	Pkg: 202 Oregon eCourt Program	Pkg: 203 Circuit Courts Service Level Staff Resource Needs	Pkg: 204 Circuit Courts Treatment Court Staff Resource Needs	Pkg: 205 Circuit Courts Pro Se Facilitation
		Priority: 00	Priority: 00	Priority: 00	Priority: 00	Priority: 00
TOTAL ENDING BALANCE	(\$4,333,345)	-	-	-	-	
AUTHORIZED POSITIONS						
8150 Class/Unclass Positions	173	-	40	62	13	17
AUTHORIZED FTE						
8250 Class/Unclass FTE Positions	146.48	-	37.96	51.14	9.21	14.29

11/15/12 8:53 AM Page 8 of 37

Detail Revenues & Expenditures - Policy Packages BDV004B

BDV004B 2013-15 Biennium Judicial Dept Agency Number 19800 Version: V - 01 - Agency Request Budget

Cross Reference Number: 19800-000-00-00-00000

Description	Pkg: 206 Statewide Improvement, Education and Standardization Staff	Pkg: 207 Oregon eCourt Technical Operations and Training Staff Resource Needs	Pkg: 208 Centralization and Analysis Staff Resource Needs	Pkg: 209 Family Law Program	Pkg: 210 Specialty Courts Grants	Pkg: 211 2012 Legislative Session Court of Appeals Panel
	Resource Needs Priority: 00	Priority: 00	Priority: 00	Priority: 00	Priority: 00	Priority: 00
REVENUE CATEGORIES						
GENERAL FUND APPROPRIATION						
0050 General Fund Appropriation						
8000 General Fund	558,932	1,123,189	926,091	532,574	-	2,987,936
DONATIONS AND CONTRIBUTIONS						
0910 Grants (Non-Fed)						
3400 Other Funds Ltd	-	-	-	-	911,709	
REVENUE CATEGORIES						
8000 General Fund	558,932	1,123,189	926,091	532,574	-	2,987,936
3400 Other Funds Ltd	-	-	-	-	911,709	
TOTAL REVENUE CATEGORIES	\$558,932	\$1,123,189	\$926,091	\$532,574	\$911,709	\$2,987,936
AVAILABLE REVENUES						
8000 General Fund	558,932	1,123,189	926,091	532,574	-	2,987,936
3400 Other Funds Ltd	-	-	-	-	911,709	
TOTAL AVAILABLE REVENUES	\$558,932	\$1,123,189	\$926,091	\$532,574	\$911,709	\$2,987,936
EXPENDITURES						
PERSONAL SERVICES						
SALARIES & WAGES						
3110 Class/Unclass Sal. and Per Diem						
8000 General Fund	321,468	623,070	496,611	292,530	-	1,512,503
3400 Other Funds Ltd	-	-	-	-	560,092	
All Funds	321,468	623,070	496,611	292,530	560,092	1,512,503
1/15/12		Page 9 of 37		Dotai	Revenues & Expendit	ree Delieu Deeker

BDV004B 2013-15 Biennium Judicial Dept Agency Number 19800

Version: V - 01 - Agency Request Budget Cross Reference Number: 19800-000-00-00-00000

Description	Pkg: 206 Statewide Improvement, Education and Standardization Staff	Pkg: 207 Oregon eCourt Technical Operations and Training Staff Resource Needs	Pkg: 208 Centralization and Analysis Staff Resource Needs	Pkg: 209 Family Law Program	Pkg: 210 Specialty Courts Grants	Pkg: 211 2012 Legislative Session Court of Appeals Panel
	Resource Needs Priority: 00	Priority: 00	Priority: 00	Priority: 00	Priority: 00	Priority: 00
OTHER PAYROLL EXPENSES						
3210 Empl. Rel. Bd. Assessments						
8000 General Fund	105	210	285	105	-	342
3400 Other Funds Ltd	-	-	-	-	280	-
All Funds	105	210	285	105	280	342
3220 Public Employees Retire Cont						
8000 General Fund	63,426	122,932	97,982	57,717	-	360,443
3400 Other Funds Ltd	-	-	-	-	110,508	-
All Funds	63,426	122,932	97,982	57,717	110,508	360,443
3230 Social Security Taxes						
8000 General Fund	24,593	47,666	37,993	22,379	-	114,077
3400 Other Funds Ltd	-	-	-	-	42,848	-
All Funds	24,593	47,666	37,993	22,379	42,848	114,077
3250 Workers Comp. Assess. (WCD)						
8000 General Fund	153	306	416	153	-	657
3400 Other Funds Ltd	-	-	-	-	413	-
All Funds	153	306	416	153	413	657
3260 Mass Transit Tax						
8000 General Fund	1,929	3,738	2,979	1,755	-	9,075
3270 Flexible Benefits						
8000 General Fund	90,909	180,327	235,890	89,418	-	388,884
3400 Other Funds Ltd	-	-	-	-	197,568	-
All Funds	90,909	180,327	235,890	89,418	197,568	388,884
15/12 3 AM		Page 10 of 37		Detai	I Revenues & Expendit	ures - Policy Package BDV004E

BDV004B 2013-15 Biennium

Agency Number 19800

Version: V - 01 - Agency Request Budget

Cross Reference Number: 19800-000-00-00-00000

Description	Pkg: 206 Statewide Improvement, Education and Standardization Staff	Pkg: 207 Oregon eCourt Technical Operations and Training Staff Resource Needs	Pkg: 208 Centralization and Analysis Staff Resource Needs	Pkg: 209 Family Law Program	Pkg: 210 Specialty Courts Grants	Pkg: 211 2012 Legislative Session Court of Appeals Panel
	Resource Needs Priority: 00	Priority: 00	Priority: 00	Priority: 00	Priority: 00	Priority: 00
3280 Other OPE	1				·	
8000 General Fund	20,349	39,440	31,435	18,517	-	54,925
OTHER PAYROLL EXPENSES						
8000 General Fund	201,464	394,619	406,980	190,044	-	928,403
3400 Other Funds Ltd	-	-	-	-	351,617	
TOTAL OTHER PAYROLL EXPENSES	\$201,464	\$394,619	\$406,980	\$190,044	\$351,617	\$928,403
PERSONAL SERVICES						
8000 General Fund	522,932	1,017,689	903,591	482,574	-	2,440,900
3400 Other Funds Ltd	-	-	-	-	911,709	
TOTAL PERSONAL SERVICES	\$522,932	\$1,017,689	\$903,591	\$482,574	\$911,709	\$2,440,906
SERVICES & SUPPLIES						
4100 Instate Travel						
8000 General Fund	4,500	4,500	-	5,500	-	
4150 Employee Training						
8000 General Fund	6,000	60,000	3,000	7,000	-	23,050
4175 Office Expenses						
8000 General Fund	7,000	10,000	3,500	6,500	-	23,050
4200 Telecommunications						
8000 General Fund	5,500	6,500	5,000	6,500	-	30,733
4300 Professional Services						
8000 General Fund	-	-	-	7,000	-	148,957
4315 IT Professional Services						
/15/12 53 AM		Page 11 of 37		Detai	I Revenues & Expendit	ures - Policy Package BDV004

BDV004B 2013-15 Biennium Judicial Dept Agency Number 19800

Version: V - 01 - Agency Request Budget Cross Reference Number: 19800-000-00-00-00000

Description	Pkg: 206 Statewide Improvement, Education and Standardization Staff Resource Needs	Pkg: 207 Oregon eCourt Technical Operations and Training Staff Resource Needs	Pkg: 208 Centralization and Analysis Staff Resource Needs	Pkg: 209 Family Law Program	Pkg: 210 Specialty Courts Grants	Pkg: 211 2012 Legislative Session Court of Appeals Panel
	Priority: 00	Priority: 00	Priority: 00	Priority: 00	Priority: 00	Priority: 00
8000 General Fund	-	-	-	-	-	30,840
4375 Employee Recruitment and Develop						
8000 General Fund	-	-	-	-	-	10,240
4400 Dues and Subscriptions						
8000 General Fund	1,000	2,000	3,000	1,500	-	
4425 Facilities Rental and Taxes						
8000 General Fund	-	-	-	-	-	224,963
4650 Other Services and Supplies						
8000 General Fund	-	2,500	2,500	4,000	-	7,683
4700 Expendable Prop 250 - 5000						
8000 General Fund	-	-	-	6,000	-	47,514
4715 IT Expendable Property						
8000 General Fund	12,000	20,000	5,500	6,000	-	-
SERVICES & SUPPLIES						
8000 General Fund	36,000	105,500	22,500	50,000	-	547,030
TOTAL SERVICES & SUPPLIES	\$36,000	\$105,500	\$22,500	\$50,000	-	\$547,030
EXPENDITURES						
8000 General Fund	558,932	1,123,189	926,091	532,574	-	2,987,936
3400 Other Funds Ltd	-	-	-	-	911,709	-
TOTAL EXPENDITURES	\$558,932	\$1,123,189	\$926,091	\$532,574	\$911,709	\$2,987,936
ENDING BALANCE						
8000 General Fund	-	-	-	-	-	-
11/15/12 8:53 AM		Page 12 of 37		Detai	l Revenues & Expendit	tures - Policy Package BDV004

BDV004B 2013-15 Biennium Judicial Dept				Version: V - 01 - Agency Request Budg Cross Reference Number: 19800-000-00-00-000			
Description	Pkg: 206 Statewide Improvement, Education and Standardization Staff	Pkg: 207 Oregon eCourt Technical Operations and Training Staff Resource Needs	Pkg: 208 Centralization and Analysis Staff Resource Needs	Pkg: 209 Family Law Program	Pkg: 210 Specialty Courts Grants	Pkg: 211 2012 Legislative Session Court of Appeals Panel	
	Resource Needs Priority: 00	Priority: 00	Priority: 00	Priority: 00	Priority: 00	Priority: 00	
3400 Other Funds Ltd	-	-	-	-	-	-	
TOTAL ENDING BALANCE	-	-	-	-	-	-	
AUTHORIZED POSITIONS							
8150 Class/Unclass Positions	3	6	10	3	7	12	
AUTHORIZED FTE							
8250 Class/Unclass FTE Positions	2.64	5.28	7.14	2.64	4.90	11.28	

11/15/12 8:53 AM

Judicial Dept

Agency Number 19800

Agency Number 19800

2013-15 Biennium Judicial Dept					nce Number: 19800	0-000-00-000
Description	Pkg: 212 Judicial Compensation	Pkg: 213 Contract Interpreter Rate Increase - Mandated Payments	Pkg: 214 Local Court Facilities Infrastructure	Pkg: 215 Local Court Security Systems Standardization	Pkg: 216 Supreme Court Building Preservation	
	Priority: 00	Priority: 00	Priority: 00	Priority: 00	Priority: 00	
REVENUE CATEGORIES	·				·	
GENERAL FUND APPROPRIATION						
0050 General Fund Appropriation						
8000 General Fund	12,187,957	1,476,135	-	-	-	
BOND SALES						
0555 General Fund Obligation Bonds						
3020 Other Funds Cap Construction	-	-	-	-	27,413,293	
REVENUE CATEGORIES						
8000 General Fund	12,187,957	1,476,135	-	-	-	
3020 Other Funds Cap Construction	-	-	-	-	27,413,293	
TOTAL REVENUE CATEGORIES	\$12,187,957	\$1,476,135	-	-	\$27,413,293	
TRANSFERS OUT						
2107 Tsfr To Administrative Svcs						
3020 Other Funds Cap Construction	-	-	-	-	(601,082)	
AVAILABLE REVENUES						
8000 General Fund	12,187,957	1,476,135	-	-	-	
3020 Other Funds Cap Construction	-	-	-	-	26,812,211	
TOTAL AVAILABLE REVENUES	\$12,187,957	\$1,476,135	-	-	\$26,812,211	
EXPENDITURES						
PERSONAL SERVICES						
OTHER PAYROLL EXPENSES						
3280 Other OPE						
11/15/12		Page 14 of 37		Detai	l Revenues & Expenditu	ires - Policy Packa

Judicial Dept

Judicial Dept

BDV004B 2013-15 Biennium Judicial Dept

Version: V - 01 - Agency Request Budget Cross Reference Number: 19800-000-00-00-00000

Agency Number 19800

Description		Pkg: 212 Judicial Compensation	Pkg: 213 Contract Interpreter Rate Increase - Mandated Payments	Pkg: 214 Local Court Facilities Infrastructure	Pkg: 215 Local Court Security Systems Standardization	Pkg: 216 Supreme Court Building Preservation	
		Priority: 00	Priority: 00	Priority: 00	Priority: 00	Priority: 00	
8000 General Fund		12,187,957	-	-	-	-	
SERVICES & SUPPLIES							
4300 Professional Services	5						
8000 General Fund		-	1,476,135	-	-	-	
3400 Other Funds Ltd		-	-	-	787,487	-	
All Funds		-	1,476,135	-	787,487	-	
CAPITAL OUTLAY							
5200 Technical Equipment							
3020 Other Funds Ca	p Construction	-	-	-	-	489,347	
5650 Land and Improveme	nts						
3020 Other Funds Ca	p Construction	-	-	-	-	206,259	
5700 Building Structures							
3020 Other Funds Ca	p Construction	-	-	-	-	12,887,528	
5750 Equipment - Part of E	uilding						
3020 Other Funds Ca	p Construction	-	-	-	-	6,909,640	
5800 Professional Services	5						
3020 Other Funds Ca	p Construction	-	-	-	-	2,724,217	
3400 Other Funds Ltd		-	-	3,545,858	-	-	
All Funds		-	-	3,545,858	-	2,724,217	
5850 Contingencies							
3020 Other Funds Ca	p Construction	-	-	-	-	2,409,429	
5900 Other Capital Outlay							
3020 Other Funds Ca	p Construction	-	-	-	-	1,185,791	
1/15/12 :53 AM			Page 15 of 37		Detai	I Revenues & Expendit	tures - Policy Packages BDV004B

Judicial Dept					Agency	Number 19800
BDV004B 2013-15 Biennium Judicial Dept					ion: V - 01 - Agenc nce Number: 1980	
Description	Pkg: 212 Judicial Compensation	Pkg: 213 Contract Interpreter Rate Increase - Mandated Payments	Pkg: 214 Local Court Facilities Infrastructure	Pkg: 215 Local Court Security Systems Standardization	Pkg: 216 Supreme Court Building Preservation	
	Priority: 00	Priority: 00	Priority: 00	Priority: 00	Priority: 00	
CAPITAL OUTLAY	L		•		· · ·	
3020 Other Funds Cap Construction	-	-	-	-	26,812,211	
3400 Other Funds Ltd	-	-	3,545,858	-	-	
TOTAL CAPITAL OUTLAY	-	-	\$3,545,858	-	\$26,812,211	
EXPENDITURES						
8000 General Fund	12,187,957	1,476,135	-	-	-	
3020 Other Funds Cap Construction	-	-	-	-	26,812,211	
3400 Other Funds Ltd	-	-	3,545,858	787,487	-	
TOTAL EXPENDITURES	\$12,187,957	\$1,476,135	\$3,545,858	\$787,487	\$26,812,211	
ENDING BALANCE						
8000 General Fund	-	-	-	-	-	
3020 Other Funds Cap Construction	-	-	-	-	-	
3400 Other Funds Ltd	-	-	(3,545,858)	(787,487)	-	
TOTAL ENDING BALANCE	-	-	(\$3,545,858)	(\$787,487)	-	

11/15/12 8:53 AM

Page 16 of 37

Detail Revenues & Expenditures - Policy Packages BDV004B

BDV004B 2013-15 Biennium Judicial Compensation				Version: V - 01 - Agency Request Budge Cross Reference Number: 19800-010-00-00-00000
Description	Total Policy Packages	Pkg: 211 2012 Legislative Session Court of Appeals Panel	Pkg: 212 Judicial Compensation	
		Priority: 00	Priority: 00	
REVENUE CATEGORIES			L	
GENERAL FUND APPROPRIATION				
0050 General Fund Appropriation				
8000 General Fund	13,169,839	981,882	12,187,957	
AVAILABLE REVENUES				
8000 General Fund	13,169,839	981,882	12,187,957	
TOTAL AVAILABLE REVENUES	\$13,169,839	\$981,882	\$12,187,957	
EXPENDITURES				
PERSONAL SERVICES				
SALARIES & WAGES				
3110 Class/Unclass Sal. and Per Diem				
8000 General Fund	644,805	644,805	-	
OTHER PAYROLL EXPENSES				
3220 Public Employees Retire Cont				
8000 General Fund	189,249	189,249	-	
3230 Social Security Taxes				
8000 General Fund	47,694	47,694	-	
3250 Workers Comp. Assess. (WCD)				
8000 General Fund	153	153	-	
3270 Flexible Benefits				
8000 General Fund	99,981	99,981	-	
3280 Other OPE				
8000 General Fund	12,187,957	-	12,187,957	
11/15/12 8:53 AM		Page 17 of 37		Detail Revenues & Expenditures - Policy Packag BDV00

2013-15 Chief Justice's Recommended Budget

Judicial Dept				Agency Number 19800
BDV004B 2013-15 Biennium Judicial Compensation				Version: V - 01 - Agency Request Budget Cross Reference Number: 19800-010-00-00-00000
Description	Total Policy Packages	Pkg: 211 2012 Legislative Session Court of Appeals Panel	Pkg: 212 Judicial Compensation	
		Priority: 00	Priority: 00	
OTHER PAYROLL EXPENSES			t	
8000 General Fund	12,525,034	337,077	12,187,957	
TOTAL OTHER PAYROLL EXPENSES	\$12,525,034	\$337,077	\$12,187,957	
PERSONAL SERVICES				
8000 General Fund	13,169,839	981,882	12,187,957	
TOTAL PERSONAL SERVICES	\$13,169,839	\$981,882	\$12,187,957	
ENDING BALANCE				
8000 General Fund	-	-	-	
TOTAL ENDING BALANCE	-	-	-	
AUTHORIZED POSITIONS				
8150 Class/Unclass Positions	3	3	-	
AUTHORIZED FTE				
8250 Class/Unclass FTE Positions	2.64	2.64	-	

11/15/12 8:53 AM

Judicial Dept BDV004B 2013-15 Biennium eCourt Debt Service			Agency Number 19800 Version: V - 01 - Agency Request Budge Cross Reference Number: 19800-087-00-00-00000
Description	Total Policy Packages	Pkg: 201 Oregon eCourt Debt Service	
		Priority: 00	
REVENUE CATEGORIES			
GENERAL FUND APPROPRIATION			
0050 General Fund Appropriation			
8030 General Fund Debt Svc	5,197,274	5,197,274	
BOND SALES			
0555 General Fund Obligation Bonds			
3400 Other Funds Ltd	530,319	530,319	
REVENUE CATEGORIES			
8030 General Fund Debt Svc	5,197,274	5,197,274	
3400 Other Funds Ltd	530,319	530,319	
TOTAL REVENUE CATEGORIES	\$5,727,593	\$5,727,593	
AVAILABLE REVENUES			
8030 General Fund Debt Svc	5,197,274	5,197,274	
3400 Other Funds Ltd	530,319	530,319	
TOTAL AVAILABLE REVENUES	\$5,727,593	\$5,727,593	
EXPENDITURES			
SERVICES & SUPPLIES			
4625 Other COP Costs			
3400 Other Funds Ltd	530,319	530,319	
DEBT SERVICE			
7100 Principal - Bonds			
8030 General Fund Debt Svc	4,195,000	4,195,000	
11/15/12 8:53 AM		Page 19 of 37	Detail Revenues & Expenditures - Policy Package BDV004

Judicial Dept			Agency Number 19800
BDV004B 2013-15 Biennium eCourt Debt Service			Version: V - 01 - Agency Request Budget Cross Reference Number: 19800-087-00-00-00000
Description	Total Policy Packages	Pkg: 201 Oregon eCourt Debt Service	
		Priority: 00	
7150 Interest - Bonds			
8030 General Fund Debt Svc	1,002,274	1,002,274	
DEBT SERVICE			
8030 General Fund Debt Svc	5,197,274	5,197,274	
TOTAL DEBT SERVICE	\$5,197,274	\$5,197,274	
EXPENDITURES			
8030 General Fund Debt Svc	5,197,274	5,197,274	
3400 Other Funds Ltd	530,319	530,319	
TOTAL EXPENDITURES	\$5,727,593	\$5,727,593	
ENDING BALANCE			
8030 General Fund Debt Svc	-	-	
3400 Other Funds Ltd	-		
TOTAL ENDING BALANCE		-	

11/15/12 8:53 AM Page 20 of 37

Detail Revenues & Expenditures - Policy Packages BDV004B

BDV004B 2013-15 Biennium Capital Construction			Version: V - 01 - Agency Request Budge Cross Reference Number: 19800-089-00-00-00000
Description	Total Policy Packages	Pkg: 216 Supreme Court Building Preservation	
		Priority: 00	
REVENUE CATEGORIES			
BOND SALES			
0555 General Fund Obligation Bonds			
3020 Other Funds Cap Construction	27,413,293	27,413,293	
TRANSFERS OUT			
2107 Tsfr To Administrative Svcs			
3020 Other Funds Cap Construction	(601,082)	(601,082)	
AVAILABLE REVENUES			
3020 Other Funds Cap Construction	26,812,211	26,812,211	
TOTAL AVAILABLE REVENUES	\$26,812,211	\$26,812,211	
EXPENDITURES			
CAPITAL OUTLAY			
5200 Technical Equipment			
3020 Other Funds Cap Construction	489,347	489,347	
5650 Land and Improvements			
3020 Other Funds Cap Construction	206,259	206,259	
5700 Building Structures			
3020 Other Funds Cap Construction	12,887,528	12,887,528	
5750 Equipment - Part of Building			
3020 Other Funds Cap Construction	6,909,640	6,909,640	
5800 Professional Services			
3020 Other Funds Cap Construction	2,724,217	2,724,217	
5850 Contingencies			
11/15/12 8:53 AM		Page 21 of 37	Detail Revenues & Expenditures - Policy Packag BDV004

Judicial Dept			Agency Number 19800
BDV004B 2013-15 Biennium Capital Construction			Version: V - 01 - Agency Request Budget Cross Reference Number: 19800-089-00-00-00000
Description	Total Policy Packages	Pkg: 216 Supreme Court Building Preservation	
		Priority: 00	
3020 Other Funds Cap Construction	2,409,429	2,409,429	
5900 Other Capital Outlay			
3020 Other Funds Cap Construction	1,185,791	1,185,791	
CAPITAL OUTLAY			
3020 Other Funds Cap Construction	26,812,211	26,812,211	
TOTAL CAPITAL OUTLAY	\$26,812,211	\$26,812,211	
ENDING BALANCE			
3020 Other Funds Cap Construction	-	-	
TOTAL ENDING BALANCE	-	-	

11/15/12 8:53 AM Page 22 of 37

Agency Number 19800

BDV004B					ion: V - 01 - Agenc	
2013-15 Biennium				Cross Refere	nce Number: 1980	0-100-00-00-0000
Trial Courts						
Description	Total Policy Packages	Pkg: 203 Circuit Courts Service Level Staff Resource Needs	Pkg: 204 Circuit Courts Treatment Court Staff Resource Needs	Pkg: 205 Circuit Courts Pro Se Facilitation	Pkg: 210 Specialty Courts Grants	
		Priority: 00	Priority: 00	Priority: 00	Priority: 00	
REVENUE CATEGORIES						
GENERAL FUND APPROPRIATION						
0050 General Fund Appropriation						
8000 General Fund	10,422,555	6,732,928	1,645,292	2,044,335	-	
DONATIONS AND CONTRIBUTIONS						
0910 Grants (Non-Fed)						
3400 Other Funds Ltd	911,709	-	-	-	911,709	
REVENUE CATEGORIES						
8000 General Fund	10,422,555	6,732,928	1,645,292	2,044,335	-	
3400 Other Funds Ltd	911,709	-	-	-	911,709	
TOTAL REVENUE CATEGORIES	\$11,334,264	\$6,732,928	\$1,645,292	\$2,044,335	\$911,709	
AVAILABLE REVENUES						
8000 General Fund	10,422,555	6,732,928	1,645,292	2,044,335	-	
3400 Other Funds Ltd	911,709	-	-	-	911,709	
TOTAL AVAILABLE REVENUES	\$11,334,264	\$6,732,928	\$1,645,292	\$2,044,335	\$911,709	
EXPENDITURES						
PERSONAL SERVICES						
SALARIES & WAGES						
3110 Class/Unclass Sal. and Per Diem						
8000 General Fund	5,315,383	3,266,345	945,302	1,103,736	-	
3400 Other Funds Ltd	560,092	-	-	-	560,092	
All Funds	5,875,475	3,266,345	945,302	1,103,736	560,092	
1/15/12 8:53 AM		Page 23 of 37		Detai	I Revenues & Expendit	ures - Policy Packag BDV00

Judicial Dept

BDV004B 2013-15 Biennium Trial Courts Agency Number 19800 Version: V - 01 - Agency Request Budget Cross Reference Number: 19800-100-00-00-00000

Description	Total Policy Packages	Pkg: 203 Circuit Courts Service Level Staff Resource Needs	Pkg: 204 Circuit Courts Treatment Court Staff Resource Needs	Pkg: 205 Circuit Courts Pro Se Facilitation	Pkg: 210 Specialty Courts Grants	
		Priority: 00	Priority: 00	Priority: 00	Priority: 00	
OTHER PAYROLL EXPENSES						
3210 Empl. Rel. Bd. Assessments						
8000 General Fund	3,250	2,135	520	595	-	
3400 Other Funds Ltd	280	-	-	-	280	
All Funds	3,530	2,135	520	595	280	
3220 Public Employees Retire Cont						
8000 General Fund	1,048,719	644,447	186,507	217,765	-	
3400 Other Funds Ltd	110,508	-	-	-	110,508	
All Funds	1,159,227	644,447	186,507	217,765	110,508	
3230 Social Security Taxes						
8000 General Fund	406,650	249,896	72,315	84,439	-	
3400 Other Funds Ltd	42,848	-	-	-	42,848	
All Funds	449,498	249,896	72,315	84,439	42,848	
3250 Workers Comp. Assess. (WCD)						
8000 General Fund	4,745	3,111	767	867	-	
3400 Other Funds Ltd	413	-	-	-	413	
All Funds	5,158	3,111	767	867	413	
3260 Mass Transit Tax						
8000 General Fund	16,896	10,977	2,835	3,084	-	
3270 Flexible Benefits						
8000 General Fund	2,471,448	1,646,757	362,208	462,483	-	
3400 Other Funds Ltd	197,568	-	-	-	197,568	
All Funds	2,669,016	1,646,757	362,208	462,483	197,568	
5/12 3 AM		Page 24 of 37		Detai	I Revenues & Expendit	ures - Policy Packag BDV00

Judicial Dept

BDV004B 2013-15 Biennium Trial Courts

Agency Number 19800

Version: V - 01 - Agency Request Budget Cross Reference Number: 19800-100-00-00-00000

Description	Total Policy Packages	Pkg: 203 Circuit Courts Service Level Staff Resource Needs	Pkg: 204 Circuit Courts Treatment Court Staff Resource Needs	Pkg: 205 Circuit Courts Pro Se Facilitation	Pkg: 210 Specialty Courts Grants	
		Priority: 00	Priority: 00	Priority: 00	Priority: 00	
3280 Other OPE						
8000 General Fund	336,464	206,760	59,838	69,866	-	
OTHER PAYROLL EXPENSES						
8000 General Fund	4,288,172	2,764,083	684,990	839,099	-	
3400 Other Funds Ltd	351,617	-	-	-	351,617	
TOTAL OTHER PAYROLL EXPENSES	\$4,639,789	\$2,764,083	\$684,990	\$839,099	\$351,617	
PERSONAL SERVICES						
8000 General Fund	9,603,555	6,030,428	1,630,292	1,942,835	-	
3400 Other Funds Ltd	911,709	-	-	-	911,709	
TOTAL PERSONAL SERVICES	\$10,515,264	\$6,030,428	\$1,630,292	\$1,942,835	\$911,709	
SERVICES & SUPPLIES						
4100 Instate Travel						
8000 General Fund	2,000	-	-	2,000	-	
4150 Employee Training						
8000 General Fund	20,500	13,000	-	7,500	-	
4175 Office Expenses						
8000 General Fund	75,500	46,500	3,500	25,500	-	
4200 Telecommunications						
8000 General Fund	71,000	41,500	3,500	26,000	-	
4650 Other Services and Supplies						
8000 General Fund	11,000	6,000	-	5,000	-	
4700 Expendable Prop 250 - 5000						
11/15/12 8:53 AM		Page 25 of 37		Detai	I Revenues & Expendit	ures - Policy Packages BDV004B

BDV004B 2013-15 Biennium Trial Courts					ion: V - 01 - Agency nce Number: 19800	•
Description	Total Policy Packages	Pkg: 203 Circuit Courts Service Level Staff Resource Needs	Pkg: 204 Circuit Courts Treatment Court Staff Resource Needs	Pkg: 205 Circuit Courts Pro Se Facilitation	Pkg: 210 Specialty Courts Grants	
		Priority: 00	Priority: 00	Priority: 00	Priority: 00	
8000 General Fund	10,500	5,000	-	5,500	-	
4715 IT Expendable Property						
8000 General Fund	628,500	590,500	8,000	30,000	-	
SERVICES & SUPPLIES						
8000 General Fund	819,000	702,500	15,000	101,500	-	
TOTAL SERVICES & SUPPLIES	\$819,000	\$702,500	\$15,000	\$101,500	-	
EXPENDITURES						
8000 General Fund	10,422,555	6,732,928	1,645,292	2,044,335	-	
3400 Other Funds Ltd	911,709	-	-	-	911,709	
TOTAL EXPENDITURES	\$11,334,264	\$6,732,928	\$1,645,292	\$2,044,335	\$911,709	
ENDING BALANCE						
8000 General Fund	-	-	-	-	-	
3400 Other Funds Ltd	-	-	-	-	-	
TOTAL ENDING BALANCE	-	-	-	-	-	
AUTHORIZED POSITIONS						
8150 Class/Unclass Positions	99	62	13	17	7	
AUTHORIZED FTE						
8250 Class/Unclass FTE Positions	79.54	51.14	9.21	14.29	4.90	

Judicial Dept

11/15/12 8:53 AM Page 26 of 37

Detail Revenues & Expenditures - Policy Packages BDV004B

Agency Number 19800

3DV004B 2013-15 Biennium Appellate/Tax Courts			Version: V - 01 - Agency Request Budge Cross Reference Number: 19800-101-00-00-0000
Description	Total Policy Packages	Pkg: 211 2012 Legislative Session Court of Appeals Panel	
		Priority: 00	
REVENUE CATEGORIES			
GENERAL FUND APPROPRIATION			
0050 General Fund Appropriation			
8000 General Fund	2,006,054	2,006,054	
AVAILABLE REVENUES			
8000 General Fund	2,006,054	2,006,054	
TOTAL AVAILABLE REVENUES	\$2,006,054	\$2,006,054	
EXPENDITURES			
PERSONAL SERVICES			
SALARIES & WAGES			
3110 Class/Unclass Sal. and Per Diem			
8000 General Fund	867,698	867,698	
OTHER PAYROLL EXPENSES			
3210 Empl. Rel. Bd. Assessments			
8000 General Fund	342	342	
3220 Public Employees Retire Cont			
8000 General Fund	171,194	171,194	
3230 Social Security Taxes			
8000 General Fund	66,383	66,383	
3250 Workers Comp. Assess. (WCD)			
8000 General Fund	504	504	
3260 Mass Transit Tax			
8000 General Fund	9,075	9,075	

Agency Number 19800

BDV004B Version: V - 01 - Agency Request Budget 2013-15 Biennium Cross Reference Number: 19800-101-00-00-00000 Appellate/Tax Courts Pkg: 211 Total Policy 2012 Legislative Description Packages Session Court of Appeals Panel Priority: 00 3270 Flexible Benefits 8000 General Fund 288,903 288,903 3280 Other OPE 8000 General Fund 54,925 54,925 OTHER PAYROLL EXPENSES 8000 General Fund 591,326 591,326 TOTAL OTHER PAYROLL EXPENSES \$591,326 \$591,326 PERSONAL SERVICES 8000 General Fund 1,459,024 1,459,024 TOTAL PERSONAL SERVICES \$1,459,024 \$1,459,024 SERVICES & SUPPLIES 4150 Employee Training 8000 General Fund 23,050 23,050 4175 Office Expenses 8000 General Fund 23,050 23,050 4200 Telecommunications 8000 General Fund 30,733 30,733 4300 Professional Services 8000 General Fund 148,957 148,957 4315 IT Professional Services 8000 General Fund 30,840 30,840 4375 Employee Recruitment and Develop 11/15/12 Page 28 of 37 Detail Revenues & Expenditures - Policy Packages 8:53 AM BDV004B

Judicial Dept

BDV004B 2013-15 Biennium Appellate/Tax Courts			Version: V - 01 - Agency Request Budge Cross Reference Number: 19800-101-00-00-0000
Description	Total Policy Packages	Pkg: 211 2012 Legislative Session Court of Appeals Panel	
		Priority: 00	
8000 General Fund	10,240	10,240	
4425 Facilities Rental and Taxes			
8000 General Fund	224,963	224,963	
4650 Other Services and Supplies			
8000 General Fund	7,683	7,683	
4700 Expendable Prop 250 - 5000			
8000 General Fund	47,514	47,514	
SERVICES & SUPPLIES			
8000 General Fund	547,030	547,030	
TOTAL SERVICES & SUPPLIES	\$547,030	\$547,030	
EXPENDITURES			
8000 General Fund	2,006,054	2,006,054	
TOTAL EXPENDITURES	\$2,006,054	\$2,006,054	
ENDING BALANCE			
8000 General Fund	-	-	
TOTAL ENDING BALANCE	-	-	
AUTHORIZED POSITIONS			
8150 Class/Unclass Positions	9	9	
AUTHORIZED FTE			
8250 Class/Unclass FTE Positions	8.64	8.64	

Detail Revenues & Expenditures - Policy Packages

BDV004B

2013-15 Chief Justice's Recommended Budget

11/15/12

8:53 AM

Page 29 of 37

BDV004B 2013-15 Biennium Administration and Central Support Agency Number 19800

Version: V - 01 - Agency Request Budget Cross Reference Number: 19800-102-00-00-00000

Description	Total Policy Packages	Pkg: 206 Statewide Improvement, Education and Standardization Staff Resource Needs	Pkg: 207 Oregon eCourt Technical Operations and Training Staff Resource Needs	Pkg: 208 Centralization and Analysis Staff Resource Needs	Pkg: 209 Family Law Program	
		Priority: 00	Priority: 00	Priority: 00	Priority: 00	
REVENUE CATEGORIES						
GENERAL FUND APPROPRIATION						
0050 General Fund Appropriation						
8000 General Fund	3,140,786	558,932	1,123,189	926,091	532,574	
AVAILABLE REVENUES						
8000 General Fund	3,140,786	558,932	1,123,189	926,091	532,574	
TOTAL AVAILABLE REVENUES	\$3,140,786	\$558,932	\$1,123,189	\$926,091	\$532,574	
EXPENDITURES						
PERSONAL SERVICES						
SALARIES & WAGES						
3110 Class/Unclass Sal. and Per Diem						
8000 General Fund	1,733,679	321,468	623,070	496,611	292,530	
OTHER PAYROLL EXPENSES						
3210 Empl. Rel. Bd. Assessments						
8000 General Fund	705	105	210	285	105	
3220 Public Employees Retire Cont						
8000 General Fund	342,057	63,426	122,932	97,982	57,717	
3230 Social Security Taxes						
8000 General Fund	132,631	24,593	47,666	37,993	22,379	
3250 Workers Comp. Assess. (WCD)						
8000 General Fund	1,028	153	306	416	153	
3260 Mass Transit Tax						
8000 General Fund	10,401	1,929	3,738	2,979	1,755	
11/15/12 8:53 AM		Page 30 of 37		Deta	il Revenues & Expendit	ures - Policy Package BDV004

BDV004B 2013-15 Biennium Administration and Central Support

Agency Number 19800

Version: V - 01 - Agency Request Budget Cross Reference Number: 19800-102-00-00-00000

Description	Total Policy Packages	Pkg: 206 Statewide Improvement, Education and Standardization Staff	Pkg: 207 Oregon eCourt Technical Operations and Training Staff Resource Needs	Pkg: 208 Centralization and Analysis Staff Resource Needs	Pkg: 209 Family Law Program	
		Resource Needs Priority: 00	Priority: 00	Priority: 00	Priority: 00	
3270 Flexible Benefits						
8000 General Fund	596,544	90,909	180,327	235,890	89,418	
3280 Other OPE						
8000 General Fund	109,741	20,349	39,440	31,435	18,517	
OTHER PAYROLL EXPENSES						
8000 General Fund	1,193,107	201,464	394,619	406,980	190,044	
TOTAL OTHER PAYROLL EXPENSES	\$1,193,107	\$201,464	\$394,619	\$406,980	\$190,044	
PERSONAL SERVICES						
8000 General Fund	2,926,786	522,932	1,017,689	903,591	482,574	
TOTAL PERSONAL SERVICES	\$2,926,786	\$522,932	\$1,017,689	\$903,591	\$482,574	
SERVICES & SUPPLIES						
4100 Instate Travel						
8000 General Fund	14,500	4,500	4,500	-	5,500	
4150 Employee Training						
8000 General Fund	76,000	6,000	60,000	3,000	7,000	
4175 Office Expenses						
8000 General Fund	27,000	7,000	10,000	3,500	6,500	
4200 Telecommunications						
8000 General Fund	23,500	5,500	6,500	5,000	6,500	
4300 Professional Services						
8000 General Fund	7,000	-	-	-	7,000	
4400 Dues and Subscriptions						
/15/12 33 AM		Page 31 of 37		Deta	il Revenues & Expendit	ures - Policy Pack BDV

BDV004B 2013-15 Biennium Administration and Central Support Agency Number 19800

Version: V - 01 - Agency Request Budget Cross Reference Number: 19800-102-00-00-00000

Description	Total Policy Packages	Pkg: 206 Statewide Improvement, Education and Standardization Staff Resource Needs Priority: 00	Pkg: 207 Oregon eCourt Technical Operations and Training Staff Resource Needs Priority: 00	Pkg: 208 Centralization and Analysis Staff Resource Needs Priority: 00	Pkg: 209 Family Law Program Priority: 00	
8000 General Fund	7,500	1,000	2.000	3,000	1,500	
4650 Other Services and Supplies						
8000 General Fund	9,000	-	2,500	2,500	4,000	
4700 Expendable Prop 250 - 5000						
8000 General Fund	6,000	-	-	-	6,000	
4715 IT Expendable Property						
8000 General Fund	43,500	12,000	20,000	5,500	6,000	
SERVICES & SUPPLIES						
8000 General Fund	214,000	36,000	105,500	22,500	50,000	
TOTAL SERVICES & SUPPLIES	\$214,000	\$36,000	\$105,500	\$22,500	\$50,000	
EXPENDITURES						
8000 General Fund	3,140,786	558,932	1,123,189	926,091	532,574	
TOTAL EXPENDITURES	\$3,140,786	\$558,932	\$1,123,189	\$926,091	\$532,574	
ENDING BALANCE						
8000 General Fund	-	-	-	-	-	
TOTAL ENDING BALANCE	-	-	-	-	-	
AUTHORIZED POSITIONS						
8150 Class/Unclass Positions	22	3	6	10	3	
AUTHORIZED FTE						
8250 Class/Unclass FTE Positions	17.70	2.64	5.28	7.14	2.64	

11/15/12 8:53 AM Page 32 of 37

Detail Revenues & Expenditures - Policy Packages BDV004B

Judicial Dept		Agency Number 19800	
BDV004B 2013-15 Biennium Mandated Payments			Version: V - 01 - Agency Request Budget Cross Reference Number: 19800-200-00-00-00000
Description	Total Policy Packages	Pkg: 213 Contract Interpreter Rate Increase - Mandated Payments	
		Priority: 00	
REVENUE CATEGORIES			
GENERAL FUND APPROPRIATION			
0050 General Fund Appropriation			
8000 General Fund	1,476,135	1,476,135	
AVAILABLE REVENUES			
8000 General Fund	1,476,135	1,476,135	
TOTAL AVAILABLE REVENUES	\$1,476,135	\$1,476,135	
EXPENDITURES			
SERVICES & SUPPLIES			
4300 Professional Services			
8000 General Fund	1,476,135	1,476,135	
ENDING BALANCE			
8000 General Fund	-	-	
TOTAL ENDING BALANCE	-	-	

11/15/12 8:53 AM Page 33 of 37

Detail Revenues & Expenditures - Policy Packages BDV004B

Judicial Dept				Agency Number 19800
BDV004B 2013-15 Biennium State Court Facilities Security Account				Version: V - 01 - Agency Request Budget Cross Reference Number: 19800-400-00-00-00000
Description	Total Policy Packages	Pkg: 214 Local Court Facilities Infrastructure	Pkg: 215 Local Court Security Systems Standardization	
		Priority: 00	Priority: 00	
EXPENDITURES	·	•		· · ·
SERVICES & SUPPLIES				
4300 Professional Services				
3400 Other Funds Ltd	787,487	-	787,487	
CAPITAL OUTLAY				
5800 Professional Services				
3400 Other Funds Ltd	3,545,858	3,545,858	-	
EXPENDITURES				
3400 Other Funds Ltd	4,333,345	3,545,858	787,487	
TOTAL EXPENDITURES	\$4,333,345	\$3,545,858	\$787,487	
ENDING BALANCE				
3400 Other Funds Ltd	(4,333,345)	(3,545,858)	(787,487)	
TOTAL ENDING BALANCE	(\$4,333,345)	(\$3,545,858)	(\$787,487)	

11/15/12 8:53 AM

Page 34 of 37

Detail Revenues & Expenditures - Policy Packages BDV004B

3DV004B 013-15 Biennium Court Program	Version: V - 01 - Agency Request Budge Cross Reference Number: 19800-500-00-00-0000		
Description	Total Policy Packages	Pkg: 202 Oregon eCourt Program	
		Priority: 00	
REVENUE CATEGORIES			
BOND SALES			
0555 General Fund Obligation Bonds			
3400 Other Funds Ltd	24,324,682	24,324,682	
VAILABLE REVENUES			
3400 Other Funds Ltd	24,324,682	24,324,682	
TOTAL AVAILABLE REVENUES	\$24,324,682	\$24,324,682	
EXPENDITURES			
PERSONAL SERVICES			
SALARIES & WAGES			
3110 Class/Unclass Sal. and Per Diem			
3400 Other Funds Ltd	5,298,473	5,298,473	
OTHER PAYROLL EXPENSES			
3210 Empl. Rel. Bd. Assessments			
3400 Other Funds Ltd	1,558	1,558	
3220 Public Employees Retire Cont			
3400 Other Funds Ltd	1,045,390	1,045,390	
3230 Social Security Taxes			
3400 Other Funds Ltd	405,334	405,334	
3250 Workers Comp. Assess. (WCD)			
3400 Other Funds Ltd	2,297	2,297	
3270 Flexible Benefits			
3400 Other Funds Ltd	1,349,205	1,349,205	

ludicial Dept		Agency Number 1980			
DV004B			Version: V - 01 - Agency Request Budg		
013-15 Biennium Court Program			Cross Reference Number: 19800-500-00-000		
		51 000			
	Total Policy	Pkg: 202 Oregon eCourt			
Description	Packages	Program			
		Priority: 00			
3280 Other OPE					
3400 Other Funds Ltd	671,046	671,046			
OTHER PAYROLL EXPENSES	011,040	011,010			
3400 Other Funds Ltd	3,474,830	3,474,830			
TOTAL OTHER PAYROLL EXPENSES	\$3,474,830	\$3,474,830			
PERSONAL SERVICES					
3400 Other Funds Ltd	8,773,303	8,773,303			
TOTAL PERSONAL SERVICES	\$8,773,303	\$8,773,303			
SERVICES & SUPPLIES		**,***			
4100 Instate Travel					
3400 Other Funds Ltd	549,656	549,656			
4150 Employee Training	040,000	040,000			
3400 Other Funds Ltd	24,000	24,000			
4175 Office Expenses	24,000	24,000			
3400 Other Funds Ltd	125,664	125,664			
4200 Telecommunications					
3400 Other Funds Ltd	16,800	16,800			
4300 Professional Services					
3400 Other Funds Ltd	60,000	60,000			
4315 IT Professional Services					
3400 Other Funds Ltd	9,231,143	9,231,143			
4425 Facilities Rental and Taxes	, .,				
1/15/12 :53 AM		Page 36 of 37	Detail Revenues & Expenditures - Policy Packa BDV0		

Judicial Dept		Agency Number 19800	
BDV004B 2013-15 Biennium eCourt Program	Version: V - 01 - Agency Request Budge Cross Reference Number: 19800-500-00-00-00000		
Description	Total Policy Packages	Pkg: 202 Oregon eCourt Program	
		Priority: 00	
3400 Other Funds Ltd	789,652	789,652	
4715 IT Expendable Property			
3400 Other Funds Ltd	1,617,583	1,617,583	
SERVICES & SUPPLIES			
3400 Other Funds Ltd	12,414,498	12,414,498	
TOTAL SERVICES & SUPPLIES	\$12,414,498	\$12,414,498	
CAPITAL OUTLAY			
5550 Data Processing Software			
3400 Other Funds Ltd	3,136,881	3,136,881	
EXPENDITURES			
3400 Other Funds Ltd	24,324,682	24,324,682	
TOTAL EXPENDITURES	\$24,324,682	\$24,324,682	
ENDING BALANCE			
3400 Other Funds Ltd	-	-	
TOTAL ENDING BALANCE	-	-	
AUTHORIZED POSITIONS			
8150 Class/Unclass Positions	40	40	
AUTHORIZED FTE			
8250 Class/Unclass FTE Positions	37.96	37.96	

11/15/12 8:53 AM Page 37 of 37

Detail Revenues & Expenditures - Policy Packages BDV004B This page intentionally left blank.

Summary Level PICS Reports PPDPLBUDCL – Summary List by Package by Summary XREF (Agency 197)

	2 REPORT NO.: P			DEPI	. OF ADMIN.	SVCS PPD	B PICS SYSTEM				PAGE
GENCY :	19700 JUDICIAL	Y PKG BY SUMMARY XREF DEPT-JUDGES IN PERS							PICS SYSTEM:	2013-15 BUDGET PRE	PROD FIL
UMMARY	XREF:010-00-00	000 Judicial Compensa	atio								
			POS			AVERAGE	GF	OF	FF	LF	AF
PKG CL	ASS COMP	DESCRIPTION	CNT	FTE	MOS	RATE	SAL	SAL	SAL	SAL	SAL
00 JE	Y9724 AB JUDGE	CIRCUIT COURT	173	173.00	4152.00	9,539.00	39,605,928				39,605,928
00 JE	Y9725 AB JUDGE	TAX COURT	i	1.00	24.00	9,847.00	236,328				236,328
000 JE	Y9726 AB JUDGE	COURT OF APPEALS	9	9.00	216.00	10,235.00	2,210,760				2,210,760
00 JE	Y9727 AB JUDGE	SUPREME COURT	6	6.00	144.00	10,474.00	1,508,256				1,508,256
00 JE	Y9728 AB CHIEF	COURT OF APPEALS	1	1.00	24.00	10,474.00	251,376				251,376
00 JE	Y9729 AB CHIEF	SUPREME COURT	1	1.00	24.00	10,713.00	257,112				257,112
000			191	191.00	4584.00	9,613.82	44,069,760				44,069,760

08/03/12 REPORT NO.:	PPDPLBUDCL		DEPT	. OF ADMIN.	SVCS PPD	B PICS SYSTEM				PAGE
REPORT: SUMMARY LIST	BY PKG BY SUMMARY XREF								2013-15	PROD FILE
AGENCY: 19700 JUDICIA	L DEPT-JUDGES IN PERS							PICS SYS	TEM: BUDGET PRE	PARATION
SUMMARY XREF:010-00-	00 211 Judicial Compensa	tio								
		POS			AVERAGE	GF	OF	FF	LF	AF
Line and all allows										
PKG CLASS COMP	DESCRIPTION	CNT	FTE	MOS	RATE	SAL	SAL	SAL	SAL	SAL
211 JE Y9726 AB JUD	GE COURT OF APPEALS	3	2.64	63.00	10,235.00	644,805				644,805
211		3	2.64	63.00	10,235.00	644,805				644,805
		194	193.64	4647.00	9,623.42	44,714,565				44,714,565

08/03/12 REPORT NO.: 1 REPORT: SUMMARY LIST 1	PPDPLBUDCL BY PKG BY SUMMARY XREF		DEPI	. OF ADMIN.	SVCS PPD	B PICS SYSTEM			2013-15		PAGE PROD FII
AGENCY:19700 JUDICIAL SUMMARY XREF:100-00-00								PICS SYST	EM: BUDGET PRI	EPARATION	
		POS			AVERAGE	GF	OF	FF	LF	AF	
KG CLASS COMP	DESCRIPTION	CNT	FTE	MOS	RATE	SAL	SAL	SAL	SAL	SAL	
00 JE Y9724 AB JUDG	E CIRCUIT COURT		.00	.00	9,539.00						
00			.00	.00	9,539.00						
			.00	.00	9,539.00						
		194	193.64	4647.00	9,620.08	44,714,565				44,714	,565

[This page intentionally left blank.]

PPDPLBUDCL – Summary List by Package by Summary XREF (Agency 198)

	12 REPORT NO.: SUMMARY LIST	PPDPLBUDCL BY PKG BY SUMMARY XREF		DEPT	. OF ADMIN.	SVCS PPDH	B PICS SYSTEM			2013-15	PAGE PROD FIL
AGENCY	19800 JUDICIAL	L DEPARTMENT							PICS SYSTEM	BUDGET PREPARA	
SUMMARY	XREF:100-00-0	00 000 Trial Courts									
			POS		712.2	AVERAGE	GF	OF	FF	LF	AF
KG CI	ASS COMP	DESCRIPTION	CNT	FTE	MOS	RATE	SAL	SAL	SAL	SAL	SAL
00 JE	¥1970 AB JUDO	GE PRO-TEM	82	.00	.00	9,539.00					
ML 00	J9611 AA COUR	RT OPERATIONS SUPERVISOR 1	10	10.00	240.00	4,866.90	1,168,056				1,168,056
ML 000	J9612 AA COUR	RT OPERATIONS SUPERVISOR 2	32	32.00	768.00	5,042.62	3,872,736				3,872,736
ML 00	J9613 AA COUR	RT OPER SUPV 3	21	21.00	504.00	5,734.90	2,890,392				2,890,392
ML 00	J9619 AA TECH	HNICAL SUPPORT SPEC SUPV	3	3.00	72.00	7,308.66	526,224				526,224
00 JM	J9632 AA MANA	AGEMENT ASSISTANT 2	5	5.00	120.00	4,495.00	539,400				539,400
ML 00	J9638 AA TRIA	AL COURT ADMINISTRATOR 1	3	3.00	72.00	6,942.66	499,872				499,872
ML 000	J9639 AA TRIA	AL COURT ADMINISTRATOR 2	7	7.00	168.00	6,766.14	1,136,712				1,136,712
ML 00	J9640 AA TRIA	AL COURT ADMINISTRATOR 3	10	10.00	240.00	8,447.27	2,030,976				2,030,976
ML 00	J9641 AA TRIA	AL COURT ADMINISTRATOR 4	6	6.00	144.00	9,704.16	1,397,400				1,397,400
ML 00	J9642 AA TRIA	AL COURT ADMINISTRATOR 5	1	1.00	24.00	11,668.00	280,032				280,032
00 JM	J9644 AA OJD	ANALYST 2	4	4.00	96.00	5,232.00	502,272				502,272
ML 00	J9645 AA OJD	ANALYST 3	4	4.00	96.00	5,888.75	565,320				565,320
ML 00	J9646 AA OJD	ANALYST 4	5	5.00	120.00	5,345.00	481,178	160,222			641,400
ML 00	J9674 AA MANA	AGEMENT ASSISTANT 1	2	2.00	48.00	3,712.00	178,176				178,176
ML 00	J9692 AA COUR	RT OPER MANAGER 1	2	2.00	48.00	4,733.50	227,208				227,208
ML 00	J9707 AA COUR	RT OPER MANAGER 2	1	1.00	24.00	7,525.00	180,600				180,600
00 JM	J9708 AA COUR	RT OPERATIONS MANAGER 3	в	8.00	192.00	6,770.37	1,299,912				1,299,912
ML 00	J9718 AA HEAF	RINGS REFEREE	16	16.00	384.00	8,375.68	3,216,264				3,216,264
ML 00	J9740 AA JUDI	ICIAL SERVICES SPECIALIST 3	17	17.00	408.00	3,950.05	1,611,624				1,611,624
ML 00	J9741 AA JUDI	ICIAL SERVICES SPECIALIST 4	3	3.00	72.00	4,618.00	332,496				332,496
ML 00	J9745 AA OJD	PROGRAM COORDINATOR 4	1	1.00	24.00	5,897.00	141,528				141,528
00 JMC	J9612 AA COUR	RT OPERATIONS SUPERVISOR 2	1	1.00	24.00	4,399.00	105,576				105,576
00 JMI	9 J9645 AA OJD	ANALYST 3	1	.50	12.00	7,165.00	85,980				85,980
00 JMI	9 J9718 AA HEAF	RINGS REFEREE	в	4.06	97.39	7,382.62	721,974				721,974

11/15/12 REPORT NO.: PPDPLBUDCL REPORT: SUMMARY LIST BY PKG BY S			DEP	r. of admin.	SVCS PPD	B PICS SYSTEM			2013-15	PAGE PROD FI
AGENCY:19800 JUDICIAL DEPARTMENT SUMMARY XREF:100-00-00 000 Trial								PICS SYS	TEM: BUDGET PRE	PARATION
		POS			AVERAGE	GF	OF	FF	LF	AF
PKG CLASS COMP DESCRI		CNT	FTE	MOS	RATE	SAL	SAL	SAL	SAL	SAL
000 JUA J9611 AA COURT OPERATION	S SUPERVISOR 1	2	2.00	48.00	4,189.00	201,072				201,072
000 JUA J9616 AA TECHNICAL SUPPO	RT SPEC 2	9	9.00	216.00	4,189.33	904,896				904,896
000 JUA J9617 AA TECHNICAL SUPPO	RT SPEC 3	10	9.80	235.20	4,831.90	1,132,704				1,132,704
000 JUA J9618 AA TECHNICAL SUPPO	RT SPEC 4	20	20.00	480.00	5,594.52	2,663,688				2,663,688
000 JUA J9622 AA OJD RELEASE ASS	I OFFICER	12	12.00	288.00	4,474.16	1,086,504	202,056			1,288,560
000 JUA J9632 AA MANAGEMENT ASSI	STANT 2	5	5.00	120.00	4,631.00	555,720				555,720
000 JUA J9643 AA OJD ANALYST 1		2	1.85	44.40	4,446.50	195,101				195,101
000 JUA J9644 AA OJD ANALYST 2		3	3.00	72.00	4,861.00	349,992				349,992
000 JUA J9649 AA OJD COLLECTIONS	AGENT	3	3.00	72.00	3,511.33	242,926	9,890			252,816
00 JUA J9674 AA MANAGEMENT ASSI	STANT 1	4	4.00	96.00	3,515.00	337,440				337,440
00 JUA J9700 AA JUDICIAL CLERK		40	39.82	955.68	3,322.75	3,176,984				3,176,984
000 JUA J9712 AA ADMIN ANALYST 3		2	2.00	48.00	5,621.00	269,808				269,808
000 JUA J9721 AA LAW CLERK		1	1.00	24.00	4,399.00	105,576				105,576
000 JUA J9738 AA JUDICIAL SERVIC	ES SPECIALIST 1	17	16.97	407.20	3,025.47	1,232,334				1,232,334
000 JUA J9739 AA JUDICIAL SERVIC	ES SPECIALIST 2	325	323.82	7771.68	3,327.52	24,734,457	1,120,126			25,854,583
000 JUA J9740 AA JUDICIAL SERVIC	ES SPECIALIST 3	507	505.64	12135.30	3,650.05	43,770,310	524,519			44,294,829
000 JUA J9741 AA JUDICIAL SERVIC	ES SPECIALIST 4	42	41.90	1005.60	4,174.26	4,186,557	13,601			4,200,158
000 JUA J9742 AA OJD PROGRAM COO	RDINATOR 1	15	14.73	353,42	4,187.40	1,481,854				1,481,854
000 JUA J9743 AA OJD PROGRAM COO	RDINATOR 2	13	13.00	312.00	4,575.46	1,427,544				1,427,544
000 JUA J9744 AA OJD PROGRAM COO	RDINATOR 3	16	15.60	374.40	5,143.70	1,935,932				1,935,932
000 JUA J9745 AA OJD PROGRAM COO	RDINATOR 4	3	2.80	67.20	5,279.33	351,806				351,806
000 JUN J9622 AA OJD RELEASE ASS	I OFFICER	2	1.00	24.00	3,454.50	82,908				82,908
000 JUN J9676 AA STENO COURT REP	ORTER	1	.50	12.00	5,615.00	67,380				67,380
00 JUN J9718 AA HEARINGS REFERE	E	1	.25	6.00	9,145.00	54,870				54,870
00 JUN J9738 AA JUDICIAL SERVIC	ES SPECIALIST 1	3	1.80	43.10	3,315.33	139,630				139,630

11/15/12 REPORT NO.: PP	DPLBUDCL		DEP	F. OF ADMIN.	SVCS PPI	B PICS SYSTEM				PAGE
REPORT: SUMMARY LIST BY AGENCY:19800 JUDICIAL D SUMMARY XREF:100-00-00	EPARTMENT							PICS SYS	2013-15 TEM: BUDGET PRE	PROD FILE
		POS			AVERAGE	GF	OF	FF	LF	AF
PKG CLASS COMP	DESCRIPTION	CNT	FTE	MOS	RATE	SAL	SAL	SAL	SAL	SAL
000 JUN J9739 AA JUDICI.	AL SERVICES SPECIALIST :	2 17	9.37	224.70	3,238.41	730,593	6,809			737,402
000 JUN J9740 AA JUDICI	AL SERVICES SPECIALIST :	3 17	9.66	231.76	3,494.17	746,329	59,624			805,953
000 JUN J9741 AA JUDICL	AL SERVICES SPECIALIST	4 4	2.72	65.21	4,137.25	260,136				260,136
000 JUN J9743 AA OJD PR	OGRAM COORDINATOR 2	1	.34	8.22	3,447.00	28,334				28,334
000 JUN J9744 AA OJD PR	DGRAM COORDINATOR 3	1	.50	12.00	5,262.00	63,144				63,144
000 JUN J9745 AA OJD PR	DGRAM COORDINATOR 4	2	.54	13.05	5,901.50	80,152				80,152
000		1353	1240.17	29763.51	4,337.92	116,588,589	2,096,847			118,685,436

1/15/12 REPORT NO.: PPDPLBUDCL EPORT: SUMMARY LIST BY PKG BY SUMMARY XREF		DEPT	. OF ADMIN.	SVCS PPDB	PICS SYSTEM			2013-15	PAGE PROD FILI
GENCY:19800 JUDICIAL DEPARTMENT UMMARY XREF:100-00-00 203 Trial Courts							PICS SYS	TEM: BUDGET PREF	
	POS			AVERAGE	GF	OF	FF	LF	AF
KG CLASS COMP DESCRIPTION	INT	FTE	MOS	RATE	SAL	SAL	SAL	SAL	SAL
03 JM J9611 AA COURT OPERATIONS SUPERVISOR 1	1	.88	21.00	3,286.00	69,006				69,006
03 JM J9613 AA COURT OPER SUPV 3	1	.88	21.00	3,990.00	83,790				83,790
03 JM J9618 AA TECHNICAL SUPPORT SPEC 4	1	.88	21.00	4,189.00	87,969				87,969
03 JUA J9616 AA TECHNICAL SUPPORT SPEC 2	1	.88	21.00	3,124.00	65,604				65,604
03 JUA J9649 AA OJD COLLECTIONS AGENT	1	.88	21.00	3,124.00	65,604				65,604
03 JUA J9674 AA MANAGEMENT ASSISTANT 1	1	.88	21.00	2,700.00	56,700				56,700
03 JUA J9700 AA JUDICIAL CLERK	1	.88	21.00	2,837.00	59,577				59,577
03 JUA J9721 AA LAW CLERK	1	.88	21.00	3,990.00	83,790				83,790
03 JUA J9738 AA JUDICIAL SERVICES SPECIALIST 1	3	2.64	63.00	2,336.00	147,168				147,168
03 JUA J9739 AA JUDICIAL SERVICES SPECIALIST 2	27	22.88	546.00	2,451.00	1,338,246				1,338,246
03 JUA J9740 AA JUDICIAL SERVICES SPECIALIST 3	16	14.08	336.00	2,700.00	907,200				907,200
03 JUA J9741 AA JUDICIAL SERVICES SPECIALIST 4	2	1.76	42.00	2,976.00	124,992				124,992
03 JUN J9739 AA JUDICIAL SERVICES SPECIALIST 2	1	.44	10.44	2,451.00	25,588				25,588
03 JUN J9740 AA JUDICIAL SERVICES SPECIALIST 3	4	1.86	44.46	2,700.00	120,042				120,042
03 JUN J9742 AA OJD PROGRAM COORDINATOR 1	1	. 44	10.44	2,976.00	31,069				31,069
03	62	51.14	1220.34	2,674.25	3,266,345				3,266,345

Г

11/1	5/12 REPORT NO.: P	PDPLBUDCL		DEPT	. OF ADMIN.	SVCS PPDB	PICS SYSTEM				PAGE
REPO	RT: SUMMARY LIST B	Y PKG BY SUMMARY XREF								2013-15	PROD FILE
	CY:19800 JUDICIAL								PICS SYST	TEM: BUDGET PREF	ARATION
SUMM	ARY XREF:100-00-00	204 Trial Courts									
			POS			AVERAGE	GF	OF	FF	LF	AF
PKG	CLASS COMP	DESCRIPTION	CNT	FTE	MOS	RATE	SAL	SAL	SAL	SAL	SAL
204	JUA J9739 AA JUDIC	IAL SERVICES SPECIALIST 2	1	.65	15,60	2,451.00	38,236				38,236
204	JUA J9742 AA OJD P	ROGRAM COORDINATOR 1	1	.90	21.60	2,976.00	64,282				64,282
204	JUA J9743 AA OJD P	ROGRAM COORDINATOR 2	1	1.00	24.00	3,447.00	82,728				82,728
204	JUA J9744 AA OJD P	ROGRAM COORDINATOR 3	3	2.20	52.80	4,912.00	277,056				277,056
204	JUA J9745 AA OJD P	ROGRAM COORDINATOR 4	2	2.00	48.00	5,293.50	254,088				254,088
204	JUN J9740 AA JUDIC	IAL SERVICES SPECIALIST 3	1	.66	15.72	2,700.00	42,444				42,444
204	JUN J9743 AA OJD P	ROGRAM COORDINATOR 2	1	.50	12.00	3,447.00	41,364				41,364
:04	JUN J9744 AA OJD P	ROGRAM COORDINATOR 3	3	1.30	31.20	4,562.66	145,104				145,104
04			13	9.21	220,92	4,156.30	945,302				945,302

11/15	/12 REPORT NO.: P	PDPLBUDCL		DEPT	. OF ADMIN.	SVCS PPDE	B PICS SYSTEM				PAGE
EPOR	T: SUMMARY LIST F	Y PKG BY SUMMARY XREF								2013-15	PROD FIL
	Y:19800 JUDICIAL								PICS SYST	TEM: BUDGET PREI	PARATION
UMMA	RY XREF:100-00-00	205 Trial Courts									
			POS			AVERAGE	GF	OF	FF	LF	AF
PKG	CLASS COMP	DESCRIPTION	CNT	FTE	MOS	RATE	SAL	SAL	SAL	SAL	SAL
205 J	M J9612 AA COURT	OPERATIONS SUPERVISOR 2	1	.88	21.00	3,623.00	76,083				76,083
05 J	UA J9740 AA JUDIC	CIAL SERVICES SPECIALIST 3	2	1.76	42.00	2,700.00	113,400				113,400
05 J	UA J9742 AA OJD I	PROGRAM COORDINATOR 1	6	5.28	126.00	2,976.00	374,976				374,976
05 J	UA J9743 AA OJD I	PROGRAM COORDINATOR 2	5	4.40	105.00	3,447.00	361,935				361,935
05 J	UA J9744 AA OJD F	PROGRAM COORDINATOR 3	2	1.53	36.66	3,990.00	146,273				146,273
05 J	UN J9742 AA OJD P	PROGRAM COORDINATOR 1	1	.44	10.44	2,976.00	31,069				31,069
05			17	14.29	341.10	3,239.41	1,103,736				1,103,736

11/15/12 REPORT NO.:	PPDPLBUDCL		DEPT	C. OF ADMIN.	SVCS PPE	B PICS SYSTEM				PAGE
REPORT: SUMMARY LIST AGENCY:19800 JUDICIAL SUMMARY XREF:100-00-0								PICS SYS	2013-15 TEM: BUDGET PR	PROD FILE EPARATION
SUMMARY AREF: 100-00-0	o 210 Trial Courts									
		POS			AVERAGE	GF	OF	FF	LF	AF
PKG CLASS COMP	DESCRIPTION	CNT	FTE	MOS	RATE	SAL,	SAL	SAL	SAL	SAL
210 JUA J9739 AA JUDI	CIAL SERVICES SPECIALIST 2	1	.50	12.00	2,700.00		32,400			32,400
10 JUA J9740 AA JUDI	CIAL SERVICES SPECIALIST 3	1	.25	6.00	2,976.00		17,856			17,856
210 JUA J9744 AA OJD	PROGRAM COORDINATOR 3	3	2.80	67.20	4,993.00		340,344			340,344
210 JUN J9744 AA OJD	PROGRAM COORDINATOR 3	1	.60	14.40	4,399.00		63,346			63,346
10 JUN J9745 AA OJD	PROGRAM COORDINATOR 4	1	.75	18.00	5,897.00		106,146			106,146
210		7	4.90	117.60	4,421.57		560,092			560,092
			1319.71	31663.47		121,903,972	2,656,939			124,560,911

11/15/12 REPORT NO.: PPDPLBUDCL REPORT: SUMMARY LIST BY PKG BY S		DEPI	. OF ADMIN.	SVCS PPDH	B PICS SYSTEM			2013-15	PAGE PROD FIL
AGENCY:19800 JUDICIAL DEPARTMENT	r						PICS SYST	EM: BUDGET PREPARATIO	
UMMARY XREF:101-00-00 000 Appe									
PKG CLASS COMP DESCR	POS IPTION CNT	FTE	MOS	AVERAGE RATE	GF SAL	OF SAL	FF SAL	LF A SAL SA	
000 JM J9559 AA OJD LIBRARIAN	1	1.00	24.00	6,188.00		148,512		1	48,512
00 JM J9614 AA APPELLATE COURT	F OFFICE MANAGER 1	1.00	24.00	4,399.00	105,576			1	05,576
000 JM J9636 AA PARALEGAL	1	1.00	24.00	3,990.00	95,760				95,760
000 JM J9652 AA FACILITIES SERV	VICES COORDINATO 1	1.00	24.00	5,092.00	122,208			1:	22,208
000 JM J9703 AA DIRECTOR, ACSD	1	1.00	24.00	9,145.00	219,480			2	19,480
00 JM J9715 AA EXECUTIVE ANALY	YST 1	1.00	24.00	8,296.00	199,104			1	99,104
000 JM J9722 AA APPELLATE STAF	F ATTORNEY 10	9.90	237.60	9,096.80	2,160,190			2,1	50,190
000 JM J9731 AA OJD LAW LIBRAR:	IAN 1	1.00	24.00	6,824.00		163,776		1	53,776
000 JM J9733 AA EDITOR-COMPOSE	R 1	1.00	24.00	5,615.00		134,760		1	34,760
00 JM J9734 AA APPELLATE LEGA	L COUNSEL 1	1.00	24.00	10,585.00	254,040			2:	54,040
00 JM J9735 AA ASST APPELLATE	LEGAL COUNSEL 1	1.00	24.00	9,145.00	219,480			2	19,480
00 JM J9736 AA PRESIDING TAX M	MAGISTRATE 1	1.00	24.00	10,082.00	241,968			2	41,968
000 JM J9737 AA TAX MAGISTRATE	2	1.80	43.20	7,666.50	324,096			3:	24,096
000 JMP J9560 AA OJD ELECTRONIC	SERV LIBRARIAN 1	.71	16.97	6,824.00		115,803		1	15,803
000 JMP J9644 AA OJD ANALYST 2	1	.16	3.82	3,801.00	14,520				14,520
000 JMP J9722 AA APPELLATE STAFT	F ATTORNEY 3	1.71	40.82	8,566.66	358,028			3	58,028
000 JMP J9723 AA COA SETTLEMENT	PROGRAM COORD 1	.60	14.40	10,082.00	145,181			1	45,181
000 JUA J9559 AA OJD LIBRARIAN	1	1.00	24.00	4,399.00		105,576		1	05,576
000 JUA J9617 AA TECHNICAL SUPPO	ORT SPEC 3 1	1.00	24.00	5,615.00	134,760			1	34,760
000 JUA J9636 AA PARALEGAL	10	10.00	240.00	4,016.50	963,960			9	63,960
000 JUA J9644 AA OJD ANALYST 2	2	2.00	48.00	4,970.50	238,584			2	38,584
000 JUA J9651 AA CUSTODIAN	1	1.00	24.00	2,976.00	71,424				71,424
000 JUA J9674 AA MANAGEMENT ASS	ISTANT 1 2	2,00	48.00	4,089.50	95,760	100,536		1	96,296
00 JUA J9721 AA LAW CLERK	.26	26.00	624.00	4,569.65	2,851,464			2,8	51,464
00 JUA J9732 AA ASSISTANT EDITO	DR-COMPOSER 1	1.00	24.00	4,189.00		100,536		1	00,536

1/15/12 REPORT NO.: PPI	PLBUDCL		DEPT	. OF ADMIN.	SVCS PPD	B PICS SYSTEM				PAGE
EPORT: SUMMARY LIST BY									2013-15	PROD FIL
GENCY:19800 JUDICIAL DE								PICS SYST	EM: BUDGET PRE	EPARATION
COMMARY XREF:101-00-00 (000 Appellate/Tax Courts									
		POS			AVERAGE	GF	OF	FF	LF	AF
KG CLASS COMP	DESCRIPTION	CNT	FTE	MOS	RATE	SAL	SAL	SAL	SAL	SAL
00 JUA J9738 AA JUDICI	AL SERVICES SPECIALIST 1	4	4.00	96.00	3,373.50	323,856				323,856
00 JUA J9739 AA JUDICI	AL SERVICES SPECIALIST 2	4	4.00	96.00	3,419.00	263,010	65,214			328,224
00 JUA J9740 AA JUDICIA	AL SERVICES SPECIALIST 3	12	12.00	288.00	3,997.83	1,151,376				1,151,376
00 JUA J9741 AA JUDICI	AL SERVICES SPECIALIST 4	2	2.00	48.00	4,403.50	211,368				211,368
00 JUN J9721 AA LAW CLE	ZRK	2	1.00	24.00	5,293.50	127,044				127,044
00 JUN J9722 AA APPELLA	ATE STAFF ATTORNEY	1	.60	14.40	8,711.00	125,438				125,438
00 JUN J9740 AA JUDICI	AL SERVICES SPECIALIST 3	1	1.00	24.00	4,189.00		100,536			100,536
00		99	94.48	2267.21	5,391.73	11,017,675	1,035,249			12,052,924

11/15/12 REPORT NO.:	PPDPLBUDCL		DEPI	. OF ADMIN.	SVCS PPD	B PICS SYSTEM				PAGE
GENCY:19800 JUDICIAL	BY PKG BY SUMMARY XREF DEPARTMENT 00 211 Appellate/Tax Courts							PICS SYS	2013-15 TEM: BUDGET PR	PROD FIL EPARATION
		POS			AVERAGE	GF	OF	FF	LF	AF
KG CLASS COMP	DESCRIPTION	CNT	FTE	MOS	RATE	SAL	SAL	SAL	SAL	SAL
.11 JM J9722 AA APPE	ELLATE STAFF ATTORNEY	2	1.92	46.00	6,188.00	284,648				284,648
11 JM J9740 AA JUDI	ICIAL SERVICES SPECIALIST :	3 1	.96	23,00	2,700.00	62,100				62,100
11 JUA J9721 AA LAW	CLERK	5	4.80	115.00	3,990.00	458,850				458,850
11 JUA J9740 AA JUDI	ICIAL SERVICES SPECIALIST :	3 1	.96	23.00	2,700.00	62,100				62,100
11		9	8.64	207.00	4,191.77	867,698				867,698
		108	103.12	2474.21	5,291.74	11,885,373	1,035,249			12,920,622

		D.: PPDPLBUDCL IST BY PKG BY SUMMARY XREF		DEPT	. OF ADMIN.	SVCS PPDH	9 PICS SYSTEM			2013-15	PAGE PROD FII
		TIAL DEPARTMENT							PICS SYSTEM:	BUDGET PREPA	RATION
JMMARY	XREF:102-0	00-00 000 Administration and C									
KG CL	ASS COMP	DESCRIPTION	POS	FTE	MOS	AVERAGE RATE	GF SAL	OF	FF SAL	LF SAL	AF SAL
NG CI	ASS COMP	DESCRIPTION	CIVI	FIL	MOS	RAIL	DAL	SAL	DAL	SAL	SAL
ML 00	J9554 AA C	OJD FISCAL ANALYST 2	3	3.00	72.00	5,564.00	400,608				400,608
ML 00	J9557 AA C	JD HUMAN RESOURCE MANAGER	4	4.00	96.00	7,942.75	762,504				762,504
00 JM	J9558 AA C	NJD BENEFITS MANAGER	1	1.00	24.00	6,498.00	155,952				155,952
ML 00	J9612 AA C	COURT OPERATIONS SUPERVISOR 2	2	2.00	48.00	5,615.00	269,520				269,520
ML 00	J9632 AA M	MANAGEMENT ASSISTANT 2	1	1.00	24.00	3,286.00	78,864				78,864
ML 00	J9637 AA E	EXEC SERVICE SPEC	1	1.00	24.00	3,801.00	91,224				91,224
MT 00	J9643 AA C	OJD ANALYST 1	ì	1.00	24.00	3,623.00	86,952				86,952
ML 00	J9644 AA C	OJD ANALYST 2	2	2.00	48.00	4,849.00	232,752				232,752
00 JM	J9645 AA C	OJD ANALYST 3	3	3.00	72.00	6,246.66	449,760				449,760
ML 00	J9646 AA C	OJD ANALYST 4	7	7.00	168.00	7,424.71	1,247,352				1,247,352
ML 00	J9648 AA C	OJD CRB COORDINATOR 2	12	11.95	286.80	6,166.00	1,166,880	601,502			1,768,382
MU 00	J9664 AA A	ACCOUNTANT 2	2	2.00	48.00	5,891.50	282,792				282,792
ML 00	J9666 AA P	PAYROLL/BENEFITS TECHNICIAN II	1	1.00	24.00	4,618.00	110,832				110,832
ML 00	J9667 AA P	PAYROLL/BENEFITS TECHNICIAN I	1	1.00	24.00	3,124.00	74,976				74,976
ML 00	J9674 AA M	MANAGEMENT ASSISTANT 1	2	2.00	48.00	3,483.00	167,184				167,184
ML OO	J9684 AA I	INFORMATION TECHNOLOGY SPEC 3	1	1.00	24.00	6,188.00	148,512				148,512
ML 00	J9686 AA I	DIRECTOR, ETSD	1	1.00	24.00	11,114.00	266,736				266,736
ML 00	J9696 AA S	STATE COURT ADMINISTRATOR	1	1.00	24.00	13,505.00	324,120				324,120
ML 00	J9698 AA I	INFORMATION TECHNOLOGY MANAGER	6	6.00	144.00	9,032.16	1,300,632				1,300,632
ML 00	J9702 AA E	DIRECTOR, HRSD	1	1.00	24.00	10,585.00	254,040				254,040
ML 00	J9704 AA A	ASSISTANT DIVISION DIRECTOR	1	1.00	24.00	8,711.00	209,064				209,064
ML 00	J9712 AA A	ADMIN ANALYST 3	2	2.00	48.00	5,097.00	244,656				244,656
ML 00	J9715 AA B	EXECUTIVE ANALYST	5	5.00	120,00	7,425.80	891,096				891,096
ML 00	J9716 AA D	DIRECTOR, BFSD	1	1.00	24.00	8,711.00	209,064				209,064
ML 0	J9717 AA E	DIRECTOR, OJD OETO	1	1.00	24.00	8,296.00	199,104				199,104

REPORT: SUMM	ORT NO.: PPDPLBUDCL ARY LIST BY PKG BY SUMMARY XREF JUDICIAL DEPARTMENT		DEPT	. OF ADMIN.	SVCS PPDE	B PICS SYSTEM		PICS SYSTEM:	2013-15 BUDGET PREPARATION	PAGE PROD FILE
SUMMARY XREF	:102-00-00 000 Administration and C									
		POS			AVERAGE	GF	OF	FF	LF AF	
KG CLASS C	OMP DESCRIPTION	CNT	FTE	MOS	RATE	SAL	SAL	SAL	SAL SAL	
00 JM J971	9 AA ASSISTANT LEGAL COUNSEL	в	7.80	187.20	8,145.75	1,517,899			1,51	7,899
00 JM J972	0 AA LEGAL COUNSEL	1	1.00	24.00	10,585.00	254,040			254	4,040
00 JM J972	2 AA APPELLATE STAFF ATTORNEY	1	1.00	24.00	9,601.00	230,424			230	,424
576L ML 00	8 AA JUDICIAL SERVICES SPECIALIST 1	1	1.00	24.00	3,623.00	86,952			86	5,952
00 JM J974	0 AA JUDICIAL SERVICES SPECIALIST 3	1	1.00	24.00	4,189.00	100,536			100	0,536
00 JMP J964	8 AA OJD CRE COORDINATOR 2	1	.40	9.60	6,498.00	62,381			63	2,381
00 JMP J967	4 AA MANAGEMENT ASSISTANT 1	1	.50	12.00	2,837.00	34,044			34	4,044
00 JUA J955	1 AA OJD PROCUREMENT OFFICER 1	2	2.00	48.00	5,480.00	263,040			263	3,040
00 JUA J961	1 AA COURT OPERATIONS SUPERVISOR 1	1	1.00	24.00	4,399.00		105,576		105	5,576
00 JUA J963	2 AA MANAGEMENT ASSISTANT 2	3	3.00	72.00	4,014.00	197,784		91,224	28	9,008
00 JUA J964	4 AA OJD ANALYST 2	2	2.00	48.00	4,855.00	171,936	61,104		233	3,040
00 JUA J964	5 AA OJD ANALYST 3	6	5.80	139.20	5,550.33	659,597		116,376	77	5,973
00 JUA J964	6 AA OJD ANALYST 4	1	1.00	24.00	7,525.00	160,734	19,866		180	0,600
00 JUA J964	7 AA OJD CRB COORDINATOR 1	2	1.94	46.56	5,043.00	138,697	97,335		236	5,032
00 JUA J964	8 AA OJD CRB COORDINATOR 2	1	1.00	24.00	6,498.00		155,952		15	5,952
00 JUA J964	9 AA OJD COLLECTIONS AGENT	1	1.00	24.00	3,623.00	86,952			80	5,952
00 JUA J965	6 AA BUDGET & FINANCE SPECIALIST 1	1	1.00	24.00	3,801.00	91,224			9:	1,224
00 JUA J965	7 AA BUDGET & FINANCE SPECIALIST 2	1	1.00	24.00	3,801.00	91,224			9:	1,224
00 JUA J967	4 AA MANAGEMENT ASSISTANT 1	1	1.00	24.00	3,623.00	86,952			86	5,952
00 JUA J968	2 AA INFORMATION TECHNOLOGY SPEC 1	5	5.00	120.00	5,371.80	500,423	144,193		644	4,616
896L AUL 00	3 AA INFORMATION TECHNOLOGY SPEC 2	12	12.00	288.00	5,672.91	683,998	949,802		1,633	8,800
896L AUL 00	4 AA INFORMATION TECHNOLOGY SPEC 3	23	23.00	552.00	7,842.00	3,576,802	751,982		4,328	3,784
00 JUA J971	0 AA ADMIN ANALYST 1	1	1.00	24.00	4,618.00	110,832			110	,832
00 JUA J971	2 AA ADMIN ANALYST 3	1	1.00	24.00	5,345.00	128,280			128	3,280
0 JUA J973	9 AA JUDICIAL SERVICES SPECIALIST 2	10	10.00	240.00	3,612.40	609,552	257,424		866	5,976

1/15/12 REPORT NO.: PPDPLBUDCL		DED	OF ADMIN	SVCS PPDI	B PTCS SVSTRM				PAGE
EPORT: SUMMARY LIST BY PKG BY SUMMARY XREF GENCY:19800 JUDICIAL DEPARTMENT UMMARY XREF:102-00-00 000 Administration an		DEFI	. OF ADAIN.	SVCD. PPD.	S FICS SISIEM		PICS SYSTEM:	2013-15 BUDGET PREPARATIO	PROD FILE
	POS			AVERAGE	GF	OF	FF	LF A	F
KG CLASS COMP DESCRIPTION	CNT	FTE	MOS	RATE	SAL	SAL	SAL	SAL SA	
00 JUA J9740 AA JUDICIAL SERVICES SPECIALIS	ST 3 6	6.00	144.00	3,562.00	358,776	154,152		5	12,928
00 JUN J9710 AA ADMIN ANALYST 1	1	.86	20.64	5,092.00	105,099			1	05,099
00 JUN J9739 AA JUDICIAL SERVICES SPECIALIS	ST 2 1	.75	18.00	3,801.00	68,418				68,418
00 JUN J9740 AA JUDICIAL SERVICES SPECIALIS	ST 3 1	.50	12.00	2,700.00	32,400				32,400
00	160	157.50	3780.00	6,204.01	20,034,172	3,298,888	207,600	23,5	40,660

AGENCY:19800 JUDICIAL DEPARTMENT SUMMARY XREF:102-00-00 206 Administration and C PKG CLASS COMP DESCRIPTION CNT PTE MOS RATE SAL SAL SAL SAL SAL SAL SAL 206 JM J9645 AA OJD ANALYST 3 1 .88 21.00 4,618.00 96,978 96,978 96,978 206 JM J9646 AA OJD ANALYST 4 2 1.76 42.00 5,345.00 224,490	AGENCY:19800 JUDICIAL DEPARTMENT SUMMARY XREF:102-00-00 206 Administration and C POS AVERAGE GF OF FF LF PKG CLASS COMP DESCRIPTION CNT FTE MOS RATE SAL SAL SAL SAL 206 JM J9645 AA OJD ANALYST 3 1 .88 21.00 4,618.00 96,978 206 JM J9646 AA OJD ANALYST 4 2 1.76 42.00 5,345.00 224,490	PARATION AF SAL 96,978 224,490
SUMMARY XREF:102-00-00 206 Administration and C PKG CLASS COMP DESCRIPTION CNT PTE MOS RATE SAL SAL SAL SAL SAL 206 JM J9646 AA OJD ANALYST 4 2 1.76 42.00 5,345.00 224,490 224,490	SUMMARY XREF:102-00-00 206 Administration and C PKG CLASS COMP DESCRIPTION PKG CLASS COMP DES	AF SAL 96,978 224,490
PRG CLASS COMP DESCRIPTION CNT FTE MOS RATE SAL SAL	PKG CLASS COMP DESCRIPTION CNT FTE MOS RATE SAL SAL SAL SAL SAL 206 JM J9645 AA OJD ANALYST 3 1 .88 21.00 4,618.00 96,978 <th>SAL 96,978 224,490</th>	SAL 96,978 224,490
106 JM J9645 AA OJD ANALYST 3 1 .88 21.00 4,618.00 96,978 96,978 96,978 106 JM J9646 AA OJD ANALYST 4 2 1.76 42.00 5,345.00 224,490 224,490	106 JM J9645 AA OJD ANALYST 3 1 .88 21.00 4,618.00 96,978 106 JM J9646 AA OJD ANALYST 4 2 1.76 42.00 5,345.00 224,490	96,978 224,490
06 JM J9646 AA OJD ANALYST 4 2 1.76 42.00 5,345.00 224,490 224,490 224,490	06 JM J9646 AA OJD ANALYST 4 2 1.76 42.00 5,345.00 224,490	224,490
06 <u>3 2.44 63.00 5,102.66 321,468</u> 321,468	06 3 2.64 63.00 5,102.66 321,468	321,468

1/15/12 REPORT NO.:			DEPT	. OF ADMIN.	SVCS PPDB	PICS SYSTEM				PAGE
EPORT: SUMMARY LIST	BY PKG BY SUMMARY XREF								2013-15	PROD FILE
GENCY:19800 JUDICIA	L DEPARTMENT							PICS SYS	TEM: BUDGET PRE	PARATION
UMMARY XREF:102-00-	00 207 Administration and C									
		POS			AVERAGE	GF	OF	FF	LF	AF
KG CLASS COMP	DESCRIPTION	CNT	FTE	MOS	RATE	SAL	SAL	SAL	SAL	SAL
07 JM J9645 AA OJE	ANALYST 3	2	1.76	42.00	4,618.00	193,956				193,956
07 JM J9646 AA OJE	ANALYST 4	1	.88	21.00	5,345.00	112,245				112,245
07 JM J9684 AA INF	ORMATION TECHNOLOGY SPEC 3	2	1.76	42.00	5,345.00	224,490				224,490
07 JUA J9683 AA INF	ORMATION TECHNOLOGY SPEC 2	1	.88	21.00	4,399.00	92,379				92,379
07		6	5.28	126.00	4,945.00	623,070				623,070

11/15/12 REPORT NO.: 1	PPDPLBUDCL		DEPT	. OF ADMIN.	SVCS PPDB	PICS SYSTEM				PAGE 1
REPORT: SUMMARY LIST I	BY PKG BY SUMMARY XREF								2013-15	PROD FILE
AGENCY:19800 JUDICIAL								PICS SYS	TEM: BUDGET PRE	EPARATION
SUMMARY XREF:102-00-0	0 208 Administration and	C								
		POS			AVERAGE	GF	OF	FF	LF	AF
PKG CLASS COMP	DESCRIPTION	CNT	FTE	MOS	RATE	SAL	SAL	SAL	SAL	SAL
208 JM J9646 AA OJD 1	ANALYST 4	1	.75	18.00	5,345.00	96,210				96,210
208 JUA J9739 AA JUDI	CIAL SERVICES SPECIALIST	2 3	2.13	51.00	2,451.00	125,001				125,001
208 JUA J9740 AA JUDI	CIAL SERVICES SPECIALIST	3 6	4.26	102.00	2,700.00	275,400				275,400
208		10	7.14	171.00	3,113.00	496,611				496,611



11/15/12 REPORT NO.:	PPDPLBUDCL		DEPI	. OF ADMIN.	SVCS PPD	B PICS SYSTEM				PAGE
AGENCY:19800 JUDICIAL	BY PKG BY SUMMARY XREF DEPARTMENT 00 209 Administration ar	id c						PICS SYSTEM	2013-15 1: BUDGET PRE	PROD FILE PARATION
		POS			AVERAGE	GF	OF	FF	LF	AF
PKG CLASS COMP	DESCRIPTION	CNT	FTE	MOS	RATE	SAL	SAL	SAL	SAL	AF SAL
209 JM J9632 AA MANA	AGEMENT ASSISTANT 2	1	.88	21.00	3,124.00	65,604				65,604
209 JM J9719 AA ASSI	STANT LEGAL COUNSEL	1	.88	21.00	6,188.00	129,948				129,948
209 JUA J9645 AA OJD	ANALYST 3	1	.88	21.00	4,618.00	96,978				96,978
209		3	2.64	63.00	4,643.33	292,530				292,530
		182	175.20	4203.00	5,933.29	21,767,851	3,298,888	207,600		25,274,339

11/15/12 REPORT NO.:			DEPT	. OF ADMIN.	SVCS PPDE	PICS SYSTEM				PAGE
	BY PKG BY SUMMARY XREF								2013-15	PROD FILE
GENCY: 19800 JUDICIAL	0 000 Mandated Payments							PICS SYSTEM:	BUDGET PREPAR	ATION
OPPART ARE 200 00 (oo ooo Mandaced Faymence									
		POS			AVERAGE	GF	OF	FF	LF	AF
KG CLASS COMP	DESCRIPTION	CNT	FTE	MOS	RATE	SAL	SAL	SAL	SAL	SAL
00 JM J9645 AA OJD	ANALYST 3	2	2.00	48.00	6,255.00	300,240				300,240
00 JM J9715 AA EXEC	CUTIVE ANALYST	1	1.00	24.00	7,165.00	171,960				171,960
00 JM J9744 AA OJD	PROGRAM COORDINATOR 3	1	1.00	24.00	5,897.00	141,528				141,528
00 JUA J9609 AA INTE	ERPRETER 2	5	5.00	120.00	5,761.00	691,320				691,320
00 JUA J9632 AA MANA	AGEMENT ASSISTANT 2	1	1.00	24.00	3,286.00	78,864				78,864
00 JUA J9643 AA OJD	ANALYST 1	1	1.00	24.00	4,189.00	100,536				100,536
00 JUA J9646 AA OJD	ANALYST 4	1	1.00	24.00	5,345.00	128,280				128,280
00 JUA J9740 AA JUDI	ICIAL SERVICES SPECIALIST 3	9	9.00	216.00	3,645.33	787,392				787,392
00 JUA J9744 AA OJD	PROGRAM COORDINATOR 3	1	1.00	24.00	4,849.00	116,376				116,376
00 JUN J9646 AA OJD	ANALYST 4	1	.31	7.40	5,345.00	10,157	29,396			39,553
00		23	22.31	535.40	4,791.26	2,526,653	29,396			2,556,049
		23	22.31	535.40	4,791.26	2,526,653	29,396			2,556,049

1/15/12 REPORT NO.:			DEPT	. OF ADMIN.	SVCS PPDB	PICS SYSTEM				PAGE
EPORT: SUMMARY LIST	BY PKG BY SUMMARY XREF								2013-15	PROD FILE
GENCY:19800 JUDICIAL	DEPARTMENT							PICS SYS	TEM: BUDGET PRE	PARATION
UMMARY XREF:400-00-0	00 000 State Court Facil	iti								
		POS			AVERAGE	GF	OF	FF	LF	AF
KG CLASS COMP	DESCRIPTION	CNT	FTE	MOS	RATE	SAL	SAL	SAL	SAL	SAL
00 JM J9645 AA OJD	ANALYST 3	1	1.00	24.00	4,618.00		110,832			110,832
00 JM J9715 AA EXEC	CUTIVE ANALYST	1	1.00	24.00	8,296.00		199,104			199,104
00 JUA J9632 AA MANA	GEMENT ASSISTANT 2	1	1.00	24.00	3,447.00		82,728			82,728
00 JUA J9645 AA OJD	ANALYST 3	1	1.00	24.00	4,849.00		116,376			116,376
00		4	4.00	96.00	5,302.50		509,040			509,040

11/15/12 REPORT NO.:			DEPT	. OF ADMIN.	SVCS PPDB	PICS SYSTEM				PAGE
	BY PKG BY SUMMARY XREF								2013-15	PROD FI
AGENCY:19800 JUDICIA								PICS SYST	EM: BUDGET PRI	EPARATION
SUMMARY XREF:400-00-	00 050 State Court Faci	1111								
		POS			AVERAGE	GF	OF	FF	LF	AF
PKG CLASS COMP	DESCRIPTION	CNT	FTE	MOS	RATE	SAL	SAL	SAL	SAL	SAL
050 JM J9645 AA OJD	ANALYST 3		.00	.00	4,618.00	110,832	110,832-			
50 JM J9715 AA EXE	CUTIVE ANALYST		.00	.00	8,296.00	199,104	199,104-			
50 JUA J9632 AA MANA	AGEMENT ASSISTANT 2		.00	.00	3,447.00	82,728	82,728-			
50 JUA J9645 AA OJD	ANALYST 3		.00	.00	4,849.00	116,376	116,376-			
50			.00	.00	5,302.50	509,040	509,040-			
		4	4.00	96.00	5,302.50	509,040				509,040

	2 REPORT NO.:			DEP	C. OF ADMIN.	SVCS PPD	B PICS SYSTEM				PAGE
GENCY :	19800 JUDICIAL	BY PKG BY SUMMARY XREF DEPARTMENT 0 202 eCourt Program							PICS SYSTE	2013-15 CM: BUDGET PRES	PROD FIL
			POS			AVERAGE	GF	OF	FF	LF	AF
KG CL	ASS COMP	DESCRIPTION	CNT	FTE	MOS	RATE	SAL	SAL	SAL	SAL	SAL
02 JM	J9555 AA OJD	FISCAL ANALYST 3	1	.50	12.00	6,498.00		77,976			77,976
02 JM	J9643 AA OJD	ANALYST 1	1	1.00	24.00	3,447.00		82,728			82,728
02 JM	J9644 AA OJD	ANALYST 2	1	1.00	24.00	4,189.00		100,536			100,536
02 JM	J9645 AA OJD	ANALYST 3	9	9.00	216.00	5,101.11		1,101,840			1,101,840
02 JM	J9646 AA OJD	ANALYST 4	1	1.00	24.00	5,897.00		141,528			141,528
02 JM	J9674 AA MANA	GEMENT ASSISTANT 1	3	3.00	72.00	3,529.66		254,136			254,136
02 JM	J9683 AA INFO	RMATION TECHNOLOGY SPEC 2	7	6.50	156.00	5,613.85		868,872			868,872
02 JM	J9684 AA INFO	RMATION TECHNOLOGY SPEC 3	11	10.50	252.00	6,603.45		1,679,172			1,679,172
02 JM	J9698 AA INFO	RMATION TECHNOLOGY MANAGER	4	3.46	83.00	9,176.50		757,829			757,829
02 JM	J9712 AA ADMI	N ANALYST 3	1	1.00	24.00	4,399.00		105,576			105,576
02 JM	J9715 AA EXEC	UTIVE ANALYST	1	1.00	24.00	5,345.00		128,280			128,280
02			40	37.96	911.00	5,872.87		5,298,473			5,298,473
			40	37.96	911.00	5,872.87		5,298,473			5,298,473
			1809	1662.30	39883.08	4 532 74	158,592,889	12,318,945	207,600		171,119,434

	BY PKG BY SUMMARY XREF							Section and the	2013-15		PROD FIL
SENCY:19800 JUDICIAL								PICS SYSTE	M: BUDGET PR	EPARATION	
DEMAKI AREF:500-00-0	0 202 eCourt Program										
		POS			AVERAGE	GF	OF	FF	LF	AF	
KG CLASS COMP	DESCRIPTION	CNT	FTE	MOS	RATE	SAL	SAL	SAL	SAL	SAL	
		1809	1662.30	39883.08	4,532.74	158,592,889	12,318,945	207,600		171,119,	434
							1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1	1000		0.000	

PPDPLAGYCL – Summary List by Package by Summary XREF (Agency 197)

	REPORT NO.: PPDPLAGYCL UMMARY LIST BY PKG BY AGENCY		DEPT	. OF ADMIN.	SVCS PPD	B PICS SYSTEM			2013-15	PAGE PROD FIL
AGENCY:19	700 JUDICIAL DEPT-JUDGES IN PERS							PICS SYS	TEM: BUDGET PR	EPARATION
PKG CLAS	S COMP DESCRIPTION	POS CNT	FTE	MOS	AVERAGE RATE	GF SAL	OF SAL	FF SAL	LF SAL	AF SAL
000 JE Y	9724 AB JUDGE CIRCUIT COURT	173	173.00	4152.00	9,539.00	39,605,928				39,605,928
000 JE Y	9725 AB JUDGE TAX COURT	1	1.00	24.00	9,847.00	236,328				236,328
211 JE Y	9726 AB JUDGE COURT OF APPEALS	12	11.64	279.00	10,235.00	2,855,565				2,855,565
000 JE Y	9727 AB JUDGE SUPREME COURT	6	6.00	144.00	10,474.00	1,508,256				1,508,256
000 JE Y	9728 AB CHIEF COURT OF APPEALS	1	1.00	24.00	10,474.00	251,376				251,376
000 JE Y	9729 AB CHIEF SUPREME COURT	1	1.00	24.00	10,713.00	257,112				257,112
		194	193.64	4647.00	9,620.08	44,714,565				44,714,565

[This page intentionally left blank.]

PPDPLAGYCL – Summary List by Package by Summary XREF (Agency 198)

EPORT:	2 REPORT NO.: PPDPLAGYCL SUMMARY LIST BY PKG BY AGENCY 19800 JUDICIAL DEPARTMENT		DEPT	. OF ADMIN.	SVCS PPDE	PICS SISTEM		PICS SYS	2013-15 TEM: BUDGET PREP	PAGE PROD 1 ARATION
outerra	Soo oosterni ostratinist								The bobont ran	
KG CLA	ASS COMP DESCRIPTION	POS CNT	FTÉ	MOS	AVERAGE RATE	GF SAL	OF SAL	FF SAL	LF SAL	AF SAL
00 JE	Y1970 AB JUDGE PRO-TEM	82	.00	.00	9,539.00					
ML 00	J9554 AA OJD FISCAL ANALYST 2	3	3,00	72.00	5,564.00	400,608				400,608
02 JM	J9555 AA OJD FISCAL ANALYST 3	1	.50	12.00	6,498.00		77,976			77,976
MT 00	J9557 AA OJD HUMAN RESOURCE MANAGER	4	4.00	96.00	7,942.75	762,504				762,504
ML 00	J9558 AA OJD BENEFITS MANAGER	1	1.00	24.00	6,498.00	155,952				155,952
MT 00	J9559 AA OJD LIBRARIAN	1	1.00	24.00	6,188.00		148,512			148,512
MT E0	J9611 AA COURT OPERATIONS SUPERVISOR 1	11	10.88	261.00	4,723.18	1,237,062				1,237,062
05 JM	J9612 AA COURT OPERATIONS SUPERVISOR 2	35	34.88	837.00	5,034.77	4,218,339				4,218,339
03 JM	J9613 AA COURT OPER SUPV 3	22	21.88	525.00	5,655.59	2,974,182				2,974,182
00 JM	J9614 AA APPELLATE COURT OFFICE MANAGE	R 1	1.00	24.00	4,399.00	105,576				105,576
03 JM	J9618 AA TECHNICAL SUPPORT SPEC 4	1	.88	21.00	4,189.00	87,969				87,969
00 JM	J9619 AA TECHNICAL SUPPORT SPEC SUPV	3	3.00	72.00	7,308.66	526,224				526,224
MT 60	J9632 AA MANAGEMENT ASSISTANT 2	7	6.88	165.00	4,126.42	683,868				683,868
MT 00	J9636 AA PARALEGAL	1	1.00	24.00	3,990.00	95,760				95,760
00 JM	J9637 AA EXEC SERVICE SPEC	1	1.00	24.00	3,801.00	91,224				91,224
ML 00	J9638 AA TRIAL COURT ADMINISTRATOR 1	3	3.00	72.00	6,942.66	499,872				499,872
MT 00	J9639 AA TRIAL COURT ADMINISTRATOR 2	7	7.00	168.00	6,766.14	1,136,712				1,136,712
ML 00	J9640 AA TRIAL COURT ADMINISTRATOR 3	10	10.00	240.00	8,447.27	2,030,976				2,030,976
MT 00	J9641 AA TRIAL COURT ADMINISTRATOR 4	6	6.00	144.00	9,704.16	1,397,400				1,397,400
MT 00	J9642 AA TRIAL COURT ADMINISTRATOR 5	I	1.00	24.00	11,668.00	280,032				280,032
02 JM	J9643 AA OJD ANALYST 1	2	2.00	48.00	3,535.00	86,952	82,728			169,680
02 JM	J9644 AA OJD ANALYST 2	7	7.00	168.00	4,973.57	735,024	100,536			835,560
02 JM	J9645 AA OJD ANALYST 3	22	21.64	519.00	5,350.95	1,717,086	1,101,840			2,818,926
02 JM	J9646 AA OJD ANALYST 4	17	16.39	393.00	6,184.44	2,161,475	301,750			2,463,225
ML 00	J9648 AA OJD CRB COORDINATOR 2	12	11.95	286.80	6,166.00	1,166,880	601,502			1,768,382

		D.: PPDPLAGYCL IST BY PKG BY AGENCY				SVCS PPDE				2013-15	DRO	E D FIL
		CIAL DEPARTMENT							PICS SYS	TEM: BUDGET PRE		
			POS			AVERAGE	GF	OF	FF	LF	AF	
KG CI	ASS COMP	DESCRIPTION	CNT	FTE	MOS	RATE	SAL	SAL	SAL	SAL	SAL	
ML 00	J9652 AA 1	FACILITIES SERVICES COORDINATO	1	1.00	24.00	5,092.00	122,208				122,208	
ML 00	J9664 AA	ACCOUNTANT 2	2	2.00	48.00	5,891.50	282,792				282,792	
ML 00	J9666 AA 1	PAYROLL/BENEFITS TECHNICIAN II	1	1.00	24.00	4,618.00	110,832				110,832	
ML 00	J9667 AA 1	PAYROLL/BENEFITS TECHNICIAN I	1	1.00	24.00	3,124.00	74,976				74,976	
02 JM	J9674 AA 1	MANAGEMENT ASSISTANT 1	7	7.00	168.00	3,568.42	345,360	254,136			599,496	
02 JM	J9683 AA	INFORMATION TECHNOLOGY SPEC 2	7	6.50	156.00	5,613.85		868,872			868,872	
02 JM	J9684 AA	INFORMATION TECHNOLOGY SPEC 3	14	13.26	318.00	6,394.00	373,002	1,679,172			2,052,174	
ML 00	J9686 AA 1	DIRECTOR, ETSD	1	1.00	24.00	11,114.00	266,736				266,736	
ML 00	J9692 AA	COURT OPER MANAGER 1	2	2.00	48.00	4,733.50	227,208				227,208	
ML 00	J9696 AA 1	STATE COURT ADMINISTRATOR	1	1.00	24.00	13,505.00	324,120				324,120	
02 JM	J9698 AA	INFORMATION TECHNOLOGY MANAGER	10	9.46	227.00	9,089.90	1,300,632	757,829			2,058,461	
00 JM	J9702 AA 1	DIRECTOR, HRSD	1	1.00	24.00	10,585.00	254,040				254,040	
ML 00	J9703 AA 1	DIRECTOR, ACSD	1	1.00	24.00	9,145.00	219,480				219,480	
ML OC	J9704 AA	ASSISTANT DIVISION DIRECTOR	1	1.00	24.00	8,711.00	209,064				209,064	
ML 00	J9707 AA	COURT OPER MANAGER 2	1	1.00	24.00	7,525.00	180,600				180,600	
ML 00	J9708 AA	COURT OPERATIONS MANAGER 3	В	8.00	192.00	6,770.37	1,299,912				1,299,912	
02 JM	J9712 AA J	ADMIN ANALYST 3	з	3.00	72.00	4,864.33	244,656	105,576			350,232	
02 JM	J9715 AA 1	EXECUTIVE ANALYST	9	9.00	216.00	7,529.36	1,461,264	128,280			1,589,544	
ML 00	J9716 AA 1	DIRECTOR, BFSD	1	1.00	24.00	8,711.00	209,064				209,064	
ML 00	J9717 AA 1	DIRECTOR, OJD OETO	1	1.00	24.00	8,296.00	199,104				199,104	
ML 00	J9718 AA 1	HEARINGS REFEREE	16	16.00	384.00	8,375.68	3,216,264				3,216,264	
ML 00	J9719 AA 3	ASSISTANT LEGAL COUNSEL	9	8.68	208.20	7,928.22	1,647,847				1,647,847	
ML 00	J9720 AA 1	LEGAL COUNSEL	1	1.00	24.00	10,585.00	254,040				254,040	
11 JM	J9722 AA	APPELLATE STAFF ATTORNEY	13	12.82	307.60	8,688.07	2,675,262				2,675,262	
ML 00	J9731 AA (OJD LAW LIBRARIAN	1	1.00	24.00	6,824.00		163,776			163,776	

1/15/12 REPORT NO.: PPDPLA EPORT: SUMMARY LIST BY PKG GENCY:19800 JUDICIAL DEPAR	BY AGENCY		DEPT	. OF ADMIN.	SVCS PPDE	PICS SYSTEM		PICS SYS	2013-15 TEM: BUDGET PREP	PAGE PROD FII ARATION
		POS			AVERAGE	GF	OF	FF	LF	AF
KG CLASS COMP D	ESCRIPTION	CNT	FTE	MOS	RATE	SAL	SAL	SAL	SAL	SAL
00 JM J9733 AA EDITOR-COM	POSER	1	1.00	24.00	5,615.00		134,760			134,760
00 JM J9734 AA APPELLATE	LEGAL COUNSEL	1	1.00	24.00	10,585.00	254,040				254,040
00 JM J9735 AA ASST APPEL	LATE LEGAL COUNSEL	1	1.00	24.00	9,145.00	219,480				219,480
00 JM J9736 AA PRESIDING	TAX MAGISTRATE	1	1.00	24.00	10,082.00	241,968				241,968
00 JM J9737 AA TAX MAGIST	RATE	2	1.80	43.20	7,666.50	324,096				324,096
00 JM J9738 AA JUDICIAL S	ERVICES SPECIALIST 1	1	1.00	24.00	3,623.00	86,952				86,952
11 JM J9740 AA JUDICIAL S	ERVICES SPECIALIST 3	19	18.96	455.00	3,896.84	1,774,260				1,774,260
00 JM J9741 AA JUDICIAL S	ERVICES SPECIALIST 4	3	3,00	72.00	4,618.00	332,496				332,496
00 JM J9744 AA OJD PROGRA	M COORDINATOR 3	1	1.00	24.00	5,897.00	141,528				141,528
0 JM J9745 AA OJD PROGRA	M COORDINATOR 4	1	1.00	24.00	5,897.00	141,528				141,528
00 JMC J9612 AA COURT OPER	ATIONS SUPERVISOR 2	1	1.00	24.00	4,399.00	105,576				105,576
00 JMP J9560 AA OJD ELECTR	ONIC SERV LIBRARIAN	1	.71	16.97	6,824.00		115,803			115,803
00 JMP J9644 AA OJD ANALYS	Т 2	1	.16	3.82	3,801.00	14,520				14,520
00 JMP J9645 AA OJD ANALYS	т 3	1	.50	12.00	7,165.00	85,980				85,980
00 JMP J9648 AA OJD CRB CO	ORDINATOR 2	1	.40	9.60	6,498.00	62,381				62,381
00 JMP J9674 AA MANAGEMENT	ASSISTANT 1	1	.50	12.00	2,837.00	34,044				34,044
00 JMP J9718 AA HEARINGS R	EFEREE	8	4.06	97.39	7,382.62	721,974				721,974
00 JMP J9722 AA APPELLATE	STAFF ATTORNEY	3	1.71	40.82	8,566.66	358,028				358,028
00 JMP J9723 AA COA SETTLE	MENT PROGRAM COORD	1	.60	14.40	10,082.00	145,181				145,181
00 JUA J9551 AA OJD PROCUR	EMENT OFFICER 1	2	2.00	48.00	5,480.00	263,040				263,040
00 JUA J9559 AA OJD LIBRAR	IAN	1	1.00	24.00	4,399.00		105,576			105,576
00 JUA J9609 AA INTERPRETE	R 2	5	5.00	120.00	5,761.00	691,320				691,320
00 JUA J9611 AA COURT OPER	ATIONS SUPERVISOR 1	3	3.00	72.00	4,259.00	201,072	105,576			306,648
3 JUA J9616 AA TECHNICAL	SUPPORT SPEC 2	10	9.88	237.00	4,082.80	970,500				970,500
0 JUA J9617 AA TECHNICAL	SUPPORT SPEC 3	11	10.80	259.20	4,903.09	1,267,464				1,267,464

PORT: SUMMARY LIST BY PKG BY AGENCY				SVCS PPD			DT GG OVOT	2013-15	1	PAGE PROD FILE
SENCY:19800 JUDICIAL DEPARTMENT							PICS SYSTE	EM: BUDGET PRI	SPARATION	
G CLASS COMP DESCRIPTION	POS CNT	FTE	MOS	AVERAGE RATE	GF SAL	OF SAL	FF SAL	LF SAL	AF SAL	
00 JUA J9618 AA TECHNICAL SUPPORT SPEC 4	20	20.00	480.00	5,594.52	2,663,688				2,663,6	588
00 JUA J9622 AA OJD RELEASE ASST OFFICER	12	12.00	288.00	4,474.16	1,086,504	202,056			1,288,5	560
0 JUA J9632 AA MANAGEMENT ASSISTANT 2	10	10.00	240.00	4,068.66	915,096		91,224		1,006,3	320
00 JUA J9636 AA PARALEGAL	10	10.00	240.00	4,016.50	963,960				963,9	960
00 JUA J9643 AA OJD ANALYST 1	3	2.85	68.40	4,360.66	295,637				295,6	537
00 JUA J9644 AA OJD ANALYST 2	7	7.00	168.00	4,890.57	760,512	61,104			821,6	516
99 JUA J9645 AA OJD ANALYST 3	8	7.68	184.20	5,246.70	872,951		116,376		989,3	327
00 JUA J9646 AA OJD ANALYST 4	2	2.00	48.00	6,435.00	289,014	19,866			308,0	880
00 JUA J9647 AA OJD CRB COORDINATOR 1	2	1.94	46.56	5,043.00	138,697	97,335			236,0	32
00 JUA J9648 AA OJD CRB COORDINATOR 2	1	1.00	24.00	6,498.00		155,952			155,9	952
3 JUA J9649 AA OJD COLLECTIONS AGENT	5	4.88	117.00	3,456.20	395,482	9,890			405,3	372
00 JUA J9651 AA CUSTODIAN	1	1.00	24.00	2,976.00	71,424				71,4	424
00 JUA J9656 AA BUDGET & FINANCE SPECIALIST 1	1	1.00	24.00	3,801.00	91,224				91,3	224
0 JUA J9657 AA BUDGET & FINANCE SPECIALIST 2	1	1.00	24.00	3,801.00	91,224				91,:	224
3 JUA J9674 AA MANAGEMENT ASSISTANT 1	В	7.88	189.00	3,570.25	576,852	100,536			677,3	388
0 JUA J9682 AA INFORMATION TECHNOLOGY SPEC 1	5	5.00	120.00	5,371.80	500,423	144,193			644,6	516
07 JUA J9683 AA INFORMATION TECHNOLOGY SPEC 2	13	12.88	309.00	5,574.92	776,377	949,802			1,726,3	179
00 JUA J9684 AA INFORMATION TECHNOLOGY SPEC 3	23	23.00	552.00	7,842.00	3,576,802	751,982			4,328,	784
JUA J9700 AA JUDICIAL CLERK	41	40.70	976.68	3,310.90	3,236,561				3,236,5	561
00 JUA J9710 AA ADMIN ANALYST 1	1	1.00	24.00	4,618.00	110,832				110,0	832
00 JUA J9712 AA ADMIN ANALYST 3	3	3.00	72.00	5,529.00	398,088				398,0	88
11 JUA J9721 AA LAW CLERK	33	32.68	784.00	4,459.09	3,499,680				3,499,6	580
00 JUA J9732 AA ASSISTANT EDITOR-COMPOSER	1	1.00	24.00	4,189.00		100,536			100,9	536
3 JUA J9738 AA JUDICIAL SERVICES SPECIALIST 1	24	23.61	566.20	2,997.29	1,703,358				1,703,3	358
04 JUA J9739 AA JUDICIAL SERVICES SPECIALIST 2	371	363.98	8732.28	3,261.25	27,108,502	1,475,164			28,583,6	566

1/15/12 REPORT NO.: PPDPLAGYCL EPORT: SUMMARY LIST BY PKG BY AGENCY		DEP	T. OF ADMIN.	SVCS PPI	DB PICS SYSTEM			2013-15	PAGE PROD FIL
SENCY:19800 JUDICIAL DEPARTMENT							PICS SYSTE	M: BUDGET PRE	PARATION
G CLASS COMP DESCRIPTION	POS CNT	FTE	MOS	AVERAGE RATE	GF SAL	OF SAL	FF SAL	LF SAL	AF SAL
10 JUA J9740 AA JUDICIAL SERVICES SPECIALIS	r 3 560	553.95	13292.30	3,612.87	47,425,954	696,527			48,122,481
33 JUA J9741 AA JUDICIAL SERVICES SPECIALIS	F 4 46	45.66	1095.60	4,132.13	4,522,917	13,601			4,536,518
55 JUA J9742 AA OJD PROGRAM COORDINATOR 1	22	20.91	501.02	3,801.95	1,921,112				1,921,112
05 JUA J9743 AA OJD PROGRAM COORDINATOR 2	19	18.40	441.00	4,219.10	1,872,207				1,872,207
04 JUA J9744 AA OJD PROGRAM COORDINATOR 3	25	23.13	555.06	4,999.50	2,475,637	340,344			2,815,981
04 JUA J9745 AA OJD PROGRAM COORDINATOR 4	5	4.80	115.20	5,285.00	605,894				605,894
00 JUN J9622 AA OJD RELEASE ASST OFFICER	2	1.00	24.00	3,454.50	82,908				82,908
00 JUN J9646 AA OJD ANALYST 4	1	.31	7.40	5,345.00	10,157	29,396			39,553
00 JUN J9676 AA STENO COURT REPORTER	1	.50	12.00	5,615.00	67,380				67,380
00 JUN J9710 AA ADMIN ANALYST 1	1	.86	20.64	5,092.00	105,099				105,099
00 JUN J9718 AA HEARINGS REFEREE	1	.25	6.00	9,145.00	54,870				54,870
00 JUN J9721 AA LAW CLERK	2	1.00	24.00	5,293.50	127,044				127,044
00 JUN J9722 AA APPELLATE STAFF ATTORNEY	1	.60	14.40	8,711.00	125,438				125,438
00 JUN J9738 AA JUDICIAL SERVICES SPECIALIS	гі з	1.80	43.10	3,315.33	139,630				139,630
03 JUN J9739 AA JUDICIAL SERVICES SPECIALIS	F 2 19	10.56	253.14	3,226.57	824,599	6,809			831,408
04 JUN J9740 AA JUDICIAL SERVICES SPECIALIS	гз 24	13.68	327.94	3,324.58	941,215	160,160			1,101,375
00 JUN J9741 AA JUDICIAL SERVICES SPECIALIS	r 4 4	2.72	65.21	4,137.25	260,136				260,136
05 JUN J9742 AA OJD PROGRAM COORDINATOR 1	2	.88	20.88	2,976.00	62,138				62,138
04 JUN J9743 AA OJD PROGRAM COORDINATOR 2	2	.84	20.22	3,447.00	69,698				69,698
10 JUN J9744 AA OJD PROGRAM COORDINATOR 3	5	2.40	57.60	4,669.80	208,248	63,346			271,594
10 JUN J9745 AA OJD PROGRAM COORDINATOR 4	3	1.29	31.05	5,900.00	80,152	106,146			186,298
	1809	1662.30	39883.08	4,532.74	158,592,889	12,318,945	207,600		171,119,434

11/15/12 REPORT NO.:	PPDPLAGYCL		DEP	T. OF ADMIN.	SVCS PPD	B PICS SYSTEM				PAGE
REPORT: SUMMARY LIST	BY PKG BY AGENCY								2013-15	PROD FILE
AGENCY:19800 JUDICIA	L DEPARTMENT							PICS SYSTEM	A: BUDGET PREPA	RATION
		POS			AVERAGE	GF	OF	FF	LF	AF
PKG CLASS COMP	DESCRIPTION	CNT	FTE	MOS	RATE	SAL	SAL	SAL	SAL	SAL
		1809	1662.30	39883.08	4,532.74	158,592,889	12,318,945	207,600		171,119,434

PPDPLWSBUD – Detail Listing by Summary XREF (Agency 197)

8/03/12 REPORT NO. EPORT: DETAIL LIST		XREF AGENC	Y		DEPT.	OF	ADMIN.	SVCS.	PPDB PICS	SYSTEM			2013-15		PAG	E D FII
GENCY: 19700 JUDIC UMMARY XREF: 010-0			atio									FICS SYSTEM:	BUDGET	PREPARATIO	N	
					s											т
OSITION NUMBER AUTH NO	ORG STRUC	F POS PKG Y TYP		ASS COMP		P	POS	FTE	BUDGET RATE	MOS	GF SAL	OF SAL	FF SAL		F AL	R
001828 001189940 EST DATE: 2013/10			JE	¥9726 AB	39S (1	1	.88	10,235.00	21.00	214,935					
001829 001189950 EST DATE: 2013/10				¥9726 AB	395 0	1	1	.88	10,235.00	21.00	214,935					
001830 001189960 SST DATE: 2013/10				¥9726 AB	395 (1	1	.88	10,235.00	21.00	214,935					
		211					з	2.64		63.00	644,805					
							3	2.64		63.00	644,805					
							3	2.64		63.00	644,805					

[This page intentionally left blank.]

PPDPLWSBUD – Detail Listing by Summary XREF (Agency 198)

11/15/12 REPORT NO.	: PPDPLWSBUD			DEP	т. о	F ADMI	N. SVCS.	PPDB PIC	CS SYSTEM					PAGE	
REPORT: DETAIL LIST AGENCY: 19800 JUDIC SUMMARY XREF: 100-0	TIAL DEPARTMENT										PICS SYSTEM:	2013-15 BUDGET	PREPARATION	PROD I	711
POSITION		F POS			S	POS		BUDGET		GF	OF	FF	LF		TR
NUMBER AUTH NO	ORG STRUC		CLASS COMP	RNG		CNT	FTE	RATE	MOS	SAL	SAL	SAL	SA		K
6001700 001188200 EST DATE: 2013/10			JUA J9738 AA	06	02	1	.88	2,336.00	21.00	49,056					
6001701 001188210 EST DATE: 2013/10			JUA J9738 AA	06	02	1	.88	2,336.00	21.00	49,056					
6001702 001188220 EST DATE: 2013/10			JUA J9739 AA	07	02	1	.88	2,451.00	21.00	51,471					
6001703 001188230 EST DATE: 2013/10			JUA J9739 AA	07	02	1	. 88	2,451.00	21.00	51,471					
6001704 001188240 EST DATE: 2013/10			JUA J9740 AA	09	02	1	.88	2,700.00	21.00	56,700					
6001705 001188260 EST DATE: 2013/10			JUA J9740 AA	09	02	1	.88	2,700.00	21.00	56,700					
6001706 001188270 EST DATE: 2013/10			JM J9613 AA	17	02	1	.88	3,990.00	21.00	83,790					
6001707 001188290 EST DATE: 2013/10			JUA J97 <mark>41 A</mark> A	11	02	1	.88	2,976.00	21.00	62,496					
6001708 001188300 EST DATE: 2013/10			JUA J9741 AA	11	02	1	. 88	2,976.00	21.00	62,496					
6001709 001188310 EST DATE: 2013/10			JUA J9721 AA	17	02	1	.88	3,990.00	21.00	83,790					
6001710 001188320 EST DATE: 2013/10			JUN J9742 AA	11	02	1	.44	2,976.00	10.44	31,069					
6001711 001188330 EST DATE: 2013/10			JUA J9739 AA	07	02	1	.88	2,451.00	21.00	51,471					
6001712 001188340 EST DATE: 2013/10			JUA J9739 AA	07	02	1	.88	2,451.00	21.00	51,471					
6001713 001188360 EST DATE: 2013/10			JUA J9739 AA	07	02	1	.88	2,451.00	21.00	51,471					
6001714 001188370 EST DATE: 2013/10			JUN J9739 AA	07	02	1	.44	2,451.00	10.44	25,588					
6001715 001188390 EST DATE: 2013/10			JUA J9740 AA	09	02	1	.88	2,700.00	21.00	56,700					

	REPORT NO. :		VDDD ACDIO	,	DEP	г. о	F ADMIN	. SVCS.	PPDB PIC	S SYSTEM			2012 15		PAGE PROD FIL
		IG BY SUMMARY : AL DEPARTMENT	XREF AGENC	£								PICS SYSTEM:	2013-15 BIDOPT	DEPENDATION	
		-00 203 Trial	Courts									FICS SISTEM.	BODGET	FREFAMILION	
						s									Т
POSITION			F POS			т	POS		BUDGET		GF	OF	FF	LF	
NUMBER	AUTH NO	ORG STRUC	PKG Y TYP	CLASS COMP	RNG	p	CNT	FTE	RATE	MOS	SAL	SAL	SAL	SA	L B
		00-04-01-00000 01 EXP DATE:		JUA J9616 AA	12	02	1	.88	3,124.00	21.00	65,604				
		00-04-01-00000 01 EXP DATE:		JM J9618 AA	18	02	1	.88	4,189.00	21.00	87,969				
		00-05-01-00000 01 EXP DATE:		JUA J9739 AA	07	02	1	.88	2,451.00	21.00	51,471				
		00-05-01-00000 01 EXP DATE:		JUA J9739 AA	07	02	1	.88	2,451.00	21.00	51,471				
		00-05-01-00000 01 EXP DATE:		JUA J9739 AA	07	02	1	.88	2,451.00	21.00	51,471				
		00-05-01-00000 01 EXP DATE:		JUA J9739 AA	07	02	1	.88	2,451.00	21.00	51,471				
		00-05-01-00000 01 EXP DATE:		JUA J9739 AA	07	02	1	.88	2,451.00	21.00	51,471				
		00-05-01-00000 01 EXP DATE:		JUA J9739 AA	07	02	1	.88	2,451.00	21.00	51,471				
		00-05-01-00000 01 EXP DATE:		JUA J9739 AA	07	02	1	. 88	2,451.00	21.00	51,471				
		00-05-01-00000 01 EXP DATE:		JUA J9740 AA	09	02	1	.88	2,700.00	21.00	56,700				
		00-05-01-00000 01 EXP DATE:		JUA J9649 AA	12	02	1	.88	3,124.00	21.00	65,604				
		00-10-02-00000 01 EXP DATE:		JUA J9740 AA	09	02	1	.88	2,700.00	21.00	56,700				
		00-10-02-00000 01 EXP DATE:		JUN J9740 AA	09	02	1	. 44	2,700.00	10.44	28,188				
		00-11-01-00000 01 EXP DATE:		JUA J9739 AA	07	02	1	.88	2,451.00	21.00	51,471				
		00-11-01-00000 01 EXP DATE:		JUA J9739 AA	07	02	1	.88	2,451.00	21.00	51,471				
		00-11-01-00000 01 EXP DATE:		JUA J9740 AA	09	02	1	.88	2,700.00	21.00	56,700				

Agency

	REPORT NO.:	NG BY SUMMARY	XREF AGENC	Ý	DEP	1. 0	JE ADMI	IN. SYCS.	PPDB PIC	Marcio G.			2013-15		PAGE PROD FIL
GENCY: 1	19800 JUDICI	AL DEPARTMENT										PICS SYSTEM:			
JMMARY 7	KREF: 100-00	-00 203 Trial	courts												
OSITION			E 000			ST	200		armann		GF	OF			TR
	AUTH NO	ORG STRUC	F POS PKG Y TYP	CLASS COMP	RNG		POS	FTE	BUDGET RATE	MOS	SAL	SAL	FF SAL	LF SAL	
		00-11-01-00000 01 EXP DATE:		JUA J9740 AA	09	02	1	. 88	2,700.00	21.00	56,700				
		00-11-01-00000 01 EXP DATE:		JUA J9674 AA	09	02	1	.88	2,700.00	21.00	56,700				
		00-12-01-00000 01 EXP DATE:		JUA J9739 AA	07	02	1	.88	2,451.00	21.00	51,471				
		00-12-01-00000 01 EXP DATE:		JUA J9739 AA	07	02	1	.88	2,451.00	21.00	51,471				
		00-14-01-00000 01 EXP DATE:		JUA J9740 AA	09	02	1	.88	2,700.00	21.00	56,700				
		00-14-01-00000 01 EXP DATE:		JUA J9740 AA	09	02	Ð	.88	2,700.00	21.00	56,700				
		00-15-01-00000 01 EXP DATE:		JUA J9739 AA	07	02	1	.88	2,451.00	21.00	51,471				
		00-15-01-00000 01 EXP DATE:		JUA J9739 AA	07	02	1	.88	2,451.00	21.00	51,471				
		00-15-01-00000 01 EXP DATE:		JUA J9739 AA	07	02	1	.88	2,451.00	21.00	51,471				
		00-16-01-00000 01 EXP DATE:		JUA J9700 AA	10	02	1	.88	2,837.00	21.00	59,577				
		00-16-01-00000 01 EXP DATE:		JM J9611 AA	13	02	1	.88	3,286.00	21.00	69,006				
		00-17-01-00000 01 EXP DATE:		JUA J9738 AA	06	02	1	.88	2,336.00	21.00	49,056				
		00-17-01-00000 01 EXP DATE:		JUA J9739 AA	07	02	1	.88	2,451.00	21.00	51,471				
		00-17-01-00000 01 EXP DATE:		JUA J9739 AA	07	02	1	.88	2,451.00	21.00	51,471				
		00-18-01-00000 01 EXP DATE:		JUN J9740 AA	09	02	1	.49	2,700.00	11.79	31,833				
		00-18-01-00000 01 EXP DATE:		JUN J9740 AA	09	02	1	.49	2,700.00	11.79	31,833				

the second se	REPORT NO. :				DEPT	. OF AD	MIN. SVCS.	PPDB PI	CS SYSTEM				PA	
GENCY: :	19800 JUDICI	ING BY SUMMARY TAL DEPARTMENT 0-00 203 Trial		ſ							PICS SYSTEM:	2013-15 BUDGET PREI		OD FII
						5								т
POSITION			F POS			r POS		BUDGET		GF	OF	FF	LF	R
NUMBER	AUTH NO	ORG STRUC	PKG Y TYP	CLASS COMP	RNG	P CNT	FTE	RATE	MOS	SAL	SAL	SAL	SAL	K
		100-19-01-00000 /01 EXP DATE:		JUA J9739 AA	07	02 1	.88	2,451.00	21.00	51,471				
		100-20-01-00000 /01 EXP DATE:		JUA J9739 AA	07	02 1	.88	2,451.00	21.00	51,471				
		00-20-01-00000 01 EXP DATE:		JUA J9739 AA	07	02 1	.88	2,451.00	21.00	51,471				
		100-21-01-00000 /01 EXP DATE:		JUA J9740 AA	09	02 1	.88	2,700.00	21.00	56,700				
		100-21-01-00000 /01 EXP DATE:		JUA J9740 AA	09	02 1	.88	2,700.00	21.00	56,700				
		00-22-01-00000 01 EXP DATE:		JUA J9740 AA	09	02 1	.88	2,700.00	21.00	56,700				
		100-22-02-00000 /01 EXP DATE:		JUA J9740 AA	09	02 1	.88	2,700.00	21.00	56,700				
5001755	001188800 1	00-23-01-00000	203 0 PF	AA 19739 AA	07	02 1	.00	2,451,00	.00					
		01 EXP DATE:												
		100-23-01-00000 /01 EXP DATE:		JUA J9739 AA	07	02 1	.88	2,451.00	21.00	51,471				
		00-23-01-00000 01 EXP DATE:		JUA J9739 AA	07	02 1	.88	2,451.00	21.00	51,471				
		00-25-01-00000 01 EXP DATE:		JUA J9740 AA	09	02 1	.88	2,700.00	21.00	56,700				
		100-25-01-00000 /01 EXP DATE:		JUA J9740 AA	09	02 1	.88	2,700.00	21.00	56,700				
		100-25-01-00000 /01 EXP DATE:		JUA J9740 AA	09	02 1	.88	2,700.00	21.00	56,700				
		100-25-01-00000 /01 EXP DATE:		JUN J9740 AA	09	02 1	.44	2,700.00	10.44	28,188				
			203			62	51.14		1220.34	3,266,345				

).: PPDPLWSBUE	RY XREF AGENC	v	DEI	л. с	F ADMI	N. SVCS.	PPDB PIC	IS SYSTEM			2013-15	PAG	E D FILE
GENCY:	19800 JUDI	CIAL DEPARTME	INT	-								PICS SYSTEM:	BUDGET PREPAR		D FIL
JMMARY	AREF: 100-	00-00 204 Tri	ar courts												
OSITION			F POS			S T	POS		BUDGET		GF	OF	FF	LF	TR
NUMBER	AUTH NO	ORG STRUC	PKG Y TYP	CLASS COMP	RNG	P P	CNT	FTE	RATE	MOS	SAL	SAL	SAL	SAL	К
			0000 204 0 PF 1: 9999/01/01	JUA J9745 AA	19	02	1	1.00	4,399.00	24.00	105,576				
			0000 204 0 PF 1: 9999/01/01	JUA J9745 AA	19	09	1	1.00	6,188.00	24.00	148,512				
			0000 204 0 PP 1: 9999/01/01	JUN J9743 AA	14	02	1	.50	3,447.00	12.00	41,364				
			0000 204 0 PF 1: 9999/01/01	JUA J9743 AA	14	02	1	1.00	3,447.00	24.00	82,728				
			0000 204 0 PP 1: 9999/01/01		17	06	1	.50	4,849.00	12.00	58,188				
			0000 204 0 PP 1: 9999/01/01	JUA J9742 AA	11	02	1	.90	2,976.00	21.60	64,282				
			0000 204 0 PP 2: 9999/01/01	JUN J9744 AA	17	06	1	.50	4,849.00	12.00	58,188				
			0000 204 0 PP 2: 9999/01/01	JUN J9740 AA	09	02	1	.66	2,700.00	15.72	42,444				
			0000 204 0 PF 1: 9999/01/01	JUA J9744 AA	17	06	1	1.00	4,849.00	24.00	116,376				
			0000 204 0 PP 1: 9999/01/01	JUN J9744 AA	17	02	1	.30	3,990.00	7.20	28,728				
			0000 204 0 PF 1: 9999/01/01	JUA J9744 AA	17	10	1	1.00	5,897.00	24.00	141,528				
			0000 204 0 PP 1: 9999/01/01	JUA J9744 AA	17	02	1	.20	3,990.00	4.80	19,152				
			0000 204 0 PP 1: 9999/01/01		07	02	1	.65	2,451.00	15.60	38,236				
			204				13	9.21		220.92	945,302				

and the second se	EPORT NO.:	G BY SUMMARY	VERE ACENCE		DEP.	r. 0	F ADMI	N. SVCS.	PPDB PIC	CS SYSTEM			2013-15	PAG	E D FILI
		L DEPARTMENT	AREP AGENC:									DICS SYSTEM	BUDGET PREF		D DIT
		00 205 Trial	Courts									FICS SISTEM	DODGET FREE	ANTION	
						s									т
OSITION			F POS			т	POS		BUDGET		GF	OF	FF	LF	R
NUMBER 1	AUTH NO	ORG STRUC	PKG Y TYP	CLASS COMP	RNG	P	CNT	FTE	RATE	MOS	SAL	SAL	SAL	SAL	K
		0-02-01-00000 1 EXP DATE:		JUA J9743 AA	14	02	1	.88	3,447.00	21.00	72,387				
		0-04-01-00000 1 EXP DATE:		JUA J9744 AA	17	02	1	.65	3,990.00	15.66	62,483				
		0-04-01-00000 1 EXP DATE:		JUA J9742 AA	11	02	1	.88	2,976.00	21.00	62,496				
		0-04-01-00000 1 EXP DATE:		JUA J9742 AA	11	02	1	.88	2,976.00	21.00	62,496				
		0-04-01-00000 1 EXP DATE:		JUA J9742 AA	11	02	1	.88	2,976.00	21.00	62,496				
		0-06-01-00000 1 EXP DATE:		JM J9612 AA	15	02	1	.88	3,623.00	21.00	76,083				
		0-06-01-00000 1 EXP DATE:		JUA J9743 AA	14	02	1	.88	3,447.00	21.00	72,387				
		0-09-01-00000 1 EXP DATE:		JUA J9743 AA	14	02	1	.88	3,447.00	21.00	72,387				
		0-14-01-00000 1 EXP DATE:		JUA J9742 AA	11	02	1	.88	2,976.00	21.00	62,496				
		0-22-01-00000 1 EXP DATE:		JUA J9743 AA	14	02	1	.88	3,447.00	21.00	72,387				
		0-11-01-00000 1 EXP DATE:		JUA J9744 AA	17	02	1	.88	3,990.00	21.00	83,790				
		0-25-01-00000 1 EXP DATE:		JUN J9742 AA	11	02	1	.44	2,976.00	10.44	31,069				
		0-18-01-00000 1 EXP DATE:		JUA J9742 AA	11	02	1	.88	2,976.00	21.00	62,496				
		0-05-01-00000 1 EXP DATE:		JUA J9740 AA	09	02	1	.88	2,700.00	21.00	56,700				
		0-15-01-00000 1 EXP DATE:		JUA J9740 AA	09	02	1	.88	2,700.00	21.00	56,700				
		0-16-01-00000 1 EXP DATE:		JUA J9742 AA	11	02	1	.88	2,976.00	21.00	62,496				

		: PPDPLWSBUD ING BY SUMMARY	XERE AGENC	v	DEPT.	OF ADMI	N. SVCS.	PPDB PIC	CS SYSTEM			2013-15	PAG	3) FIL
		IAL DEPARTMENT									PICS SYSTEM:			
JMMARY 3	(REF: 100-0	0-00 205 Trial	Courts											
					s									т
OSITION			F POS			POS		BUDGET		GF	OF	FF	LF	R
		ORG STRUC		CLASS COMP			FTE	RATE	MOS	SAL	SAL	SAL	SAL	K
		100-01-01-0000 /01 EXP DATE:			14 0:	2 1	.88	3,447.00	21.00	72,387				
			205			17	14.29		341.10	1,103,736				

1/15/12 REPORT NO.: PPDPLWSBUD			DEP	т. о	F ADMI	N. SVCS.	PPDB PI	CS SYSTEM					PAGE	
EPORT: DETAIL LISTING BY SUMMARY	XREF AGENCY	l .									2013-15		PROD	FI
GENCY: 19800 JUDICIAL DEPARTMENT										PICS SYSTEM:	BUDGET	PREPARATION		
JMMARY XREF: 100-00-00 210 Trial	Courts													
				S										т
DSITION	F POS			т	POS		BUDGET		GF	OF	FF	LF		R
NUMBER AUTH NO ORG STRUC	PKG Y TYP	CLASS COMP	RNG	P	CNT	FTE	RATE	MOS	SAL	SAL	SAL	SA	L	K
001821 001189870 100-01-01-0000 EST DATE: 2013/07/01 EXP DATE:		JUA J9744 AA	17	10	1	1.00	5,897.00	24.00		141,528				
001822 001189880 100-01-01-0000	210 0 T.P	-	07	04	1	50	2,700.00	12.00		32,400				
EST DATE: 2013/07/01 EXP DATE:		JUN USIDS IN			+		2,,00.00	12,00		52,200				
001823 001189890 100-04-01-0000	210 0 LP	JUN J9745 AA	19	08	1	.75	5,897.00	18.00		106,146				
EST DATE: 2013/07/01 EXP DATE:	2015/06/30													
001824 001189900 100-10-02-0000	210 0 LP	JUN J9744 AA	17	04	1	.60	4,399.00	14.40		63,346				
EST DATE: 2013/07/01 EXP DATE:	2015/06/30													
001825 001189910 100-11-01-0000		JUA J9744 AA	17	07	1	1.00	5,092.00	24.00		122,208				
EST DATE: 2013/07/01 EXP DATE:	2015/06/30													
001826 001189920 100-14-01-0000	210 0 LP	JUA J9740 AA	09	04	1	.25	2,976.00	6.00		17,856				
EST DATE: 2013/07/01 EXP DATE:	2015/06/30													
001827 001189930 100-22-02-0000	0 210 0 LP	JUA J9744 AA	17	02	1	.80	3,990.00	19.20		76,608				
EST DATE: 2013/07/01 EXP DATE:	2015/06/30													
	210				7	4.90		117.60		560,092				
					99	79.54		1899.96	5,315,383	560,092				
						12.24		10000.00	5,515,505	500,052				

and the second second second second	PORT NO.:		VERE AGENCE		DEPI	r. o	F ADMI	N. SVCS.	PPDB PIC	S SYSTEM			2012 15		AGE ROD FIL
GENCY: 198	BOO JUDICIA	G BY SUMMARY L DEPARTMENT 00 211 Appell										PICS SYSTEM:	2013-15 BUDGET PI		10D F11
MMARI ARE	SP: 101-00-	oo zii Appeli	lace/lax con	1108		-									
OSITION NUMBER A	AUTH NO	ORG STRUC	F POS PKG Y TYP	CLASS COMP		S T P	POS CNT	FTE	BUDGET RATE	MOS	GF SAL	OF SAL	FF SAL	LF SAL	T R K
		1-92-00-00000 1 EXP DATE:		JM J9722 AA	26	02	1	.96	6,188.00	23.00	142,324				
		1-92-00-00000 1 EXP DATE:		JM J9722 AA	26	02	1	.96	6,188.00	23.00	142,324				
		1-92-00-00000 1 EXP DATE:		JUA J9721 AA	17	02	i	.96	3,990.00	23.00	91,770				
		1-92-00-00000 1 EXP DATE:		JUA J9721 AA	17	02	1	.96	3,990.00	23.00	91,770				
		1-92-00-00000 1 EXP DATE:		JUA J9721 AA	17	02	1	.96	3,990.00	23.00	91,770				
		1-92-00-00000 1 EXP DATE:		JUA J9721 AA	17	02	1	,96	3,990.00	23.00	91,770				
		1-92-00-00000 1 EXP DATE:		JUA J9721 AA	17	02	1	.96	3,990.00	23.00	91,770				
		1-92-00-00000 1 EXP DATE:		JUA J9740 AA	09	02	1	.96	2,700.00	23.00	62,100				
		1-92-00-00000 1 EXP DATE:		JM J9740 AA	09	02	1	.96	2,700.00	23.00	62,100				
			211				9	8.64		207.00	867,698				
							9	8.64		207.00	867,698				

1/15/12	REPORT NO	.: PPDPLWSBUD					DEP	т. с	OF ADMI	N. SVCS.	PPDB PIC	S SYSTEM					PAGE	.1
REPORT: I	DETAIL LIS	FING BY SUMMARY	XREF P	GENCY	l.										2013-15		PROD	FILE
GENCY:	19800 JUDI	CIAL DEPARTMENT												PICS SYSTEM:	BUDGET	PREPARATION	E.	
UMMARY 1	KREF: 102-	00-00 206 Admini	strati	on an	id C													
								s										т
OSITION			F	POS				т	POS		BUDGET		GF	OF	FF	LF	,	R
NUMBER	AUTH NO	ORG STRUC	PKG Y	TYP	CL	ASS COMP	RNG	; P	CNT	FTE	RATE	MOS	SAL	SAL	SAL	SP	L	K
001790	001189150	102-90-01-00000	206 0	PF	JM	J9646 AA	23	02	ì	.88	5,345.00	21.00	112,245					
EST DATH	E: 2013/1	0/01 EXP DATE:	9999/0	01/01														
001791	001189160	102-90-01-00000	206 0	PF	JM	J9646 AA	23	02	1	. 88	5,345.00	21.00	112,245					
EST DATH	E: 2013/1	0/01 EXP DATE:	9999/0	01/01														
001792	001189170	102-90-01-00000	206 0	PF	JM	J9645 AA	20	02	1	.88	4,618.00	21.00	96,978					
		0/01 EXP DATE:																
			206							2.64		63.00	321,468					

and the second sec		: PPDPLWSBUD ING BY SUMMAR	Y XREF AGENO	Y						PPDB PIC				2013-15	PAGE	E D FILE
GENCY: 1	9800 JUDIC	IAL DEPARTMEN	т										FICS SYSTEM:	BUDGET PREI	PARATION	
UMMARY X	REF: 102-0	0-00 207 Admi	nistration a	nd (2											
							-									1.2
OSITION			F POS				ST	POS		BUDGET		GF	OF	FF	LF	TR
NUMBER	AUTH NO	ORG STRUC	PKG Y TYP		ACC. COMP.	RNG		CNT	FTE	RATE	MOS	SAL	SAL	SAL	SAL	K
NUMBER	AUTH NO	ORG SIRUC	PAG I III		LASS COMP	REAG		CIVI	FIL	RAIL	MUS	DAL	DAL	DAL	SAL	R
001793	001189180	102-90-01-000	00 207 0 PF	JM	J9645 AA	20	02	1	.88	4,618.00	21.00	96,978				
EST DATE	: 2013/10	/01 EXP DATE:	9999/01/01							1		1000				
		102-90-01-000			J9645 AA	20	02	1	.88	4,618.00	21.00	96,978				
EST DATE	: 2013/10	/01 EXP DATE:	9999/01/01													
001705		102-90-01-000		-			0.0	1	.88	5,345.00	21.00	112,245				
		/01 EXP DATE:			09646 AA	23	02	-	. 88	5,345.00	21.00	112,245				
BOI DAID	2013/10	OI DAF DAID.	5555701701													
001796	001189210	102-84-01-000	00 207 0 PF	JM	J9684 AA	23	02	1	.88	5,345.00	21.00	112,245				
EST DATE	: 2013/10	/01 EXP DATE:	9999/01/01													
		102-84-01-000			J9684 AA	23	02	1	.88	5,345.00	21.00	112,245				
EST DATE	1: 2013/10	/01 EXP DATE:	9999/01/01													
	A COMPANY OF THE R	102-84-01-000 /01 EXP DATE:			A U9683 AA	19	02	1	.88	4,399.00	21.00	92,379				
SI DAIR	.: 2013/10	UI DAP DATE:	5355/01/01													
			207					6	5.28		126.00	623,070				

and the second se	REPORT NO. :				DEP	r. 0	F ADMI	N. SVCS.	PPDB PIC	S SISTEM				PAG	
		NG BY SUMMARY	XREF AGENCY	c.									2013-15		D FIL
		AL DEPARTMENT -00 208 Admini	etration at	d C								PICS SYSTEM:	BUDGET PREI	PARATION	
UMMARI /	LREF: 102-00	-00 208 Aumini	Stration an	iu c											
						s									т
OSITION			F POS			т	POS		BUDGET		GF	OF	FF	LF	R
NUMBER	AUTH NO	ORG STRUC	PKG Y TYP	CLASS COMP	RNG	P	CNT	FTE	RATE	MOS	SAL	SAL	SAL	SAL	ĸ
001802	001189270 1	02-82-01-00000	208 0 PP	JM J9646 AA	23	02		.00	5,345.00	.00					
EST DATE	8: 2013/07/	01 EXP DATE:	9999/01/01												
001803	001189300 1	02-82-01-00000	208 0 PF	JUA J9740 AA	09	02	1	. 88	2,700.00	21.00	56,700				
EST DATE	2013/10/	01 EXP DATE:	9999/01/01												
001804	001189310 1	02-82-01-00000	208 0 PF	JUA J9740 AA	09	02	1	.88	2,700.00	21.00	56,700				
EST DATE	8: 2013/10/	01 EXP DATE:	9999/01/01												
5001805	001189320 1	02-82-01-00000	208 0 PF	JUA J9740 AA	09	02	1	.75	2,700.00	18.00	48,600				
EST DATE	2014/01/	01 EXP DATE:	9999/01/01												
001806	001189330 1	02-82-01-00000	208 0 PF	JUA J9740 AA	09	02	1	.75	2,700.00	18.00	48,600				
EST DATE	8: 2014/01/	01 EXP DATE:	9999/01/01												
5001807	001189340 1	02-82-01-00000	208 0 PF	JUA J9740 AA	09	02	1	.50	2,700.00	12.00	32,400				
EST DATE	2014/07/	01 EXP DATE:	9999/01/01												
5001808	001189350 1	02-82-01-00000	208 0 PF	JUA J9740 AA	09	02	1	.50	2,700.00	12.00	32,400				
EST DATE	2014/07/	01 EXP DATE:	9999/01/01												
001809	001189360 1	02-82-01-00000	208 0 PF	JUA J9739 AA	07	02	1	.88	2,451.00	21.00	51,471				
EST DATE	2013/10/	01 EXP DATE:	9999/01/01												
5001810	001189370 1	02-82-01-00000	208 0 PF	JUA J9739 AA	07	02	1	.75	2,451.00	18.00	44,118				
EST DATE	8: 2014/01/	01 EXP DATE:	9999/01/01												
5001811	001189380 1	02-82-01-00000	208 0 PF	JUA J9739 AA	07	02	1	.50	2,451.00	12.00	29,412				
EST DATE	2014/07/	01 EXP DATE:	9999/01/01												
		02-82-01-00000		JM J9646 AA	23	02	1	.75	5,345.00	18.00	96,210				
EST DATE	2014/01/	01 EXP DATE:	9999/01/01												
			208				10	7.14		171.00	496,611				

/15/12 REPORT NO.: PORT: DETAIL LISTI		XREF AGENCY	r	DEPI	. OF AL	MIN. SVC	S PPDB P	ICS SISIEM			2013-15	PAGE	FILE
ENCY: 19800 JUDICI										PICS SYSTEM:	BUDGET PREPA		
MMARY XREF: 102-00	-00 209 Admini	stration ar	nd C										
					s								т
SITION		F POS			T POS	5	BUDGET		GF	OF	FF	LF	R
UMBER AUTH NO	ORG STRUC	PKG Y TYP	CLASS COMP	RNG	P CNT	r fte	RATE	MOS	SAL	SAL	SAL	SAL	K
01799 001189240 1 ST DATE: 2013/10/			JM J9719 AA	26	02 1	L .8	8 6,188.00	21.00	129,948				
01800 001189250 1 ST DATE: 2013/10/			JM J9632 AA	12	02 3	L .8	8 3,124.00	21.00	65,604				
01801 001189260 1 ST DATE: 2013/10/			JUA J9645 AA	20	02 1	.8	8 4,618.00	21.00	96,978				
		209			3	2.6	4	63.00	292,530				
					23	17.7	o	423.00	1,733,679				

	NO.: PPDPLWSBUD LISTING BY SUMMARY	XREE AGENCY	v		DEP	т. с	OF ADMI	N. SVCS.	PPDB PIC	CS SYSTEM			2013-15	PAGI	FILE
	UDICIAL DEPARTMENT											FICS SYSTEM:			
UMMARY XREF: 4	00-00-00 050 State	Court Facil	liti												
						s									т
OSITION		F POS				т	POS		BUDGET		GF	OF	FF	LF	R
NUMBER AUTH	NO ORG STRUC	PKG Y TYP	CLA	SS COMP	RNG	P	CNT	FTE	RATE	MOS	SAL	SAL	SAL	SAL	ĸ
	300 400-01-00-00000 3/07/01 EXP DATE:		ЛU	J9715 AA	23	11	1-	1.00-	8,296.00	24.00-		199,104-			
	300 400-01-00-00000 3/07/01 EXP DATE:		JM	J9715 AA	23	11	1	1.00	8,296.00	24.00	199,104				
	540 400-01-00-0000 3/07/01 EXP DATE:		JUA	J9645 AA	20	03	1-	1.00-	4,849.00	24.00-		116,376-			
	540 400-01-00-0000 3/07/01 EXP DATE:		JUA	J9645 AA	20	03	1	1.00	4,849.00	24.00	116,376				
	810 400-01-00-0000 3/07/01 EXP DATE:		JUA	J9632 AA	12	04	1-	1.00-	3,447.00	24.00-		82,728-			
	810 400-01-00-00000 3/07/01 EXP DATE:		JUA	J9632 AA	12	04	1	1.00	3,447.00	24.00	82,728				
	310 400-01-00-00000 3/07/01 EXP DATE:		JM	J9645 AA	20	02	1-	1.00-	4,618.00	24.00-		110,832-			
	310 400-01-00-00000 3/07/01 EXP DATE:		JM	J9645 AA	20	02	1	1.00	4,618.00	24.00	110,832				
		050						.00		.00	509,040	509,040-			
								.00		.00	509,040	509,040-			

	REPORT NO.:		VERE LORMON			DEP	т. с	OF ADMI	IN. SVCS.	PPDB PIC	CS SYSTEM			2013-15	PAG	E D FILE
	DETAIL LISTING		XREF AGENCY	Ŷ									PICS SYSTEM:			D RIT
	(REF: 500-00-		Program										FICS SISTER.	DODGET FRE	PADALION	
							s									т
POSITION			F POS				т	POS		BUDGET		GF	OF	FF	LF	R
NUMBER	AUTH NO	ORG STRUC	PKG Y TYP	CLA	SS COMP	RNG	P	CNT	FTE	RATE	MOS	SAL	SAL	SAL	SAL	K
	001189480 50 3: 2013/07/0			JM	J9698 AA	26	11	1	.50	9,601.00	12.00		115,212			
	001189490 50 S: 2013/07/0			JM	J9698 AA	26	11	- 1	1.00	9,601.00	24.00		230,424			
	001189510 50 3: 2013/07/0			JM	J9683 AA	19	07	1	1.00	5,615.00	24.00		134,760			
	001189520 50 3: 2013/07/0			JM	J9674 AA	09	10	1	1.00	3,990.00	24.00		95,760			
	001189530 50 8: 2013/07/0			ML	J9674 AA	09	08	1	1.00	3,623.00	24.00		86,952			
	001189540 50 2: 2013/07/0			ML	J9684 AA	23	10	1	1.00	7,903.00	24.00		189,672			
	001189550 50 2: 2013/07/0			JM	J9644 AA	16	04	1	1.00	4,189.00	24.00		100,536			
	001189560 50 3: 2013/07/0			ML	J9683 AA	19	06	1	1.00	5,345.00	24.00		128,280			
	001189570 50 S: 2013/07/0			JM	J9684 AA	23	03	1	1.00	5,615.00	24.00		134,760			
	001189580 50 2: 2013/07/0			ML	J9684 AA	23	08	1	1.00	7,165.00	24.00		171,960			
	001189590 50 3: 2013/07/0			JM	J9646 AA	23	04	1	1,00	5,897.00	24.00		141,528			
	001189600 50 3: 2013/07/0			ML	J9674 AA	09	04	1	1.00	2,976.00	24.00		71,424			
	001189610 50 3: 2013/07/0			JM	J9645 AA	20	09	1	1.00	6,498.00	24.00		155,952			
	001189620 50 3: 2013/07/0			JM	J9645 AA	20	02	1	1.00	4,618.00	24.00		110,832			
	001189630 50 8: 2013/07/0			ML	J9645 AA	20	02	1	1,00	4,618.00	24.00		110,832			
	001189640 50 2: 2013/07/0			JM	J9645 AA	20	02	1	1.00	4,618.00	24.00		110,832			

		PPDPLWSBUD	VERE AGENCI			DEP	т. с	OF ADMI	N. SVCS.	PPDB PIC	CS SYSTEM			2013-15	PAG	E D FILE
		AL DEPARTMENT	AREF AGENCI										PICS SYSTEM:	HARA HE		DFIL
		-00 202 eCourt	Program													
			E 500				S T	Dod		DIM ON		GF	OF	FF	LF	TR
OSITION NUMBER	AUTH NO	ORG STRUC	F POS PKG Y TYP	CL	ASS COMP	RNG		POS	FTE	BUDGET RATE	MOS	SAL	SAL	SAL	SAL	K
		00-11-00-00000 01 EXP DATE:		JM	J9645 AA	20	02	1	1.00	4,618.00	24.00		110,832			
		00-11-00-00000 01 EXP DATE:		ML	J9643 AA	13	03	1	1.00	3,447.00	24.00		82,728			
		00-11-00-00000 01 EXP DATE:		JM	J9645 AA	20	06	1	1.00	5,615.00	24.00		134,760			
		00-11-00-00000 01 EXP DATE:		JM	J9645 AA	20	06	1	1.00	5,615.00	24.00		134,760			
		00-11-00-00000 01 EXP DATE:		JM	J9712 AA	18	03	1	1.00	4,399.00	24.00		105,576			
		00-11-00-00000 01 EXP DATE:		JM	J9645 AA	20	02	1	1.00	4,618.00	24.00		110,832			
		00-12-00-00000 01 EXP DATE:		лм	J9555 AA	23	06	1	.50	6,498.00	12.00		77,976			
		00-15-00-00000 01 EXP DATE:		JМ	J9715 AA	23	02	1	1.00	5,345.00	24.00		128,280			
		00-03-00-00000 01 EXP DATE:		JM	J9684 AA	23	02	1	.50	5,345.00	12.00		64,140			
		00-22-00-00000 01 EXP DATE:		JM	J9684 AA	23	02	1	1.00	5,345.00	24.00		128,280			
		00-23-00-00000 01 EXP DATE:		JM	J9698 AA	26	11	1	1.00	9,601.00	24.00		230,424			
		00-23-00-00000 01 EXP DATE:		JM	J9684 AA	23	11	1	1.00	8,296.00	24.00		199,104			
		00-25-00-00000 01 EXP DATE:		JM	J9684 AA	23	05	1	1.00	6,188.00	24.00		148,512			
		00-25-00-00000 01 EXP DATE:		JM	J9683 AA	19	09	1	.50	6,188.00	12.00		74,256			
		00-16-00-00000 01 EXP DATE:		JM	J9684 AA	23	09	1	1.00	7,525.00	24.00		180,600			
		00-26-00-0000 01 EXP DATE:		JM	J9684 AA	23	11	1	1.00	8,296.00	24.00		199,104			

the second se		PPDPLWSBUD NG BY SUMMARY	XREF AGENC	Y		DEP	т. с	OF ADMI	IN. SVCS.	PPDB PI	CS SYSTEM			2013-15	PAG	E D FILE
		AL DEPARTMENT											PICS SYSTEM:	BUDGET PREP		
MMARY X	REF: 500-00	-00 202 eCour	t Program													
							s									т
OSITION			F POS				T	POS		BUDGET		GF	OF	FF	LF	R
NUMBER	AUTH NO	ORG STRUC	PKG Y TYP	CL	ASS COMP	RNG	P	CNT	FTE	RATE	MOS	SAL	SAL	SAL	SAL	K
		00-26-00-0000 01 EXP DATE:			J9684 AA	23	03	1	1.00	5,615.00	24.00		134,760			
		00-26-00-0000 01 EXP DATE:			J9683 AA	19	03	1	1.00	4,618.00	24.00		110,832			
		00-26-00-0000 01 EXP DATE:			J9684 AA	23	02	1	1.00	5,345.00	24.00		128,280			
		00-26-00-0000 01 EXP DATE:			J9683 AA	19	11	1	1.00	6,824.00	24.00		163,776			
		00-28-00-0000 01 EXP DATE:			J9645 AA	20	04	1	1.00	5,092.00	24.00		122,208			
		00-13-00-0000 01 EXP DATE:			J9683 AA	19	07	ì	1.00	5,615.00	24.00		134,760			
		00-13-00-0000 01 EXP DATE:			J9698 AA	26	07	1	.96	7,903.00	23.00		181,769			
		00-23-00-0000 01 EXP DATE:			J9683 AA	19	05	1	1.00	5,092.00	24.00		122,208			
			202					40	37.96		911.00		5,298,473			
								40	37.96		911.00		5,298,473			
								170	143.84		3440.96	8,425,800	5,349,525			
												-//				

		PPDPLWSBUD			DEPT. (OF ADM	IN. SVCS.	PPDB PI	ICS SYSTEM				PAGE	
SENCY: 1	19800 JUDICI	NG BY SUMMARY AL DEPARTMENT -00 202 eCourt									PICS SYSTEM:	2013-15 BUDGET PF	PROD	FIL
			-											
OSITION			F POS		S	POS		BUDGET		GF	OF	FF	LF	TR
		ORG STRUC		CLASS COMP	RNG P		FTE	RATE	MOS	SAL	SAL	SAL	SAL	K
						170	143.84		3440.96	8,425,800	5,349,525			